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B.Com. (Semester - 1) (Old) (CBCS) Examination: March/April — 2025
English (Comp.)
LITERARY VOYAGE (BCOMO0101)

Day & Date: Monday, 27-05-2025 Max. Marks: 40
Time: 09:00 AM To 11:00 AM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Rewrite the following sentences choosing the correct alternative. 08
1)  Where did Gandhiji meet his missionary friend?
a) Orissa b) Vellore
c) Anji d) Puri
2) What did the grandmother usually read?
a) Scriptures b) Books
c) Newspapers d) Magazines
3) How long did the author go abroad for the study?
a) sixyears b) two years
c) fouryears d) five years

4)  What does the poet desire not to be sheltered from?
a) Battles b) dangers
c) love d) compassion

5)  Who sung praises for the flowers?

a) Bards b) Oracle
c) Saints d) Poets
6) What kind of coins did the father discover?
a) Copper b) Gold
c) Silver d) Diamond
7) lthink it is highly (moral) to back stab our friends.
a) nonmoral b) domoral
c) amoral d) premoral
8) Ilhadno of going to see him.
a) intention b) intended
c) intending d) intend
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Q.2 Write short answer to the following questions. (Any Four) 12
1) What is the most deep-seated disease in India?
2) Why did the author live with his grandfather?
3) How would you describe the character of the grandmother?
4) What is the theme of the poem, ‘Let Me Not Pray to be Sheltered from
Dangers’?
5) Why did the poet focus on the Lotus flower in the poem?
6) What is the significance of the toys in the poem?

Q.3 Answer any one of the following. 10
1) What is communication? Describe the process of communication.
OR
2) What are the principles of effective communication? Explain.

Q.4 What is an interpersonal skill? Explain different manifestations of 10
interpersonal skills.
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B.Com. (Semester - 1) (Old) (CBCS) Examination: March/April - 2025
Principles of Business Management (Paper — 1) (BCOM0104)

Day & Date: Thursday, 29-05-2025 Max. Marks: 40
Time: 09:00 AM To 11:00 AM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Choose the correct alternatives from the options. 08
1) Process is included in Business.
a) Production b) Exchange
c) Both d) None of these or Both
2) Agricultureis __ type of Business.
a) Construction b) Production
c) Primary d) Extraction

3) The functional areas of Management can be divided into

a) Two Parts b) Three Parts
c) Four Parts d) Five Parts
4) Workers are included in level of Management.
a) Top level Management b) Middle level Management

c) Lower level Management d) None of above

5) is the most important function of top level management.
a) To plan the routine work
b) To submit the Report
c) To determine the objectives
d) To train the workers

6) The social responsibility of the Business towards the Government
IS :
a) To earn profit
b) To find new markets
c) To strive for the development of the society
d) To pay regular taxes

7) The concept of core competency was forwarded by

a) C.K. Pralhad b) Henry Fayol
c) Peter Drucker d) F.W. Tylor
8) Planning is the process of management.
a) Fundamental b) Important
c) Basic d) Mandatory
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Q.2

Q.3

Q.4

B) Explain the following concept.
1) State the Significance of Management
2) Management as a Profession

Write Short Answers. (Any Two)
a) Top level Management

b) Note on core competency

c) Process of planning

Answer the following question.
State the various steps in Decision process?

Attempt any one of the following questions.
a) What do you mean by organizing? State the significance of
organizing?
OR
b) Define planning? State its features.
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B.Com. (Semester - 1) (Old) (CBCS) Examination: March/April - 2025
Financial Accounting P- 1 (BCOMO0102)

Day & Date: Tuesday, 03-June-2025 Max. Marks: 40
Time: 09:00 AM To 11:00 AM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of Calculator is allowed

Q.1 A) Choosethe correct alternative from given alternatives. 08
1) In , first Co-operative Societies Act was passed in India.
a) 2001 b) 1950
c) 1904 d 1935

2) Goodwill is to be valued when
a) amalgamation takes place
b) a new partner admitted
c) sale of business
d) all of the above

3) shows financial position of a business on a particular day.
a) Trading A/c b) Profit & Loss Alc
c) Income & Expenditure A/c d) Balance Sheet
4) Goodwill is
a) an intangible asset b) investments
C) current asset d) current liability
5) Accounting is commonly referred to as of business.
a) ratio b) language
c) profit d) loss
6) Credit balance of Realisation Account shows
a) Profit b) Loss
c) Receipts d) Payments

7) Price payable to partnership firm for purchase of its business is called

as :
a) Cash Price b) Discount Price
c) Purchase Consideration d) All of the above

8) According to concept accounting record only monetary
transactions.
a) Entity b) Money Measurement
c) Going Concern d) Realisation
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Q.3
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B) Explain the following concepts.
1) Entity Concept
2) Dual Aspect Concept

Answer the following. (Any Two)

a) Need for Valuation of Goodwill

b) Purchase Consideration

c) From the following information calculate value of Goodwill by four
years purchase of Super Profit
Average capital employed Rs. 600000
Net Profits of the business for last four years were Rs. 80000, Rs.
85000, Rs. 75000 and Rs. 90000.
Expected rate of interest on capital employed is 10%

Madan and Mohan are partners sharing profits and losses as 2:1, decided

to convert their business into a limited company named as India Company

Ltd. on 315t March 2021, when their Balance Sheet was as under
Balance Sheet as on 315t March 2020

Liabilities Rs Assets Rs

Capital Land & Building 65000
Madan 120000 Plant & Machinery 78000
Mohan 60000 180000 Debtors 70000
Reserve Fund 24000 Stock 25000
Creditors 40000 Bills Receivables 8000
Bills Payable 16000 Cash 14000

260000 260000

India Company Ltd; agreed to take over all the assets and liabilities at the
values stated below-

Land & Building Rs. 75000, Plant & Machinery Rs. 65000, Stock
Rs. 18000, Bills Receivables at book value, Debtors subject to provision
for doubtful debts at 10% and Creditor at a discount of 5%.

India Company Ltd; issued 12000 equity shares of Rs. 10 each at
Rs. 15 per share and the balance of purchase price is paid in cash.
Prepare necessary ledger accounts to close the books of the firm.

Page 2 of 3

04

06

10



Q.4 Answer the following. (Any One)

Following is the Trail Balance of Aakash Consumers Co-operative
Society, Pune for the year ended 315t March 2021.

Trail Balance

A)

SLR-XA-3

Particulars Dr. Rs. Cr. Rs.
Opening stock 215000 --
Furniture 60000 --
Debtors 40000 --
Salaries 100000 --
Wages 40000 --
Rent and Taxes 25000 --
Postage 12500 --
Printing and Stationery 11000 --
Audit Fees 15000 --
Equipments 100000 -
Purchases 1825000 --
Investment 400000 --
Cash in Hand 35000 --
Cash at Bank 150000 --
Creditors -- 30000
Commission Payable -- 15000
Education Fund -- 10000
Share Capital -- | 200000
Reserve Fund -- 20000
Sales -- | 2650000
Interest on Investment -- 18000
Profit & Loss Appropriation A/c -- 85500
3028500 | 3028500

Additional Information:
i) Closing Stock of consumer goods on 315t March 2021 is Rs
i) Outstanding expenses on 315 March 2021 were Salaries Rs. 10000

and Rent Rs. 5000.

iii) Provide depreciation on Furniture @ 10%.

Prepare Trading Account, Profit & Loss Account for the year ended 31
March 2021 and a Balance Sheet as on that date.

12

. 275000.

B) What is Goodwill? Explain the different methods of Goodwill.
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B. Com. (Semester - 1) (Old) (CBCS) Examination: March/April-2025
Urdu Prose & Poetry (BCOMO0108)

Day & Date: Thursday, 05-06-2025 Max. Marks: 40
Time: 09:00 AM To 11:00 AM

Instructions: 1) All questions are compulsory.
2) Figures to the left indicate full marks.
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B.Com. (Semester - 1) (Old) (CBCS) Examination: March/April - 2025
Principles of Marketing (BCOMO0105)

Day & Date: Thursday, 05-June-2025 Max. Marks: 40

Tim

e: 09:00 AM To 11:00 AM

Instructions: 1) All questions are compulsory.

Q.1

2) Figures to the right indicate full marks.

A) Choose the correct alternatives from the options. 08

1) "Marketing is creation and delivery of standard of living to society."
a) Malcum McNair b) Converse, Hugey and Mitchell
c) Institute of Marketing d) Touesly, Clark and Clark

2) Theterm refers not a place but a commodity or commodities
and buyers and sellers who are in direct competition with one another.
a) Product b) Market
c) Distribution d) Service

3) Money market is known as market.
a) Wholesale b) Securities
c) Commodity d) Capital

4) _ is the value of product or service to customer into quantitative
term.
a) Price b) Product
c) Promotion d) Profit

5) s sub-dividing the market in to homogeneous sub-sets of
Customers.
a) Specialisation b) Market segmentation
c) Departmentation d) Standardisation

6) When the brandname is legally protected it becomes

a) Product name b) Outdated
c) Trademark d) None

7) is the graphic portrayal of the sales history of product from
the time it is introduced to the time it is withdrawn from the market.
a) Demand Cycle b) Product Life Cycle
c) Trade Cycle d) Price Cycle

8) is the part of economics, which is concerned with creation
of place, time and possession utilities
a) Planning b) Production
c) Marketing d) Financing
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Explain the following concept. 04
a) Stage of Barter
b) Global or World market

Write Short Notes. (Any Two) 06
a) Types of market on dominance basis.

b) Functions of packaging.

¢) Pricing methods

Answer the following question. 10
Explain functions of marketing.

Attempt any one of the following questions. 12
a) What is 'Market Segmentation'? State the different bases for market
segmentation.
OR

b) Whatis 'Marketing'? State the importance of marketing.
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B.Com. (Semester - 1) (Old) (CBCS) Examination: March/April - 2025
Business Micro Economics (Paper — 1) (BCOMO0103)

Day & Date: Monday, 09-06-2025 Max. Marks: 40
Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choose the correct alternatives. 08
1) Perfect inelastic demand curve is always parallel to
a) ‘X axis b) ‘Y’ axis
c) Origin d) None of these
2) Price income line is also called as .
a) Demand Line b) Supply Line
c) Budget Line d) None of these
3) introduces Law of Demand.
a) Dr. Marshall b) Keynes
c) Adam Smith d) Ricardo
4) In free market economy demand and is adjusted by price
mechanism.
a) Government b) Producer
c) Supply d) None of these
5) published ‘Marginal Economics’ books in the year 1951.
a) Marshall b) Edgewarth
c) Gadgil d) Joel Dean
6) The concept of elasticity of demand is related to
a) Adam Smith b) J.B. Say
c) Keynes d) Dr. Marshall
7) Indifference curves are to the origin.
a) Concave b) Convex
c) Parallel d) None of these
8) Infree market economy s the king.
a) Producer b) Seller
c) Consumer d) Allthe above
B) Explain the following concepts 04

1) Income elasticity of demand
2) Demand forecasting
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Q.3

Q4
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Write short note /short answer.(Any Two) 06
a) Free market economy
b) Nature of Business economics
c) Price income line

Long answer. 10
Explain the features of indifference curve.

Answer any one of the following. 12
a) Explain the difference between Economics and business economics.

OR
b) Explain the types of elasticity of demand.
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B.Com. (Semester - 1) (Old) (CBCS) Examination: March/April - 2025
Business Mathematics Paper-l (BCOMO0110)

Day & Date: Monday, 09-June-2025 Max. Marks: 40
Time: 09:00 AM To 11:00 AM

Instructions: 1) All questions are compulsory.
2) Figure to right indicate full marks.
3) Use of soundless calculators is allowed.

Q.1 A) Choose the correct alternatives form the given alternatives. 08
1) The order of square matrix is
a) mxn b) 1Xxn
C) nxXn d nxm

2) find the simple interest if the principal amount is 50000 and the
rate is 2% for 4 years.

a) 4000 b) 400
c) 40 d) 40000
3) The sumof 50 + 100 + 150 + 200 + ........ + 1000 is :
a) 10000 b) 10500
c) 12100 d) 14400

4) The linear function of the variables which is to be maximize or
minimize is called

a) Constraints b)  Objective function
c) Decision variable d) None of the above
1 1 1
5) The value of Determinant [x ¥y 2z
X3 y3 Z3
a) 0 b) 1
c) x3y3z3 d) xyz

6) A sequence in which the difference between any term and its
preceding term is constant in called as\an

a) Arithmetic progression b)  Geometric progression
c) Harmonic progression d) Geometric mean
7) Which of the following conditions holds true for a symmetric matrix?
a) A=-A by A=A4
c) A=1IA d) A=|A]
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8) The objective function of a linear programming problem is
a) a constraint
b) function to be optimized
c) A relation between the variables
d) None of these

Explain the following concepts. 04
1) Define Identity Matrix and Row matrix.
2) Define Arithmetic progression and Geometric Progression.

Q.2 Attempt the following problem. (Any Two) 06

a)

A sum of the money invested at a certain rate of interest doubles itself
in 10 years Find the rate of interest.

b) The sum of the n terms of a G.P. with common ratio 2 is 255. If its last
term is 128 find n.
c) _[2 01,_1[0 5]«
If A = [1 O]B = [0 2],flnd AB and BA.
Q.3 Attempt the following. 10
a) Solve the following L.P.P. by graphical method
Minimum Z = 3x; + 4x,
subject to the constraints:
10x; + 3x, = 15
2x, + 5x, = 10
4x, + 3x, = 12
and x;,x, = 0
Q.4 Answer the following. (Any One) 12
a) Solve the equations by using Cramer’s rule.

3x+3y—z=11
2x—y+2z=9
4x + 3y + 2z =25

b) Find the inverse of the following matrix.

2 31
1 2 3
3 1 2
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Seat

No.

Day & Date: Monday, 09-June-2025

Set| P

B.Com. (Semester - 1) (Old) (CBCS) Examination: March/April - 2025

Insurance Paper -1 (BCOM0111)

Time: 09:00 AM To 11:00 AM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Max. Marks: 40

Q.1 A) Choose the correct alternatives from the options. 08
1) A tool which shares loss of few persons into many persons is
known as
a) Cooperation b) Business
c) Corporate d) Insurance
2) According to the insurance contract, Insured transfers the to the
insurer.
a) Guarantee b) Responsibility
c) Risk d) Authority
3) insurance is only useful for providing death benefits to the
insured.
a) Group b) Whole life
c) Unit Linked d) None of these
4) are the guidelines for insurance agents.
a) Discharge Form b) Proposal Form
c) Code of Conduct d) Insurance Contract
5) The license of the insurance agent is granted for years.
a) 02 b) 03
c) 04 d) 05
6) In___life policy, premium is payable for specific Period.
a) Ordinary whole b) Whole
c) Endowment d) None of these
7) ___ insurance policy is not useful for saving purposes.
a) Endowment b) Unit linked
c) Term d) None of these
8) If several persons are insured under a single insurance policy,
then it is called insurance.
a) Term b) Group
c) Whole life d) None of these
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Explain the following concept. 04
a) Reinsurance
b) Group Insurance

Write Short Notes. (Any Two) 06
a) History of Insurance

b) Features of Group Insurance

c¢) Challenges Before Insurance Agent

Answer the following question. 10
Explain the procedure of becoming an insurance agent.

Attempt any one of the following questions. 12
a) Define insurance and explain the Secondary principles of insurance.
OR

b) Define whole Life Policy and Explain the Types of Whole Life Policy.
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Seat
No.

Set | P

B.Com. (Semester - 1) (Old) (CBCS) Examination: March/April - 2025
Geography (Commercial & Marketing)
Commercial Geography - Paper -1 (BCOM0112)

Day & Date: Monday, 09-June-2025 Max. Marks: 40
Time: 09:00 AM To 11:00 AM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Neat diagrams and maps should be drawn wherever necessary.
4)

The use of maps stencils is allowed.

Q.1 A) Choose the correct alternatives from the options. 08
1) Commercial Geography is a sub branch of Geography.
a) Economic b) Political
c) Cultural d) Physical
2) is a quaternary type of economic activity.
a) Transportation b) Scientist
c) Trade d) Agriculture
3) Tertiary sector is also called
a) Service Sector b) Manufacturing Sector
c) Public Sector d) Education Sector

4) Man satisfies his needs with things are known as

a) Mineral b) Wealth
c) Source d) Resource
5) Wind Energy is a type of resource.
a) Renewable b) Non Renewable
c) Exhaustible d) Local
6) The EEC organization established in Year.
a) 1955 b) 1966
c) 1957 d) 1958
7) is the father of the concept of conservation of resources.
a) Huntington b) Mackinder
c) Roosevelt d) Alexzander
8) is the headquarter of the OPEC.
a) New York b) Delhi
c) Geneva d) Vienna
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B) Explain the following concepts 04
1) Globalization
2) Conservation of resources

Q.2 Write Short Note /Short Answer/Short Problem. (Any Two) 06
a) Solar Energy
b) UNCTAD

c) Write significance of Commercial Geography.

Q.3 Answer the following questions. 10
Explain the Classification of Resources.

Q.4 Answer any one of the following. 12

a) Explain the different types of Economic Activities.
b) Explain the nature and scope of Commercial geography.
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No.

Set| P

B.Com. (Semester - 1) (New) (CBCS) Examination: March/April - 2025

Business Micro Economics - [ (BCOMO0203)

Day & Date: Saturday, 03-May-2025 Total Marks: 40
Time: 09:00 AM To 11:00 AM

Instructions: 1) All questions are compulsory.

Q.1 A)

1)

2)

3)

4)

5)

6)

7)

8)

2) Figures to the right indicate full marks.

Choose the correct option and rewrite the following sentences. 08
In Traditional View, the shape of short run Fixed Cost Curve is

a) U Shape

b) L Shape

c) Parallel Shape with X axis

d) Saucer Shape

Functional relationship between input & output means

a) Law of Demand b)  Production Function
c) Supply d) Production
In the perfect competition market the Seller are
a) Price Taker b)  Observer
c) Price Maker d) None of the above

number of seller in Monopoly Market.

a) Large b) Unlimited

c) Two d) None of the above
Production means creation of :

a) Utility b) Demand

c) Supply d) None of the above
Break-Even Point is also called as point.

a) No profit no loss b) buyer

c) Seller d) All the Above

introduced the concept of Monopolistic Competition.
a) Dr. Marshall b) Adam Smith
c) Keynes d) None of the above

Break - Even point Analysis is useful in :
a) Short period b) Long period
c) Constant period d) None of the Above
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Q.2

Q.3

Q.4

B) Explain the following concepts.

1) What is Explicit cost?
2) What is a product differentiation?

Write short note (any two)

1) Variable cost

2) Selling cost

3) Internal & External Economies

Long Answer Question.

Explain the characteristics of monopolistic market.

Long Answer Question (Any One)

SLR-XA-13

04

06

10

12

1) What is Break - Even point? Explain the determination of break-even

point.

2) Explain the Law of returns to scale.
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Seat

No. Set| P

B.Com. (Semester - 1) (New) (CBCS) Examination: March/April — 2025
Principles of Business Management (BCOM0204)

Day & Date: Wednesday, 14-May-2025 Max. Marks: 40
Time: 09:00 AM To 11:00 AM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choose the correct alternatives from the options. 08
1) is the process of stimulating people to action to accomplish
desired goals.
a) Leadership b) Motivation
c) Controlling d) Planning
2) Leadershipis a process.
a) Mental b) Physical
c) Intellectual d) Financial
3) The concept of 'Work from home' was first used in the year
a) 1973 b) 1983
c) 1990 d) 2020
4)  Planning and are complementary functions.
a) Organization b) Leadership
c) Controlling d) Motivation

5) PERT technique is started in America in the year

a) 2000 b) 1900
c) 1960 d) 1958
6) are economic inducement.
a) Service Training b) Security in service
c) Education facility d) Bonus
7) Inthe 1920s, the German sociologist proposed three sources of
authority done.
a) Max Weber b) Louis Allen
c) George Terry d) Chester Burnad
8) is a technique of control.
a) Quality b) Organization
c) Budget d) Motivation
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Q.2

Q.3

Q.4

Q.5

Explain the following concepts.

a) Management of Change
b) Functions of Controlling

Write short notes. (Any Two)
a) Features of Motivation

b) Autocratic Leadership

c) Quality Control

Long Answer.

SLR-XA-14

04

06

10

What is Management of Change? Explain the needs of Change.

Answer the following. (Any One)

12

a) What is the Managerial of Control? Explain the techniques of

Managerial of Control.

b) What is Motivation? Explain financial and non financial factors of

motivation.
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Seat

No. Set| P

B.Com. (Semester - 1) (New) (CBCS) : Examination March/April - 2025
Financial Accounting P - Il (BCOM0202)

Day & Date: Friday, 16-May-2025 Max. Marks: 40
Time: 09:00 AM To 11:00 AM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Multiple Choice Questions: 08
1) Closing balance of Cash Account always appears at side of
Cash Account.
a) Credit b) Debit
c) Either Debit or Credit d) Neither Debit or Credit
2) Closing balance of Bank Account always appears at side of
Bank Account.
a) Credit b) Debit
c) Bothaé&hb d) Neither Debit or Credit
3) Consignee gets _ after completion of task of sales.
a) Ordinary commission b) Special commission

c) Del Credere Commission d) Anyofa,bandc

4) accounting is a double-entry bookkeeping technique which is
used by a business or organization to maintain separate accounts for
each operating location or branch.

a) Branch b) Department
c) Head office d) Sub office
5) accounting system is scientific one.
a) Journal b) Double Entry
c) Department d) Single Entry
6) Rent of business organization is divided into ratio while preparing
departmental accounts.
a) Area b) Number of Employees
c) Interest d) None of the above
7)  On purchase of computer for use of business account will be
debited.
a) Computer b) Cash
c) Bank d) Bothb&c

8) When a proprietor maintains his accounts by giving a single effect to
each transaction than that system will be treated as .
a) Single b) Double
c) Eitheraorb d) Bothaandb

Page1of4



Q.2

Q.3

SLR-XA-15

B) Explain the following concepts: 04
a) Consignment Business System
b) Single Entry System

Write short answers. (Any Two) 06
a) From the following information prepare Trading A/c and Find Gross
Profit/Loss.

Stock as on 15t April 2022 — Rs. 14,0000/-

Purchase during the year financial year 2022-23 — Rs.64,000/-
Credit Sales during the year financial year 2022-23 — Rs.12,000/-
Cash Sales during the year financial year 2022-23 — Rs.12,000/-
Stock as on 315t March 2023 — Rs. 2,500/-

b) From the following particulars, calculate del credere commission to be
given by consigner to consignee.
Cash sales made by consignee — Rs. 5,00,000/-
Credit sales made by consignee — Rs. 5,00,000/-
Rate of Ordinary Commission — 7.5%
Rate of Del Credere Commission — 9.5%

c) From the following details find out the closing balance of proprietor’s
capital account.
Opening Balance of Capital Account — Rs. 5,30,000/-
Drawings made by proprietor during the year — Rs. 30,000/-
Additional Capital Introduced by proprietor — Rs. 30,000/-
Net Profit during the year 2022-23 — Rs. 70,000/-
Interest on Drawings — Rs. 35,000/-
Interest on Capital — Rs. 35,000/-

Long Answers/Problem: 10
From the following financial statement prepare Departmental Trading and
Profit and Loss Account for the year ended 315t March 2023.
Profit and Loss Account
For the year ended 315 March 2023

Dr Cr
Particulars Amt. Rs. Particulars Amt. Rs.
To Salary 30,000 By Gross Profit 1,00,00,000
To Depreciation 40,000 By Other Income 2,00,000
To Printing and Stationery 50,000
To Rent 60,000
To Repair and 70,000
To Electricity Expenses 80,000
To Fuel Expenses 90,000
To Advertisement 1,00,000
To Net Profit 6,80,000
12,00,000 12,00,000
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Additional Information:

1) There are two departments in business called Department A and
Department B.

2) Gross Profit is to be distributed in Department A and B equally.

3) Other Income is to be distributed by 60% to Department A.

4) There are 6 workers working in Department A and 8 workers in
Department B.

5) Fixed assets are used by both departments equally.

6) Printing, Repairs, and fuel expenses are born by Department B only.

7) Business is working in 500 Sg. Ft and department A is utilizing 300
Sq. Ft.

8) Electricity Expenses is to be distributed in 1:1 Ratio.

9) Advertisement is made for Department A only.

Q.4 Answer the following: (Any One) (Long Answer/Problem) 12
A) Mr. Ganesh does not maintain his books on double entry system
from the following particulars prepare profit and loss account and
Balance Sheet as on 31st March 2023.

Stock 19,800 1,13,200
Creditors 31,000 14,500
Debtors 1,18,000 1,25,000
Premises 90,000 90,000
Furniture 11,000 11,500
Air Conditioner 15,000 15,000

Creditors as at 31/03/2022 includes Rs. 15000 for purchase of Air
Conditioner

Bad Debts Written off Rs. 1200
Cash Transaction during the financial year

Cash as at 01/04/2022 15,000
Collection from Customers 1,60,800
Payment to Trade Creditors 1,44,000
Rent, Rates and Taxes 11,500
Salaries 1,12,000
Sundry Expenses 18,000
Sundry Income 16,500
Drawings by Mr Ganesh 30,000
Loan from Mrs. Ganesh 23,000
Capital Introduced 12,000
Cash Sales 11,500
Cash Purchases 15,000
Paid to Creditors for Air Conditioner 15,000
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A head office in Delhi sends goods to its branch at New Delhi marked
25% above cost. From the following particulars, show how the

Branch Account will appear in Head Office Books.

Stock on 01/04/2022 at Branch Rs. 14,000
Petty Cash on 01/04/2022 Rs. 200/-
Goods supplied to branch at invoice price Rs. 1,60,000/-
Remittances from Branch:

Cash Credit Rs.1,60,000/-
Cheques sent to Branch for:

Salary Rs. 4,800/-
Rent and Taxes Rs. 2,000/-
Cheques Sent for Petty Expenses Rs. 400/-
Goods Returned to Head Office Rs. 4,000/-
Stock on 315t March 2023 Rs. 30,000/-
Petty Cash on 315t March 2023 Rs. 350/-
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B.Com. (Semester - 1) (New) (CBCS) : Examination March/April - 2025
Business Mathematics (BCOMO0210)

Day & Date: Monday, 19-May-2025 Max. Marks: 40
Time: 09:00 AM To 11:00 AM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw neat labelled diagrams wherever necessary.
4) Use of log table and calculators is allowed.

Q.1 A) Multiple Choice question. 08
1) Consumer surplus is
a) foxopdx—poxo b) 10 — 2x
c) Zero d) None of the above

. da .
2) In decrease function ﬁ is

a) Zero b) Positive
c) Negative d) None of the above

3) If f(—x) = f(x) than f(x) is called .
a) Even function b) Odd function
c) Inverse function d) None of the above

4) Find the [x™dx is :

a) xn+1 b) xn
n+1
c) nx"1 d) n*

5) Profit function is denoted as

a) Cx)=Fx)+V() b) Px)=0

c) P(x) =R(x)—G(x) d) None of the above
6) The differentiation of constant function % =

a) 1 b) Zero

c) C d) None of the above
7) If y = x?is a function and the x value is [2.4], calculate y value

a) [1.6] b) [2.4]

c) [4.16] d) [5.10]
8) fex dx =

a) a® b) xloge

Cc) e* d «x
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Q.4

SLR-XA-16

B) Explain the following concepts.
1) Explain Even and odd function.
2) Explain Inverse function.

Write short problem. (Any Two)

2 _
a)  Evaluate lim [~ 1]

x—o00 L 5x3+7

b) Ifx = 5y2 + 7y + 9 than find =

C) Using definition of integration prove the following [ a* dx = lfga

Solve the Problem.
Find the minima and maxima for the function y = x3 — 6x2 + 9x — 30

Answer any one of the following.
A) If f'(x) =3x?>+2x+k and f(0) = 1.f(1) = 4, Find k and f(x).

B) Ify=u+v whereu = f(x) and v = g(x) then prove that
dy _du  dv

dx dx dx
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Seat
No. Set | P

B.Com. (Semester - 1) (New) (CBCS) Examination: March/April — 2025
Insurance (BCOMO0211)

Day & Date: Monday, 19-May-2025 Max. Marks: 40
Time: 09:00 AM To 11:00 AM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Choose the correct alternatives from the options. 08
1) Aninsurance contract ends when amount is paid.
a) Loan b) Human Life Value
c) Economic Value d) Claim
2) IRDA act was passed in the year :
a) 1956 b) 2000
c) 1965 d) 1999
3) The fire insurance policy is for a period of year.
a 1 b) 2
c) 3 d 4

4) Same property is insured with more than one company then
principle is applied.
a) Contribution b) Indemnity
c) Insurable Interest d) Almost Good Faith

5) LIC was established in

a) 1965 b) 1973
c) 1956 d) 1972

6) Government of India, introduced crop insurance scheme in the
year
a) 1965 b) 1975
c) 1985 d) 1956

7) In the history of insurance is the oldest type of insurance.
a) Marine b) Fire
c) Life d) Accident

8) In insurance reimbursement of hospital expenses are made.
a) Health b) Life
c) Group d) Whole Life

B) Explain the following concept. 04

1) Motor Insurance.
2) Principle of Contribution.
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Q.2

Q.3
Q.4

Write Short Notes. (Any Two)
a) Features of Fire Insurance.
b) Marine Perils.

c) Functions of General Insurance Corporation of India.

Explain the Procedure of taking Fire Insurance.

Attempt any one of the following questions.
a) Explain the Clauses of Marine Insurance.
OR
b) Explain the Objectives and Functions of IRDA.
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Seat

No. Set | P

B.Com. (Semester - 1) (New) (CBCS) Examination: March/April — 2025
Economic Commercial Geography
Marketing Geography (BCOM0212)

Day & Date: Monday, 19-May-2025 Max. Marks: 40
Time: 09:00 AM To 11:00 AM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Neat diagrams and maps should be drawn wherever necessary.
4) The use of maps stencils is allowed.

Q.1 A) Choose the correct alternatives from the options. 08
1) Geography is the study of human exchange of goods and
services.
a) Marketing b) Financial
c) Human d) Political

2) Modern marketing is
a) Consumer oriented b) Commodity oriented
c) Money oriented d) None of these

3) District market is an example of

a) Local Markets b) Regional Market
c) National Market d) International Market
4) In market the buyers and sellers are limited.
a) Local Markets b) Regional Market
c) National Market d) International Market
5) type of transportation is cheapest.
a) Airway b) Waterway
c) Roadway d) Railway
6) is one of the advantages of rail transportation.
a) High Speed over Long b) High Speed
Distances
c) time consuming d) Monopoly
7) Shirﬁla tourist place is famous for
a) Hot place b) Desert place
c) Cold place d) None of these
8) is a one of the following scope of marketing Geography?
a) Employment b) Poverty
c) Poor d) Classification of market
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Q.2

Q.3
Q.4

SLR-XA-18

B) Explain the following concept.
1) Marketing Geography
2) Tourism

Write Short Notes. (Any Two)
a) Tourism in modern period in India.

b) Merits and demerits of rail routes.
c) Importance of Marketing Geography.

Explain the nature and scope of Marketing Geography.

Attempt any one of the following questions.

a) Explain the different Geographical factors affecting Market system.

OR
b) Explain the Air transportation in the world.
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B. Com. (Semester - 1) (New) (CBCS) Examination: March/April — 2025
English (Comp.)
Communication Skill (BCOM0201)

Day & Date: Wednesday, 21-05-2025 Max. Marks: 40
Time: 09:00 AM To 11:00 AM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choose the correct alternatives from the options. 08
1) What was the author reading?
a) Novels b) Autobiography
c) Biography d) Poetry
2) What plays a huge role and affects an entire country?
a) Intrigue b) Monarchy
c) Hope d) Calumny
3) Who has lynched the lake?
a) The poet b) Factories
c) Vehicles d) Humans
4) How old is Pope believed to be when he wrote “Ode on Solitude™?
a) 11 b) 12
c) 13 d 14
5) What kind of place is the poet going to?
a) Loud b) Market
c) Public d) Silent
6) The antonym to the word ‘foolish’ is
a) stupid b) wise
c) clever d) courageous
7) The synonym to the word ‘cool’ is
a) hot b) composed
c) chilly d) temperate
8) The mechanic the car. (Use past tense from the given alternatives)
a) repair b) repairing
C) repairs d) repaired
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Q.2 Answer the following questions in brief. (Any four) 12
1) What opinion does the author have of his teacher?
2) What is the relation between education and virtue?
3) What is the true sense of freedom?
4) What is the theme of the poem Our Earth will Not Die?
5) Describe the life of an ideal man in the poem, Ode on Solitude.
6) Explain the title of the poem Remember.

Q.3 Answer the following question in brief. (Any One) 10
a) Write a letter of an application for the post of English teacher to The
Secretary, RayatShikshan Sanstha, Satara. You have seen an
advertisement in the daily newspaper Sakal dated 20 February 2024.
Imagine qualifications and other related things for writing the application.

b) You have purchased a mobile handset in the last week. You found it
faulty after a week. Write a letter of complaint to the dealer. Imagine
an address of the dealer, fault of the mobile and other related issues
while writing the letter.

Q.4 Describe the qualities of a good listener. 10
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No. Set| P

B. Com. (Semester -ll) (New) (CBCS) Examination: March/April-2025
URDU
Urdu Prose & Poetry (BCOMO0208)

Day & Date: Friday, 23-05-2025
Time: 09:00 AM To 11:00 AM

Instructions: 1) All questions are compulsory.
2) Figures to the left indicate full marks.

Max. Marks: 40
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Set | P

B.Com. (Semester - 1) (New) (CBCS) Examination: March/April — 2025

Principles of Marketing (BCOMO0205)

Day & Date: Friday, 23-05-2025 Max. Marks: 40
Time: 09:00 AM To 11:00 AM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 Choose the correct alternatives from the options. 08
1) is the first step in the process of marketing research.
a) Follow-up b) Setting-up objectives
c) Collecting of data d) Analysis of data

2)

3)

4)

5)

6)

7)

8)

is the process where by individual decides what, when, how and from
whom to purchase goods or services.
a) Social Behaviour b) Religious Behaviour
c) Consumer Behaviour d) Political Behaviour

The study of consumer behaviour helps the marketer to decide

policy.
a) Distribution b) Sales
c) Buying d) Promotion

Is systematic attempt to get information useful in solving
marketing problems.

a) Sales Research b) Product Research

c) Marketing Research d) Customer Research
Creating things with the environment in mind is

a) Rural marketing b) E-marketing

c) Green marketing d) Global marketing
The term 'Green Marketing' originated in the decade.

a) 1980 b) 2000

c) 1990 d) 2010

SEO étands for .
a) Search engine optimization b) Search engine office

c) Search engine order d) None of the above
YouTube marketing is a type of marketing.

a) Traditional b) Viral

c) Digital d) None of the above
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Q.2

Q.3

Q.4

Q.5

Explain the following concept.

a)
b)

Consumer Behaviour
Traditional Marketing

Write Short Notes. (Any Two)

a)
b)
c)

Digital Marketing.
Benefits of MIS
Objectives of Green Marketing.

Answer the following question.
Explain concepts of customer relation management and its importance.

Attempt any one of the following questions.

a)

b)

Explain factors affecting Consumer Behaviour.
OR
Explain importance of Green Marketing.
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Seat

No. Set| P

B.Com. (Semester - 1ll) (New) (CBCS) Examination: March/April - 2025
Fundamentals of Entrepreneurship (Paper - 1) (BCOMO0302)

Day & Date: Tuesday, 27-05-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figure to right indicate full marks.

Q.1 A) Choose the correct option from the given options. 08
1) A person who accepts and takes decisions in uncertain
situations is called an entrepreneur.
a) Risk b) Right
c) Profit d) Loss
2) The researcher should be attitude a
a) Researcher b)  Sixth
c) Risk taking d) All of the above
3) The theory of innovation was propounded by
a) Schumpeter b) McClelland
c) Webster d) None of the above
4) Accomplishment motivation is the factor.
a) Psychological b) Social
c) Political d) None of the above
5) The start up has started in the country of
a) America b) Israel
c) India d) None of the above
6) In Start Up India, loans are given up to of the total project.
a) 50% b) 75 percent
c) One hundred percent d) None of the above

7) Mudra Company is a subsidiary company of

a) SBI b) SIDBI
c) RBI d) IDBI

8) is required for Enterprise Aadhaar registration.
a) PAN b) Aadhaar card
c) Credit card d) ATM card
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B) Explain the following concepts. 04
1) Importance of project report
2) Incubation Center

Q.2 Write the answers to the following questions in brief. (Any two) 06
a) Explain the importance of Mudra Yojana.
b) State the stages of startup.
c) Joseph Computer's Theory of Innovation.

Q.3 What is Entrepreneurship Development? Explain the need for 10
Entrepreneurship Development.

Q.4 Write answer for any one. 12
a) State the factors that encourage entrepreneurship.
b) Explain the function of an entrepreneur.
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Seat
No. Set| P

B.Com. (Semester - 1ll) (New) (CBCS) Examination March/April - 2025
CORPORATE ACCOUNTING - | (BCOMO0301)

Day & Date: Thursday, 29-May-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Attempt any Two from Q. 3A,Band C
4) Attempt any One from Q. 5 (A) and Q. 5 (B).
5) Use of calculator is allowed.

Q.1 Multiple choice question. 08
1) After reissue of all the forfeited shares balance of forfeited shares
alc is transferred to Account.
a) Profit and Loss b) Share Capital
c) Capital Reserve d) Share Premium

2) Expenses which are payable but not paid up to year end are

known as expenses.
a) Capital b) Revenue
c) Prepaid d) Outstanding

3) Total capital of the company is divided into units of small
denominations; each one is called a
a) Debentures b) Bonds
c) Share d) Creditors

4) AS - 21 relate to :
a) Depreciation accounting
b) Cash flow statements
c) Accounting for consolidated financial statements
d) Accounting for fixed assets

5) Advertisement are apportioned in Ratio.
a) Time b) Sales
c) Special d) Expenses
6) Loss prior to incorporation is debited to Account.
a) Goodwill b) Capital reserve
c) Both (a) and (b) d) P andL Appropriation

7) Excess application money refunded credited to
a) Bank Account b) Share Capital Account
c) Share Allotment Account d) Share Call Account
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8) relates to Accounting for Amalgamation.
a) AS3 b) AS6
c) AS10 d) AS14
Q.2 Explain the following Concepts 04

a) Over Subscription
b) Full Subscription

Q.3 Write Short Note/Short Answer/ Short Problem (Any Two) 06
a) ABC Ltd. was incorporated on 15t July 2022 to take over the running
business of M/s Sharma & Sons with effect from 15t April 2022. The
Accounts of the company were closed on 315 March 2023.

The Average Monthly sales during the first three months for the year
2022-23 was twice the average monthly sales during each of the
remaining nine months. Calculate Period Ratio and Sales Ratio for
pre and post incorporation period.

b) AS 10 - Property, Plant and Equipment
c) Types of Preference Shares

Q.4 Modem Ltd. took over a running business with effect from 15t April 2022. 10
The company was incorporated on 15t August 2022. The following
information for the year ended 315 March 2023 is given.

Particulars Rs.
Gross Profit 2,00,000
Total Revenue [A] 2,00,000
Less: Expenses:
Interest paid to vendors 15,000
Salaries 30,000
Sundry Office Expenses 3,000
Advertisement 12,000
Selling Expenses 8,000
Rent (for Office Buildings) 18,000
Directors Fees 5,000
Bad Debts 4,000
Commission to selling agent 16,000
Debenture interest 2,500
Total Expenses [B] 1,13,500
Net Profit [A - B] 86,500

Additional Information:

i) Purchase consideration was discharged by the company on 30™
September 2022.

i) Yearly sales record shows that the Sales from 15t April 2022 to 31t
July 2022 is Rs. 2, 00,000 and sales from 1t August 2022 to 31
March 2023 is Rs. 6, 00,000

Prepare Statement of Profit and Loss for pre and post incorporation
periods.
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Q.5 A) Following is the Trial Balance of ABC Ltd. for the year ended 31 12
March 2023.
Trial Balances as on 315t March 2023
Debit Balances Rs. Credit Balances Rs.
Inventory Equity Share Capital
. . 3,00000 | (Share of Rs. 100 15,00,000
(as on 15t April 2022) each)
Furniture 1,00000 | 10% Debentures 2,50,000
Discount 20,000 | Bank Loan (Long 3,00,000
Term)
Advertisement 15,000 | Trade Payables 1,00,000
Bad Debts 12,500 | Sales 22,50,000
Commission 50,000 | Rent Received 30,000
Purchases 12,00,000 (F;S;')tna;‘g kgﬁszO/gz) 1,00,000
Plant and Machinery 7,00,000
Freehold Land 13,00,000
Rent and Taxes paid 35,000
Cash 17,500
Bank Balance 40,000
Interest on Bank Loans 30,000
Salaries 3,00,000
Goodwill 1,25,000
Trade Receivables 2,25,000
Trade Expenses 35,000
Debenture Interest 25,000
45,30,000 45,30,000

B)

Additional Information

1) Closing Inventory on 315t March 2023 is Rs. 4,00,000
2) Depreciate Plant and Machinery at 10% and Furniture at 15%.
Prepare Statement of Profit and Loss for the year ended 315 March 2023

OR

Vijay Ltd. invited applications for 20,000 equity shares of Rs. 100

each, which are payable as
On Application
On Allotment
On First Call
On Final Call

Rs. 20,
Rs. 25,
Rs. 30 and
Rs. 25

The company received applications for 30,000 shares. The directors
accepted 20,000 applications and remaining were rejected. All sums
due were received except Mr. Anand, the holder of 200 shares, failed

to pay the Final Call and the directors, therefore, forfeited their

shares. The shares are reissued for Rs. 80 per share fully paid-up.

Journalise the transactions.
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Seat
No. Set | P

B.Com. (Semester - Ill) (New) (CBCS) Examination March/April — 2025
English (Comp) (BCOMO0305)

Day & Date: Tuesday, 03-06-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choose the correct alternatives from the options. 08
1) is the author of “A Wrong Man in Workers’ Paradise’.
a) Dilip Chitre b) A.P.J. Abdul Kalam
c) Rabindranath Tagore d) Premchand
2) lona Potapov appearsin
a) Misery b) Three Sisters
c) King Lear d) Daffodils

3)  “Orpheus and Eurydice’ is the story taken from
a) Myths and Legends of Greece and Rome
b) Indian Myth
c) American Myth
d) African Myth

4)  William Shakespeare dedicates his poem, “To Me, Fair Friend’ to

a) his dear friend b) his enemy
c) his master d) his beloved
5)  William Wordsworth describes colour of daffodils.
a) golden b) black
C) green d) pink
6) Sarojini Naidu describes youth as a
a) enemy b) sweet comrade
c) heaven d) None of the above

7)  Complete the following sentence by using proper Prefix. (Negative Prefix)

He is man.

a) an unwanted b) an exwanted

c) adiswanted d) a malwanted
8) Rameshis to the library. (Use proper tense)

a) goes b) going

c) went d) to be going
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Q.2 Attempt the following questions in brief. (Any Four) 12
1) What is the central theme of A Wrong Man in Workers’ Paradise?
2) Draw the character sketch of lona Patapov.
3) Draw the character sketch of Orpheus.
4) What is the main theme of Shakespeare’s sonnet, To Me Fair Friend?
5) Describe the mood expressed in William Wordsworth’s Daffodils.
6) Describe Sarojini Naidu's attitude towards her friend in To Youth.

Q.3 Answer the following Question. (Any One) 10
a) Write areview on a film that you have watched recently. Consider the
following points while reviewing the film:
)] Kind of a Film
i)  Plot or Story of a Film
i)  Setting and Visual Aspect of a Film
iv)  Dialogue, Music and Songs
v)  Contemporary Relevance of a Film
vi)  Usefulness to Indian Society and the Individual
OR
b) Write a detailed note on Types of Interview.

Q.4 Write a detailed note on Leadership Development Strategy. 10
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Seat
No. Set | P

B.Com. (Semester - Ill) (New) (CBCS) Examination: March/April - 2025
Business Macro Economics || (BCOMO0304)

Day & Date: Thursday, 05-June-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Choose the correct alternatives from the options. 08
1) the subject matter of Business macro Economics.
a) General price level b) Theories of consumption
c) Theories of employment  d) All the above

2) In construction of price index base year Price is assumed

a) 1000 b) 500
c) 100 d) 50
3) National income is measured during a period of
a) One Year b) Two Year
c) Five Year d) Ten Year
4) According to J. M. Keynes, consumption is function of
a) Investment b) Income
c) Saving d) All the above
5) The book' The General Theory of Employment, Interest and money,
was Published in Year.
a) 1976 b) 1912
c) 1929 d) 1936
6) Marginal propensity to consume = ——
a) Al b) AX
c) AY d) AE
7) National income is a concept.
a) Stock b) Flow
c) Stable d) Zero
8) __ is astate in which the value of money is falling, prices are rising.
a) Inflation b) Defilation
c) Reflation d) All the above
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B) Explain the following concept.
1) Net National Product.
2) Value of money.

Q.2 Write Short Notes. (Any Two)

Q.3

a) Scope of Business Macro Economics.
b) Causes of deflation.
¢) Average propensity to consume

Explain the difficulties in measurement of National Income.

Q.4 Attempt the following questions. (Any One)

a) Explain the Fisher's quantity theory of money.
OR
b) Explain the J. B. Say's low of market.

SLR-XA-28

04

06

10

12
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Seat
No. Set| P

B.Com. (Semester - lll) (New) (CBCS) Examination: March/April - 2025
Business Statistics (BCOMO0306)

Day & Date: Monday, 09-June-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figure to right indicate full marks.
3) Use of soundless calculators is allowed.

Q.1 A) Choose the correct alternatives from the options. 08
1) From the histogram we can locate .
a) Mean b) Mode
c) Median d) None of these

2) If both the variables X and Y increase or decrease in the same
direction then the correlation is
a) Positive b) Negative
c) Null d) None of these

3) If two regression coefficients b,, and b,,, are 0.2 and 0.8 respectively,
then the correlation coefficient between X and Y is

a) 0.2 b) 0.8
c) 04 d) 0.1

4) Data collected by direct observation is called .
a) Primary data b) Secondary data
c) Both (a) and (b) d) None of these

5) The process of arranging data in different groups according to
similarities is called
a) Tabulation b) Classification
c) Interpretation d) both (a) and (c)

6) Letx; x, ...x,is the set of n observations, L = largestand S =
smallest value in the data then formula for range is

a) R=S-1 b) R=L-S
c) R=|S—1L] d R=($-L)/2
7) The sum of the deviations of the values from their mean is
a) 1 b) 2
c) O d -1
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8) The measure of central tendency which is based on all
observations is

SLR-XA-29

a) Median | b) Mode
c) Arithmetic mean d) All the above
B) Explain the following concepts. 04
1) Arithmetic mean
2) Census Method
Q.2 Answer the following questions in brief. (Any Two) 06
a) Write a note on simple random sampling with replacement.
b) Define range, coefficient of range and standard deviation.
c) Write a note on regression coefficients.
Q.3 Define coefficient of correlation. Interpret the following cases: 10
i) r=+1
i)y r=-1
i)y r=0
Q.4 Answer the following. (Any One) 12
a) Calculate mean, standard deviation (S.D.) and coefficient of variation
from the following data
Marks 0-5| 5-10 | 10-15 | 15-20 | 20-25
No. of students | 13 | 17 15 25 10
b) Calculate mean, median and mode of the data given below.
Class 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
No. of students | 14 26 50 86 106 122 130 135
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Seat
No. Set P

B. Com (Semester - lll) (New) (CBCS) Examination: March/April - 2025
Money and Financial System (BCOMO0303)

Day & Date: Wednesday, 11-06-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Choose the correct alternatives. 08
1) RBI accepted concept for money supply.
a) M1 b) M2
c) M3 d) M4
2) The price stability is a prime objective of policy.
a) Monetary b) Commodities
c) Gold d) all of the above
3) The problemof _ system is resulted the origin of money.
a) Money b) Commodity
c) Gold d) None of the above
4) State finance corporations established by act (year)
a) 1950 b) 1951
c) 1952 d) 1953
5) How many Quantitative measures of RBI’s credit control policy?
a) One b) Two
c) Three d) Four
6) Medium of exchange isthe  function of Money.
a) Primary b) Secondary
c) Contingent d) Other
7) Money market is divided into Markets.
a) Two b) Three
c) Four d) Five
8) Capital Market is related with term funds.
a) Long b) Medium
c) Short d) Very short period
B) Explain the following concepts. 04
1) Bill Market
2) M1
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Q.2

Q.3

Q4

SLR-XA-30

Write short note /short answer.(Any Two)
a) Objectives of monitory policy of RBI

b) Features of call money market

c¢) Financial instruments

Long answer.

What is money market? Explain the features of Indian money market.

Answer anyone of the following.
a) Explain the concept of finance and discuss the role of finance in
economic development
OR

b) State the definition of money and explain the functions of money.

06

10

12
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Seat
No. Set| P

B.Com. (Semester - IV) (New) (CBCS) Examination: March/April - 2025
Fundamentals of Entrepreneurship - Paper Il (BCOMO0402)

Day & Date: Saturday, 24-05-2025 Max. Marks: 40
Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Choosethe correct alternatives from the options. 08
1) IS a structured training and support initiative designed to equip

individuals with the skills, knowledge, and mindset necessary to start and
manage their own businesses.
a) Entrepreneurship Development Programmer (EDP)
b) Management
c) Marketing
d) None of the above

2) Maharashtra Industrial Development Corporation (MIDC) was formed in

the year .
a) 1962 b) 1972
c) 1982 d) 1992
3) Women entrepreneurship refers to the process of, initiating,
managing, and growing their own businesses.
a) Men b) Women
c) Transgender d) None of the above
4) entrepreneurship refers to the process of starting and managing
businesses in rural areas.
a) Urban b) Metropolitan
c) Rural d) All of the above

5) Traditional entrepreneurs who primarily focus on profit maximization, but
entrepreneurs are motivated by a desire to create positive social

change.
a) Retall b) Digital
c) Social d) All of the above

6) Digital entrepreneurship refers to the process of starting and managing a
business that primarily operates on the

a) Agent b) Wholesaler
c) Internet d) None of the above
7) was born on 19" August, 1950.
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Q.2

Q.3
Q.4
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a) Anand Mahindra b) Dr. Vithal Kamat
c) Mark Zukerberg d) Sudha Murty
8) Mark Zuckerberg is an businessman known for co-founding
Facebook
a) Chinese b) Korean
c) British d) American

B) Explain the following concept.
1) Importance of Social Entrepreneurship
2) Digital Entrepreneurship

Write short note/Short answer. (Any Two)
a) Retail Entrepreneurship

b) Tourism Entrepreneurship
c) Anand Mahindra's major achievements

Explain problems and measures of women entrepreneurship.

Answer the following questions in detail. (Any One)

04

06

10

12

a) Explain functions of Maharashtra Industrial Development Corporation.

OR
b) Explain Mark Zukerberg's major achievements.
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No.

Set| P

B.Com. (Semester - IV) (New) (CBCS) Examination: March/April - 2025
Business Macro Economics (BCOMO0404)

Day & Date: Monday, 26-05-2025 Max. Marks: 40
Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Choose the correct alternatives from the options. 08
1) Is the subject matter of public finance.
a) Tax analysis
b) Budget analysis
c) Public expenditure analysis
d) All the above

2) According to Schumpeter, is the main cause of business cycle?
a) International trade b) Internal trade
c) Innovation d) Credit money
3) In depression period budget is useful
a) Balanced b) Deficit
c) Surplus d) All the above
4) The trade between region within the Country is called as trade.
a) Internal b) International
c) World d) All the above
5) There are Phases of trade cycle.
a) Four b) Two
c) Five d) Six
6) InIndia G.S.T. is implemented from year.
a) 2015 b) 2017
c) 2019 d) 2021

7) The value of one currency is expressed in the Value of other
country is called as

a) Terms of trade b) Export rate

c) Exchange rate d) Import rate
8) Public expenditure is a instrument of Policy.

a) Trade b) Monetary

c) Foreign d) Fiscal
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Q.2

Q.3

Q.4
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B) Explain the following concept. 04
1) Balance of Payments.
2) Public Finance

Write Short Notes. (Any Two) 06
a) Phases of trade cycle.

b) Types of G.S.T.

c) Types of budgets

What is international trade? State the advantages disadvantages and 10
disadvantages of international trade.

Attempt the following questions. (Any One) 12
a) Whatis indirect tax? Explain the merits and demerits of indirect tax.
OR

b) What is deficit Financing? Explain the objectives of deficit financing.
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Seat
No.

Set| P

B.Com. (Semester - IV) (New) (CBCS) Examination: March/April - 2025
English
English for Communication (BCOMO0405)

Day & Date: Wednesday, 28-May-2025 Max. Marks: 40
Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choose the correct alternatives from the options. 08
1) Rudyard Kipling addressed to the students of University in his
speech “Values in Life”.
a) Oxford b) McGill
c) Cambridge d) JINU
2) Is the fine old librarian of Ludgate.
a) Grailville b) Master Stephen
c) R d) None of these
3) Johnsy suffers from :
a) Cholera b) TB
c) Pneumonia d) Cancer
4)  “Ulysses” by Alfred, Lord Tennyson is a/an :
a) sonnet b) dramatic monologue
c) ballad d) ode
5) If you can fill the unforgiving minute
With seconds’ worth of distance run (Fill in the blank)
a) fifty b) sixty
c) forty d) ninety
6) Robert Frost is a prominent figure in poetry.
a) British b) African
c) Indian d) American
7)  She requested me to the issue and offer a solution.
a) look onto b) look after
c) look into d) look up

8) Rajni speaks fluently in multiple languages.
(Identify the type of underlined word)
a) Adverbial of place b) Adverbial of manner
c) Adverbial of degree d) Adverbial of time
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Q.2 Write a short note on the following. (Any four) 12

a) What impressions do you get about the character of Behram?

b) According to the narrator, what will happen if you wrest his words
beyond their fair construction?

c) Whatis said about youth in the speech Values in Life?

d) How does the poem Ulysses convey the spirit of resilience and
determination?

e) What is the theme of the poem If?

f)  What is the tone of the poem Birches?

Q.3 Answer the following question. (Any One) 10
a) Write a group discussion on the topic Students and Politics.
OR

b) Write a précis of the following passage and give a suitable title.
Shireen Modi enters the story as a conventional, even

conservative, Indian woman, meek person, dutiful wife and pious
Parsi living in Bombay. She lives in her in-laws’ house, with her
husband always away, and is almost invisible. She is not consulted
about anything important, although she runs the kitchen. Then she is
brought the news of her husband’s financial ruin and suicide in
Canton, and she embarks on a transformation of character. Her
emotional loss is one thing, but her financial loss is even worse. She
has been left nothing of the fabulous wealth he had amassed through
his opium trade, not even a single ship. When she also finds out that
her deceased husband had a Chinese wife and has a son by her, she
appears more concerned with a loss of face than with the loss of her
husband. As she says, ‘money is only one small part of the problem. |
have to consider my family’s reputation.” Despite these concerns, she
agrees to undertake a long journey to Canton, against the wishes of
her relatives, and in the company of the mysterious half-Armenian,
half-Egyptian Zadig, who has brought her this news, which also
scandalises her in their eyes. She is determined to complete the story
of her life, to locate the place where it has been cut short, and the
voyage to Canton proves liberating. As a sign of her transformation,
she abandons traditional Parsi mourning dress and adopts European-
style clothing. Once in Canton, she shows another side of her
character, empathy, in her new friendship with Mrs Burnham. And she
begins what promises to be a different kind of friendship with Zadig.
Having come through a storm of misfortune, Shireen is a resilient
person.

Q.4 Answer the following question. 10
What is stress? Some Factors that Induce Stress.
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Seat
No.

Set| P

B.Com. (Semester - IV) (New) (CBCS) Examination: March/April - 2025

Business Statistics (BCOMO0406)

Day & Date: Friday, 30-May-2025 Max. Marks: 40
Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.

Q.1 A)

B)

2) Figures to the right indicate full marks.

Choose the correct alternatives from the options. 08
1) Irregular variation in a time series are caused by
a) Earthquakes b) Epidemics
c) Floods d) All the above
2) In Paasche’s price index number are used as weights.
a) Current year quantities b) Base year quantity
c) Current year prices d) Base year price
3) Fisher’s ideal index number is of Laspeyres’s index
number and Paasche’s index number.
a) Product b) Sum
c) Quotient d) Square root of the product
4) Control charts were first developed by :
a) R.A. Fisher b) Walter A. Shwartz
c) Karl Pearson d) None of these

5) Use of umbrella in rainy season is included in
a) Secular trend b) Seasonal variation
c) Irregular variation d) Allthe above

6) For the standard normal variate, the mean is

a) zero b) 0.5
c) 0.2 d 0.3
7) A control chart consists of
a) Two control limits b) Three control limits
c) Four control limits d) None of these
8) Probability of an event lies between :
a) Oand1l b) land?2
c) -land-2 d -landl
Explain the following concept. 04

1) Mutually exclusive events
2) Independent event
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Q.2 Answer the following questions. (Any Two)

a) Define probability of an event. State the addition law of probability.

b) Explain assignable causes.

c) Define binomial distribution. State mean and variance of binomial

distribution.

Q.3 What is time series? Explain component s of time series.

Q.4 Answer the following. (Any One)
a) Compute Laspeyres’s, Paasche’s and Fisher price index number

from the following data method.

SLR-XA-34

Commodity Base Year Current Year
Price | Quantity | Price | Quantity
A 4 31 5 42
B 5 26 6 32
¢ 7 49 8 53
= 4 32 4 35

06

10

12

b)  What is the control chart? For the data given below construct X and R

chart.
Sample | 4 15 3405|678 09]10
No.
Mean (X) |23 |35|31|41|29]|38 461915 |40
Range (R) | 12 | 19 | 14 | 21 | 17 | 23 | 25 | 16 | 28 | 15

(Given: n=5, A>=0.58, D3=0, D4=2.11)
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Seat

No. Set| P

B.Com. (Semester - IV) (New) (CBCS) Examination: March/April — 2025
Money and Financial System (BCOMO0403)

Day & Date: Monday, 02-06-2025 Max. Marks: 40
Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Fillinthe blanks with the correct word. 08
1) Modern banking is believed to have started in
a) Venice b) Barcelona
c) Florence d) London

2) The maximum discount is
a) On current account
b) On savings account
c) On recurring deposit account.
d) On fixed deposit.

3) Banks’ operations are mainly based on mobile apps.
a) Microfinance b) Commercial banks
c) Foreign banks d) Payment banks

4) The Narasimha Committee had forced commercial banks to
maintain a capital adequacy ratio of

a) 10% b) 8%
c) 9% d 12%
5) To deposit cash or cheque into a bank account, is used.
a) Payment receipt b) Cheque
c) Drafts demand form d) None of these
6) In a partnership firm, a account has to be opened in the bank.
a) Individual account b) Joint account

c) Joint account of partners  d) None of these

7) Credit creation increases

a) Money supply b) Real wealth of the society
c) Real national income d) None of these
8) In this method, funds are transferred instantly.
a) NEFT b) Bank draft
c) RTGS d) Cheque
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Q.2

Q.3

Q.4

SLR-XA-35

B) Explain the following concept. (Any Two)
1) Sonar Bank.
2) Saving Account.
3) Money.
4) Security principle.

Write Short Notes. (Any Two)

a) Regional Rural Bank.

b) Types of individual account holder.
c) Mobile banking.

Answer the following questions. (Any One)
a) Write the advantages of using net banking.

04

06

10

b) Explain the principles of liquidity and profitability in banking business.

c) Explain the procedure for opening a bank account.

Solve the long answer question.
a) Explain the reforms made in the Indian banking sector as per the
recommendations of the Narasimha Committee.
OR
b) What is phone banking? Name the types of phone banking.

12
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Seat
No. Set| P

B.Com. (Semester - IV) (New) (CBCS) Examination March/April - 2025
CORPORATE ACCOUNTING -1l (BCOM0401)

Day & Date: Wednesday, 04-June-2025 Max. Marks: 40
Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Attempt any Two from Q. 3 A, B and C.

4) Attempt any One from Q. 5 (A) and Q. 5 (B).
5)

Use of calculator is allowed.

Q.1 Multiple Choice Questions. 08
1)  Which of the following will be treated as Preferential Creditors?
a) Government Taxes b) Trade Creditors
c) Unsecured Loan d) Preference Shareholders

2) As per AS 3, Cash includes :
a) Cashin Hand
b) Demand Deposits with Banks
c) Cash Equivalents
d) All of the above

3) Cash repayment of amounts borrowed will be disclosed in the Cash
Flow Statement as

a) Operating Activities b) Investing Activities
c) Financing Activities d) All of the above

4) Intrinsic value of Shares is calculated by the Net Assets by
Number of equity shares issued & subscribed.
a) Adding b) Deducting
c) Multiplying d) Dividing

5) A statement which shows sources and applications of funds is
termed as Statement.
a) Working Capital b) Cash Flow
c) Fund Flow d) Balance Sheet

6) _ value of shares represent the simple average of intrinsic value
and market value of shares.
a) Capital b) Market
c) Intrinsic d) Fair

7) __ arethe principal revenue generating activities of the enterprises.
a) Operating Activities b) Investing Activities
c) Financing Activities d) All of the above
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In case a company is solvent, interest on Debentures is paid up to
the date of

a) Repayment of Debentures

b) Balance Sheet

c) Commencement of Winding Up

d) completion of Liquidation

Q.2 Explain the following Concepts. 04
a) Fair Value of shares.
b) Ligquidator

Q.3 Write Short Note/Short Answer/ Short Problem. (Any Two) 06

a) Need for Valuation of Equity Shares.
b) ABC Ltd, gives you the following information
25,000 Equity Shares of Rs. 100 each Rs. 25,00,000
Average Annual Profits After tax Rs. 2,00,000
Normal rate of Return 10%
Calculate Value per share by using Capitalisation of Profit basis.
c¢) Following is the Balance Sheet of New India Limited on 31st March, 2020.
Amount Rs.
EQUITY AND LIABILITIES
1. Shareholders’ Funds
a. Share Capital
- (20,000 equity shares of Rs. 100 each) 20,00,000
b. Reserves and Surplus 8,00,000
2. Non - Current Liabilities
a. Long - term borrowings 3,00,000
3. Current Liabilities
a. Trade Payables 4,20,000
Total 35,20,000
ASSETS
1. Non - Current assets
a. Fixed Assets
i. Tangible Assets 19,40,000
ii. Intangible Assets 1,00,000
2. Current Assets
a. Inventories 9,00,000
b. Trade Receivables 5,20,000
c. Cash and Cash Equivalents 60,000
Total 35,20,000
Additional Information:
1) Present Value of Assets are as under:
Tangible Assets Rs. 20,00,000 | Intangible Assets  Rs. 60,000
Inventories Rs. 10,00,000 | Trade Receivables Rs. 5,00,000

Find out Intrinsic Value Per Share
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Q.4 The ABC Ltd. went in to voluntary liquidation on 315t March 2023 when its

balance Sheet was as under.

SLR-XA-36

Amount Rs.
EQUITY AND LIABILITIES
1. Shareholders’ Funds
a. Share Capital
- Equity Shares of Rs. 100 each 20,00,000
- 9% Preference Shares of Rs. 100 each 5,50,000
b. Reserves and Surplus 3,00,000
2. Non - Current Liabilities
a. Long - term borrowings
- 8 % Debentures (Secured on Land and
Buildings) 9,00,000
3. Current Liabilities
a. Trade Payables
- Unsecured Creditors 2,00,000
b. Other current liabilities
- Preferential Creditors 50,000
Total 40,00,000
ASSETS
1. Non - Current assets
a. i) Property, Plant and Equipment
- Land and Buildings 10,00,000
- Plant and Machinery 15,00,000
- Furniture 2,00,000
2. Current assets
a. Inventories 6,00,000
b. Trade Receivables 5,00,000
c. Cash and cash equivalents 2,00,000
Total 40,00,000

Additional Information:

1)

2)
3)
4)

The assets realized by liquidator are as

Rs
Land and Buildings 12,00,000
Plant and Machinery 10,00,000
Inventories 5,00,000
Furniture 1,00,000
Trade Receivables 4,00,000

The expenses of Liquidation amounted Rs. 10,000.

The legal expenses amounted to Rs. 15,000.

The liquidator is entitled to a remuneration of 2 % on all assets
realized except cash and 3 % on amount distributed among

unsecured creditors except preferential creditors.
Prepare Liquidators Final Statement of Accounts with necessary

workings.

10
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Q.5 A)

The Balance Sheet of XYZ Ltd, as on 315t March 2022 and 315t March

2023 are as under.

SLR-XA-36

31/03/2022 31/03/2023
Rs. Rs.
EQUITY AND LIABILITIES
1. Shareholders’ Funds
a. Share Capital 10,00,000 12,00,000
b. Reserves and Surplus
- Profit and Loss A/c 4,50,000 5,40,000
- General Reserves Alc 50,000 60,000
2. Non - Current Liabilities
a. Long - term borrowings 10,00,000 8,00,000
3. Current Liabilities
a. Trade Payables 3,00,000 3,65,000
b. Short - term provisions
- Provision for Taxation 50,000 60,000
Total 28,50,000 30,25,000
ASSETS
1. Non - Current assets
a. i) Property, Plant and
Equipment 24,00,000 25,00,000
2. Current assets
a. Inventories 2,25,000 2,50,000
b. Trade Receivables 1,25,000 1,50,000
c. Cash and cash
equivalents 1,00,000 1,25,000
Total 28,50,000 30,25,000

Additional Information:

1) Provision for Income Tax made during the year 2022-23

amounted to Rs. 75,000.

2) Depreciation of Rs. 2, 50,000 has been charged on Property,
Plant and Equipment for the year ended 315t March 2023.

Prepare:
i) Funds Flow Statement.

ii) Statement showing Changes in Working Capital.

OR

12
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b)

From the following information of PK Ltd. for the year ended 31
March 2023. Prepare Cash Flow Statement as per Indirect Method

Particulars Rs.
Net Profit for the year 5,00,000
Dividend Paid (last year) 1,00,000
Provision for Income Tax 1,50,000
Income tax paid during the year 2,00,000
Proceeds from the Assets sold 1,00,000
Depreciation charged to Profit and 1.00,000
Loss Alc
Sale of investments 2,00,000
Interest paid during the year 1,50,000
Increase in Working Capital 50.000
(excluding cash and bank balance) ’
Purchase of Fixed Assets 1,50,000
Issue of Share Capital 3,00,000
Opening Cash and Bank balance 1,00,000
Closing Cash and Bank balance 8,00,000

SLR-XA-36
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Advanced Banking (Paper —I)
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Seat
No. Set| P

B.Com. (Semester - V) (New) (CBCS) Examination: March/April - 2025
Advanced Banking (Paper —I)
(Law and Practice of Banking in India) (BCOMO0509)

Day & Date: Sunday, 25-05-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Selectthe correct alternative. 08
1) The main duty of a banker towards its customer is:
a) To provide loans
b) To maintain secrecy of the customer's account
c) To invest funds in securities
d) To sell insurance products

2) Which of the following is NOT a negotiable instrument?
a) Cheque b)  Bill of Exchange
c) Promissory Note d) Loan Agreement

3) A minor can open which of the following types of account?
a) Current Account b)  Savings Account
c) Fixed Deposit Account d)  None of the above

4) Which of the following is the statutory obligation of a banker?
a) To pay interest on savings accounts
b) To honor cheques
c) To provide overdraft facilities
d) To sell foreign exchange

5) A banker's lien gives the bank a right to:
a) Lend money to customers
b) Sell customer’s property
c) Retain customer’s property until debts are paid
d) Transfer funds to other accounts

6) Which of the following is a characteristic of a negotiable instrument?
a) Itis not transferable
b) It can be transferred only by endorsement
c) Itis a written contract
d) It does not represent monetary value

7) E-banking includes which of the following?
a) Mobile banking b) Internet banking
c) Credit card payments d) All of the above
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8) The relationship between a banker and a customer is:
a) Principal-agent relationship
b) Fiduciary relationship
c) Employer-employee relationship
d) Debtor-creditor relationship

B) Explain the following concepts. 04
i)  Banker’s lien
i)  Duty to maintain secrecy of customer’s accounts

Q.2 Write short note (Any Two) 06
1) The importance of banking laws in the financial system.
2) The meaning of negotiable instruments with examples.
3) The role of trustees in banking relationships.

Q.3 Long answer. 10
Explain the relationship between a banker and a customer.

Q.4 Answer the following. (Any One) 12
1) Discuss the different types of bank accounts. Explain the legal
aspects and requirements of each type of account, including
accounts for minors, married women, and partnership firms.
OR
2) What is e-banking? Explain the importance and benefits of its various
services like debit card, credit card, and internet banking.
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Seat
No.

Set| P

B.Com. (Semester - V) (New) (CBCS) Examination: March/April - 2025

Advanced Accounting and Auditing (Paper - | & Ill) (BCOMO0505)

Day & Date: Sunday, 25-05-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 A) Multiple choice questions. 08

1) Bank shows the provision for Income tax under the heading
a) Contingency Account
b) Contingency Liability
c) Other Liabilities and Provisions
d) Borrowings

2) In Bank Accounts the Head other assets does not include
a) Silver
b) Interest accrued
c) Inter office Adjustments (Dr.)
d) Gold

3) The Shares of Outsiders in Net Assets of Subsidiary Company is
known as :
a) Outsider Liability
b) Assets
c) Subsidiary Company’s liability
d) Minority Interest

4) Minority Interest includes :
a) Sharesin Share Capital b) Share in Capital Profit
c) Sharein Revenue Profit d) All of the above

5) Stock Salvaged means
a) Stock on the date of Fire b)  Stock saved from Fire
c) Stock destroyed by Fire d)  None of the above
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6) Profit Percentage in on of profit policy is calculated as

a) (Net profit + Insured Standing Charges) of previous year
Sales of Previous Year

(Net profit - Insured Standing Charges) of previous year
Sales of Previous Year

(Net profit + Standing Charges) of previous year
Sales of Previous Year

(Net profit + All Charges) of previous year
Sales of Previous Year

x 100

b)

x 100

C) x 100

d) x 100

7) The main purpose of Management Accounting is to
a) Help Banks to make decisions
b) Help management to make decisions
c) Help investors to make decisions
d) Help Auditors to do Audit

8) is a tool of Management Accounting.
a) Standard Costing
b) Human Resource Accounting
c) Environmental Accounting
d) Inflation Accounting

B) Explain the following concepts. 04
1) Holding Company
2)  Short Sales

Q.2 Write Short notes/Short problems. (Any 2) 06
a) Difference between Financial accounting and Management Accounting.
b) The Gross profit For the Year 2020 is 25% on Sales.
A fire broke out on 30 June 2021.
The stock at cost on 1/1/2021 is Rs 23600.
Purchases from 1/1/2021 to 30/6/2021 are Rs 84000 and Sales
during the period are Rs 128000.
Calculate the Stock on Date of Fire.
c) Following information is available for Bank Final Accounts for the

year 2020.

Particulars Rs

Silver 100000
Bills payable 65000
Stock of Stationary 1000
Stamps in Hand 1000
Interest accrued on Investments 26000
Non Banking Assets 35000
Investments 80000

Prepare Schedule no 11 Other Assets
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Q.3 Long Answer/Problem. 10
1) A fire occurred in the premises of M/s Bad luck Ltd. on 15" October
20109.
From the following Particulars ascertain the Loss of Stock and
prepare a claim for insurance.
Particulars Rs
Stock on 1/1/18 30600
Purchases from 1/1/2018 to 31/12/18 122000
Sales from 1/1/2018 to 31/12/18 180000
Stock on 31/12/2018 27000
Purchases from 1/1/2019 to 14/10/2019 147000
Sales from 1/1/2019 to 14/10/2019 150000
The stocks were always valued at 90% of cost.
The stock saved was worth Rs 18000.
Policy amount was Rs 63000.
There was average Clause in Policy.
Q.4 Answer any one of the following. (long Answer/Problem) 12
a) From the following information of Kuber Bank Ltd. Prepare Profit &
Loss A/c for the year ended 31°% March 2021 with necessary
schedules.
Particulars Rs Particulars Rs
Directors fees 45000 | Lighting 18200
Audit Fees 100000 | Postage 27600
Telephone Expenses 15600 | Repairs to Bank Property 19100
Discount earned 225400 | Rent paid 60000
Exchange (Cr) 2700 | Salaries and wages 352300
Commission (Cr) 17300 | (Including Rs 100000 to
Managing Director)
Interest earned 12,21800
Taxes Paid 16500 | Staff Uniform Expenses 16599
Interest Paid 520350 | Tea expenses for Guests 24900
Printing & stationary 25900 | Miscellaneous revenue 38700
Earnings
Loss on sale of Govt. Securities 13700 | Other Revenue expenses 56250
Insurance 24600 | Interest received on RBI 4800
Depreciation on Bank property 67200 | deposits

Additional Information

1) Provide Rs 21000 for Doubtful Debts

i) Provide Rs 45000 for Taxation

The directors have recommended dividend of Rs 30000
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b) From the following Balance sheet of Holding Co. and Subsidiary Co.

Ltd. as on 315t March 2020.
Balance sheet as on 315t March 2020

Liabilities H Ltd S Ltd. | Assets H Ltd S Ltd.
Rs Rs Rs Rs

Share Capital 10,00,000 | 4,00,000 | Sundry 17,00,000 | 8,00,000

(Shares of Rs 100 Assets

each) Investments

Reserve Fund 2,00,000 | 1,00,000 | (Shares in 3,00,000 -
S Ltd.)

Profit & Loss Alc 2,00,000 | 1,00,000

Debentures 2,00,000 --

Creditors 4,00,000 | 2,00,000

Total 20,00,000 | 8,00,000 20,00,000 | 8,00,000

Holding Co. purchased 3000 shares in Subsidiary Company Ltd. on
1/4/2020 when there were no reserves or Surplus in Subsidiary Co.

Prepare Consolidated Balance Sheet of Holding Co. And its

Subsidiary.
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Seat
No.

Set| P

B.Com. (Semester - V) (New) (CBCS) Examination: March/April - 2025
Advanced Cost Accounting (Paper - 1) (BCOMO0506)

Day & Date: Sunday, 25-May-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Choosethe correct alternatives from the options. 08
1) Factory cost is also known as :
a) Works cost b) Productive cost
c) Total Cost d) None of these
2) Bin card is maintained by .
a) Personnel manager b) Cost Accountant
c) Store keeper d) Account

3) Store ledger is maintained in
a) Stores department b) Accounts Department
c) Cost Accounting Department d) Personnel department

4) Direct material + Direct Labour + Direct Expenses =
a) Labour cost b) Prime cost
c) Indirect cost d) Overheads

5) Workers who work outside the factory premises are called as

Workers.
a) Out b) Casual
c) Job d) Badli
6) What is referred as to as a technique and process of ascertaining
cost?
a) Cost accountancy b) Financial Accounting
c) Price fixation d) Costing

7) Remuneration paid for physical and mental efforts used in production

is called
a) Salary b) Bonus
c) Wages d) Commission

8) cost remain constant at various level production.
a) Fixed cost b) Variable cost
c) Normal cost d) Production cost
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B) Explain the following concept:

a)

Idle time

b) Objectives of cost accounting

Q.2 Write short notes / Sole the problems. (Any 2)
a) Explain the scope of cost accounting.
b) Cost Center

Q.3

c) From the following details, calculate wages of the Mr. Chaitanya and

Atharva from the following details of March 2024.
Basic wages 2,800 Rs. For Chaitanya and 4,500 Rs. For Atharva for a

month.

Dearness allowance 60% of basic wages.
Bonus to Chaitanya 260 Rs. And Atharva 320 Rs.

The following are the receipts and issues of material X in a factory

during December.

Dec 1

Dec 5
Dec 8
Dec 10
Dec 12
Dec 15
Dec 16
Dec 19
Dec 21
Dec 24
Dec 27

The minimum stock level of material X is 200 Kg. Reorder level is 35 Kg.

Opening stock 200 Kg.

Received from supplier Sl - 400 kg. (CRN No. 448)
Issued to production department 240 Kg. (SR NO.883)
Issued to production department 160 Kg. (SR NO.897)
Received from supplier S2- 500 kg. (CRN No. 455)
Issued to production department 400 Kg. (SR NO.912)
Received from supplier S3- 250 kg. (CRN No. 461)
Received from supplier S1 - 500 kg. (CRN No. 462)
Issued to production department 250 Kg. (SR NO.940)
Issued to production department 260 Kg. (SR NO.950)
Issued to production department 340 Kg. (SR NO.974)

and reorder quantity is 500 Kg.

Prepare a Bin card No. 198 for material X with all necessary details

showing transactions in January.

04
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10
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Q.4 A)

B)

Following information relates to Vinod Manufacturing Ltd. for

the year ending on 315t December, 2019.

SLR-XA-39

Particulars

Amount (Rs.)

Direct Material 1,00,000
Direct Wages 75,000
Direct Expenses 5,000
Factory Rent, Rates and Taxes 4,000
Coal, Oil, Gas and Water 5,000
Motive Power 6,000
Depreciation of Plant Machinery 5,000
Office Salary 25,000
Office Insurance 2,000
Printing and Stationary 3,000
Postage, Telegram and Stamps 2,000
Office Manager’s Salary 3,000
Rent of Warehouse 1,700
Advertising 3,300
Carriage Outwards 1,100
Sales Manager’s Salary 3,900
Sales 2,50,000

Prepare Cost Sheet.
OR

12

The following information for the half year ended 30" June 2023

relating to expenses incurred has been taken from the books of

Atharva Ltd.

Particulars Amount

Raw material purchased 80,000
Productive wages 30,000
Stock (1% January 2023):

Raw Materials 10,000
Work-in-progress 3,000
Finished goods 5,000
Selling and distribution expenses 1,000
Stock (30" June 2023):

Raw Materials 13,000
Work-in-progress 6,000
Finished goods 7,000
Works Overhead 6,000
Office Overheads 2,000
Carriage Inward 1,000

Prepare statement of cost showing net profit at 20% on Total Cost.
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Seat

No. Set| P

B.Com. (Semester - V) (New) (CBCS) Examination: March/April - 2025
Industrial Management Paper - | (BCOMO0507)

Day & Date: Sunday, 25-05-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Selectthe correct alternative. 08
1) Plant Layout refer to
a) Selection of factory location
b) Arrangement of machinery, equipment, and resources in a
factory
c) Factory maintenance schedules
d) Worker welfare activities

2) factors affect the Work Environment.
a) Lighting b) Noise levels
c) Air quality d)  All of the above
3) iIs NOT a type of Industrial Pollution.
a) Air pollution b)  Water pollution
c) Land pollution d) Noise pollution

4) Industrial Management Means
a) Management of households
b) Management of educational institutions
c) Management of industrial processes and resources
d) Management of healthcare facilities

5) Factory Location means
a) Positioning of machinery within the factory
b) Selection of geographical area for setting up the factory
c) Designing the factory layout
d) Maintenance of factory equipment

6) is/are the recent trends in plant maintenance.
a) Pert Technique
b) Special Purpose Machine
c) Use of Modern Technique
d) All of these

7) are recent trends in industrial management.
a) Core Competencies b)  Total Quality Management
c) Both a) and b) d) None of the above

Page 3 of 4



Q.2

Q.3

Q.4

SLR-XA-40

8) is the concept of Plant Maintenance.
a) Cleaning the factory premises
b) Regular upkeep and repair of machinery and equipment
c) Enhancing the quality of work environment
d) All of the above

B) Explain the following concepts.
1) Explain the concept of Industrial Management.
2) Explain the concept of Plant Maintenance

Write short note (any two)
a) Importance of plant layout
b) Significance of Work Environment
c) Industrial pollution

Explain the Preventive measure by Law and other effective measures to
control industrial pollution.

Answer any one of the following.
a) Define Factory Location and explain the factors determining the
location of the factory.
b) Explain the Modern trends in plant maintenance.
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Seat
No. Set| P

B.Com. (Semester - V) (New) (CBCS) Examination: March/April - 2025
Advance Insurance Paper - | (BCOMO0508)

Day & Date: Sunday, 25-05-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Selectthe correct alternative. 08
1) is the primary purpose of insurance.
a) To generate profit
b) To provide protection against potential losses
c) To promote investments
d) To encourage borrowing

2) is the primary principle of Insurance.
a) Principal of Indemnity
b) Principal of Subrogation
c) Principal of Causa Proxima
d) Principal of Contribution
3) insurance is not a contract of indemnity.
a) Fire b) Life
c) Marine d) None of these

4) The main feature of LIC's Jeevan Kiran policy is
a) High savings component
b) Low-risk investment
c) Long-term wealth creation
d) Term insurance with return of premiums

5) The principle of indemnity in insurance means
a) Insurers can profit from claims
b) The insured is compensated only for the actual loss
c) Insurance can be claimed multiple times
d) Coverage is unlimited

6) primary document required to settle a life insurance claim after the
policyholder's death.
a) Medical report b) Bank statement
d) Death certificate c) Employment verification
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Q.2

Q.3
Q.4

7)

8)

B)
1)

2)

LIC Jeevan Amar is an example of policy.
a) Endowment policy b) Whole life policy
c) Term insurance d) Pension plan
insurance policy is not useful for saving purposes.
a) Endowment b)  Unit linked
c) Term d) None of these

Explain the following concepts.
Meaning of Life Insurance.

Meaning of Term insurance.

Write short note. (any two)

1)
2)
3)

History of Insurance.
Principle of Cooperation.
LIC’s Jeevan Kiran

Explain the Steps of claim settlement process of a term plan.

Answer any one of the following.
Explain the Eligibility of Life insurance Contract and Procedure of

1)

2)

taking of Life Insurance Policy.

OR
Explain Nature and Scope of Insurance.

SLR-XA-41
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No.

Set| P

B.Com. (Semester - V) (New) (CBCS) Examination: March/April - 2025
Advanced Statistics Paper - | (BCOMO0511)

Day & Date: Sunday, 25-05-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Multiple choice questions. 08
1) Which of the following is not true?
a) P(A)=0.6 b) P(A)=-0.6
c) P(A)=0.3 d PA=0.1
2) IfV(X)=10then V(2X+3) = :
a) 10 b) 23
c) 13 d 40
3) If K be any constant then mean of K is
a) K b) O
c) Kmean d) None of these

4) The value of constant C, if the probability mass function of X is

X 0 1 2 3
P(X) 1.5C 3C 2C 0.5C
a) 1/6 b) 1/7
c) 1/5 d) None of these
5) Which of the following is a probability distribution?
a) (0.04,0.3,0.4) b) (0.05,0.95)
c) (0.6,0.5) d (0.7,0.3,0.2)
6) The value of 5C; is .
a) 8 b) 3
c) 25 d 10
7) The distribution in which mean is always greater than variance
is :
a) Binomial Distribution b)  Poisson Distribution
c) Normal Distribution d) None of these
8) All Possible outcomes of random experiment is called
a) Sample Space b) Event
c) Outcome d) Allthe above
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B) Explain the following concepts. 04
1) Define Poisson distribution. State its mean and variance.
) Write down the sample space when a coin and a dice is thrown
simultaneously.
Answer the following. (Any Two) 06

1) Arandom variable x has following p.m.f. then find its mean and variance.

X 1 2 3 4
P(x) 0.2 0.1 0.3 0.4
2) Define joint p. m. f. of (X, Y). Also define the marginal p. m. f. of X and Y.
3) If an unbiased coin has tossed three times, then find probability that.

i) Getting Exactly three tails
i) Getting At least two tails

The joint Probability distribution of (X, Y) is given below. 10
Y 0 1 2 3
0 k 2k K
k 2k k 0
Find
i) the value of K
i) marginal distribution of X and Y.
Answer any one of the following. 12

a) Adiscreter. v. X has following probability distributions
X -2 -1 0 1 2 3
P(X) C 0.1 2C 0.2 0.3 C

Find

i) The value of c
i) The Mean of X
i) The Variance of X
iv) Distribution function of X

b) When two dice are thrown simultaneously then
i) Write down the sample space.
i) Find Probability of getting sum on uppermost faces will be
greater than 9.
i) Find Probability of getting sum on uppermost faces will be less
than 9.
Iv) Find probability of getting same number on both faces.
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No. Set| P

B.Com. (Semester - V) (New) (CBCS) Examination: March/April - 2025
Advanced Banking (Paper-ll)
Banks and Financial Institutions (BCOMO0516)

Day & Date: Wednesday, 14-05-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Choosethe correct alternatives from the options. 08
1) Imperial Bank of India was established in the year
a) 1920 b) 1921
c) 1940 d) 1991
2) The Reserve Bank of India is established in
a) 1970 b) 1935
c) 1934 d) 1940
3) Formulation and implementation of monetary policy.
a) Central Bank b) State Bank
c) Cooperative Bank d) Private Bank

4) Industrial Development Bank of India was established in the year

a) 1964 b) 1955
c) 1950 d 1920
5) Indian Money Market is divided into Parts.
a) 2 b) 3
c) 4 d 5
6) is the First Development Bank in India.
a) IFCI b) IDBI
c) ICICI d) SBI
7) Land Development of Bank provides loans to agriculture.
a) Short term b) Longterm
c) Medium term d) None of these

8) 'Note-Issue’ is the monopoly of
a) Reserve Bank of India b) State Bank of India
c) Bank of India d) Baroda Bank
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B) Explain the following concepts.
1) Types of Bank Accounts
2) Importance of Development Banks.

Write short notes. (any Two)

a) Monetary policy of RBI.

b) Credit Creation of Banks.

c) Whatis mean Regional Rural Banks?

Long Answer.
Explain the role of RBI in the Economic development of India.

Attempt any One of the following questions.
a) Achievement’s, Failure and Recommendations of Narasimhan
Committee.
OR

b) Explain the main role of State Bank of India in banking sector
development.
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B.Com. (Semester - V) (New) (CBCS) Examination: March/April - 2025
Advanced Accounting and Auditing (Paper — II)
Auditing (BCOMO0512)

Day & Date: Wednesday, 14-05-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choose the correct alternatives from the options. 08
1) Which of the following person is not appointed as auditor by the
company Act 2013, u/s 141 (3)
a) Any registered company b) Officer of the company
c) Director of the company d) All of the above

2) Management Audit Report Submitted to

a) Cost Audit Branch b) Audit Committee
c) Central Government d) Management
3) Auditing seeks :
a) Conclusive evidence b) Corroborative evidence
c) Both (a) and (b) above d) Persuasive evidence

4) Audit programme is prepared by
a) The auditor
b) The client
c) The audit assistant
d) The Auditor and his audit assistants

5) Audit of Cash Book only is an example of
a) Partial Audit b) Continuous Audit
c) Annual Audit d) Special Audit

6) Cash received from a certain debtor is neither recorded in the cash book
nor to that debtors account but it is misappropriated by the cashier is

known as :
a) Errors of commission b) Compensating errors
c) Teaming and lading d) Vouching
7) The term 'Audit’ is derived from a Latin word Audire; which means to_.
a) Tear b) Wear
c) Hear d) Clear
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8) Audit working papers is the property of :
a) Company b) Auditor
c) Secretary d) Shareholder

Explain the following Concepts:
a) Audit Planning
b) Internal Check

Write Short Note/Short Answer: (Any Two)
a) Management Audit

b) Audit under Computerised Environment
c) Tax Audit

What is Audit? Explain the types of Audit.

Attempt any One of the following questions.
a) State the Qualification and Disqualifications of company auditor
under the Companies Act 2013.
OR
b) State the points which are to be considered in the audit of Banks?
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SLR-XA-45

Set| P

B.Com. (Semester - V) (New) (CBCS) Examination: March/April - 2025
Advanced Cost Accounting Paper—Il (BCOMO0513)

Day & Date: Wednesday, 14-05-2025
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A)

B)

Max. Marks: 40

Select the correct alternative. 08
1) Contract costing is a variant of costing.
a) Contract b) Uniform
c) Process d) Job
2) Process costing is one aspect of costing.
a) Contract b) Uniform
c) Operation d) None of these
3) Uniform costing enables different firms to the cost.
a) Compare b) Complete
c) Combine d) None of these
4) Escalation clause includes in
a) Job Costing b) Contract Costing
c) Process costing d) Operating costing
5) Normal output is equal to
a) Input-Abnormal loss b) Input-Abnormal gains
c) Input - Normal loss d) All of the above
6) Process cost is based on the
a) Average cost b) Marginal Cost
c) Standard Cost d) Differential cost
7) When 1000 units are 60% complete in process, it is equivalent to
completed units.
a) 600 b) 900
c) 300 d 60
8) Cost of service under operation cost is ascertained by preparing
a) Cost sheet b) Production A/c
c) Job Cost sheet d) Process Account
Explain the following concepts. 04

1) Operating Costing.
2) Abnormal Loss
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Q.2 Write Short Notes / Solve Problem. (Any Two)

Q.3

Q.4

a)
b)
c)

Normal Loss
Areas of Uniform Costing
Batch Costing

SLR-XA-45

06

Mohan took a contract is completed was commenced in 15t January 2020 10
and was completed on 30" June 2020. The following expenses were
incurred on the contract.

Particulars Rs.
Material directly purchased 50,000
Material issued from stores 25,000
Wages 98,000
Factory overheads 7,000
Office overheads 10,500

The contract price was Rs.2,00,000 after the work was completed material

in hand was Rs.3,000. Prepare the Contract Account.

Attempt any one of the following.
The following direct costs were incurred on Job No. 415 of standard

A)

B)

Radio company.

12

Materials Wages : Rs. 8,050

Department A : 60 Hours @ Rs.20 per hour
Department B : 30 Hours @ Rs.30 per hour
Department C : 20 Hours @ Rs.20 per hour
Overheads:

Variable overheads

Department A : Rs.20,000 for 2,000 labour hours
Department B : Rs.5,000 for 200 labour hours
Department C : Rs.15,000 for 300 labour hours

Fixed Overheads

Rs.50,000 for 2,000 Normal working hours

You are required to calculate the cost of Job No. 415 and Calculate

the price to give profit of 25% on selling price.

OR

What is Contract costing? Explain features of Contract costing.
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Seat
No. Set| P

B.Com. (Semester - V) (New) (CBCS) Examination: March/April - 2025
Industrial Management (Paper — II) (BCOMO0514)

Day & Date: Wednesday, 14-05-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Choosethe correct alternatives from the options. 08
1) Conferences, seminar and group discussions are the method of .
a) Selection b) Training
c) Promotion d) Recruitment

2) Human resource development consists of
a) Promotion b) Planning
c) Development of skills d) none of these

3) Human Resource Management is the process of :
a) Recruitment and selection b) Analysing the skills

c) Workforce utilization d) None of the Above
4) Training is the process.

a) Short term b) Medium

c) Long term d) None of these

A process of choosing suitable applicants from the shortlisted

) candidates is known as :
a) Recruitment b) Selection
c) Promotion d) Procedure
6) Emotional intelligence is the :
a) Ability b) Process
c) Technique d) All of these
7) refers to help employees develop their abilities, skills, and
knowledge.

a) Human resource management
b) Human resource development
c) Human resource planning

d) All of these

8) Recent trends in Human resource management includes

a) Hybrid work b) Employee experience
c) Performance management d) All of these
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Q.2

Q.3

Q.4

SLR-XA-46

B) Explain the following concepts.
1) Emotional intelligence
2) Human Resource Planning

Write short notes. (Any Two)

a) Scope of Human resource management
b) Need of Human resource planning

c) Ethics in Human resource management

Long Answer
Explain the functions of Human resource management.

Attempt any one of the following questions.
a) Explain the methods of training in Human resource management.
OR
b) Explain the methods of performance appraisal in Human resource
management.
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Seat
No. Set| P

B.Com. (Semester - V) (New) (CBCS) Examination: March/April - 2025
Advance Insurance (Paper — 1) (BCOMO0515)

Day & Date: Wednesday, 14-05-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Choosethe correct alternatives from the options. 08
1) is first step in taking fire insurance policy.
a) Selection of the insurance company
b) Survey of the property
c) Determining the risk
d) None of these

2) The Pradhan Mantri Fasal Bima Yojana (PMFBY) launched on __.

a) 2015 b) 2016
c) 2017 d) 2018
3) insurance is compulsory in motor insurance.
a) Motor vehicle insurance b) Third party insurance
c) Personal Insurance d) None of these
4) In fire insurance, premium is fixed on the basis of
a) Location of property b) Owner of property
c) Nature of property and risk d) None of these
5) motor insurance policy covers all types of risks.

a) Comprehensive insurance policy
b) Motor accident policy

c) Third party insurance policy

d) None of these

6) Solatium fund is created by central government for indemnity under

insurance.
a) group insurance b) motor insurance
C) crop insurance d) fire insurance
7) risk is covered under crop insurance.
a) Drought b) Flood
c) Heavy rain d) All of these
8) is the oldest type of fire insurance policy.
a) Valued policy b) Comprehensive policy
c) Ordinary policy d) Specific policy
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Q.2

Q.3

Q.4

SLR-XA-47

B) Explain the following concepts.
1) Features of Fire Insurance.
2) Concept of Crop Insurance.

Write short notes. (Any Two)

a) Significance of Fire Insurance

b) Importance of Motor Insurance.

c) Objectives of Pradhan Mantri Fasal Bima Yojana (PMFBY).

Long Answer
Explain the Settlement of Motor Insurance claim.

Attempt any one of the following questions.
A) Explain the Types of Fire Insurance policies.

OR

B) Explain the Objectives, Features and Coverage of PMFBY Scheme.

04

06

10

12

Page 2 of 4



SLR-XA-47

Seat
No. Set| P
9. PE. (@ — V) ([919) (CBCS) URIEm: J1d /T - 0’4
Advance Insurance (Paper - 1l) (BCOMO0515)
IR, faHIe : AR, 2¥-04-3034 STl T[OT: %0

de. GUNI 22:00 T 03:00
AT : ?) TG U IfarRd e,

R) SodIdbEle 3 qoi o1 TRIfdra.

gy d) Reiew waibigge amg wgiy st 0¢

%)

————— g 3T faAT varedr eRiugdidiel 9o ST 37%.
) fomr By fAas §)  HIcTHRId qdefor
) SdH e o €)  ATD! AT

JITHAT Bel 9T IS (PMFBY) ———— NSRS )
3N R0y 9) 0%

®) 0% ) R0%¢

AR forme ——— faur siffard ame.

3) HIeR dareq faar §) g ger fau

@) dafadd faa ) I@T TRl

3l IR ——— "eai=ar MR faaear Ai¥ad &
3) AR 3BT q) HISTHIET ATelD

%) HITHATT IMMOT g/ @wd $) AT ATal

——— 99T YR AR argd [TRRidid |9d UaRel SraaTIRId
TReTor fHesdt.

)  FIEHded faHr §) HIeR 3ugrd fawr

®) Jarg el fam S) AARI g1 faHr

BE WRERA AAlRRE [y ——— fammsiqeid wrugarer i
P,

) g fam §) Her fam

%) U faur ) orfie fomr

Page 3 of 4



LA

U3

ux

v) U faRmsiaeia ——— eraaTT EReToT fHed.

%) TS 9) W

®) STl S) W |d
————— g |atd o1 M o geR 3=

3 R=d qea o q) AOHHCRS o
B) AAATEROT faaT ©) falre famr

feur forer. (@S Q=)

) oy fawr #'ww

¥) AR faRr #ew

$) A Wi faAr aomdr SRy (PMFBY)

e g
AR a9 STl Yahd M@quarl drRivgdl W< 6T,

Qe HIVTE! THT U Sk forar.
3) I IR UBR HAT

fepar

SLR-XA-47

(021

0%

R0

R

9)  wuEEAT Wi f9HT Aol Sfesey, ey anfor aimiie Hveror

(Coverage) Yt dXI.

Page 4 of 4



SLR-XA-48

Seat
No. Set| P

B.Com. (Semester - V) (New) (CBCS) Examination: March/April - 2025
Advanced Statistics Paper - || (BCOMO0518)

Day & Date: Wednesday, 14-May-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Multiple Choice Questions. 08
1) The objective function of L. P. P. model 3x; + 2x,, if x;, = 20 and
x, = 30, what is the value of the objective function?

a) 0 b) 50
c) 60 d 120

2) The time required to transport jobs from one machine to another
IS .
a) Any unittime b) negligible time
c) Can’t Find d) None of these

3) The coefficient of slack variable in the objective function is
a) -M b) +M
c) O d) None of these

4) The method used to solve an A. P. is called method.
a) Modi b) Reduced matrix
c) Hungarian d) None of these

5) In the simplex method the variable enters in the basis if

a) Z;—C =0 b) Z;—C <0
c) Z;—(C =0 d Z-(¢=<0
6) The L. P. P. involving variables can be solved using
Graphical method.
a) 2 b) 3
c) more than 2 d) None of these

7) Processing n jobs through three machines A, B and C in the order
ABC is possible only when
a) Min{A;} = Max {B;} b) Min{C;} = Max {B;}
C) Max {A;} < Min {B;} d) bothaandb

8) If number of sources is not equal to number of destinations, in
Assignment problem, then it is called
a) Unbalanced b) Unsymmetric
c) Symmetric d) balanced
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B) Explain the following concepts. 04

1) State the Standard form of L. P. P.
2) Define Slack and Surplus variable.

Q.2 Answer the following. (Any Two) 06
a) Explain Sequencing Problem in brief
b) Convert following L. P. P. into Canonical form
Max Z = 20x; + 40x,
Subjects to constraints
36x; + 6x, > 108
3x; +12x, = 36
20x; + 10x, < 100
X1, Xy =0

c) Unbalanced Transportation Problem.

Q.3 Solve the following L. P. P. by graphical method. 10
Minimize Z = 20x; + 40x,
Subjects to constraints
36x, + 6x, = 108
3x, +12x, = 36
20x; + 10x, <100
X1, %Xy =0

Q.4 Answer any one of the following. 12
a) There are 7 jobs each of which has to go through the machines A
and B in the order AB. Processing time in hours are given below:
Job 1 2 3 4 5 6 7
Machine A | 3 12 15 6 10 11| 9
MachineB | 8 10 | 10 | 6 12 1 3

Determine a sequence of these jobs that will minimize the total
elapsed time T.

b) FindI. B. F. S. by VAM method and obtain optimum solution by
MODI method.

| I Il v | a
A 15 10 17 | 18 | 2
B 16 13 12 | 13 | 6
C 12 17 20 | 11 | 7
by 3 3 4 5 | 15
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Seat
No. Set | P

B.Com. (Semester - V) (New) (CBCS) Examination: March/April — 2025
Co-operative Development (BCOMO0504)

Day & Date: Friday, 16-May-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Choose the correct alternatives from the options. 08
1) According to, “A set of rules which governor the life and
activity of Co-Operative organisations”
a) George Davidovic b) Prof. Paul Lambert
c) I.N. Mirdha d) L.S. Nilson
2) “LUR BRAND?” this word is associated with the Country.
a) India b) Denmark
c) England d) Germany
3) was founded “Poor People Committee” in Germany.
a) L.S. Nilson b) Schultze
c) Rafaizen d) Robert Owen
4) is known as father of Co-Operation.
a) Robert Owen b) H. Calvert
c) Bonner d) Davidovic

5) NAFED was set up in .

a) 1950 b) 1958
c) 1965 d) 1970

6) is the President of National Co-Operative Development
Corporation.

a) Union Minister of Defense
b) Prime Minister

c) Union Minister of agriculture
d) Finance Minister

7) The Maharashtra Co-Operative Societies Act was passed in

a) 1947 b) 1952
c) 1955 d) 1960
8) s known as the birth place of the global Co-Operative
movement.
a) Denmark b) Germany
c) India d) England
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Q.2

Q.3
Q.4

SLR-XA-49

B) Explain the following concept.
i) NAFED

i)  Nominal Members

Write Short Notes. (Any Two)

a) Aims of Co-operative Education.

b) Kibbutzim

c) Structure of Dairy Co-operative in Denmark.

What is Co-operation? Explain the Features of Co-operation.

Attempt any one of the following questions.
a) Explain the role of NABARD in the Development of Co-operative
Movement in India.
OR
b) Explain the role of Co-operation in Economic Development.

04

06

10

12
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No.

Set| P

B.Com. (Semester - V) (New) (CBCS) Examination: March/April - 2025

Modern Management Practices-l (BCOMO0501)

Day & Date: Monday, 19-May-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 A) Choose the correct alternatives from the options. 08
1) Which things help to reduce stress?
a) Listening music b) Walking
c) laughing d) All of these
2) Strategic management is the Implementing an organization's
strategy.
a) Process b) Method
c) Event d) Thing
3) Human resource management is the :
a) Art b) Science
c) Process d) Magic stick
4) Important elements of human capitalis
a) Knowledge b) Character
c) Creativity d) All of these
5) Model of human resource accounting was developed in the year
a) 1970 b) 1976
c) 1971 d) 1967
6) Finding ways to reduce is a crucial responsibility of
management.
a) Stress b) Dissatisfaction
c) Uncertainty d) Loss
7) Which of the following is considered as strategic activity?

8)

a) Production b) Recruitment
c) Planning d) All of the above

is the process of identifying, organizing, storing and

disseminating information within an organization.

a) Financial Management b) Production Management
c) Marketing Management d) Knowledge management
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B) Explain the following concept. 04
1) BPO
2) Knowledge Management

Q.2 Write Short Notes/Short Answer/Short Problem. (Any Two) 06
a) SWOT Analysis
b) Human Resource Accounting
c) Strategic Evaluation and Control

Q.3 Explain the causes of stress. 10
Q.4 Attempt any one of the following questions. 12
a) Explain the functions of Human resource management.
OR

b) Explain the strategic management process.
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Seat
No.

Set | P

B.Com. (Semester - V) (New) (CBCS) Examination: March/April — 2025

Business Regulatory Framework (BCOMO0503)

Day & Date: Wednesday, 21-May-2025 Max. Marks: 40

Time:

12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 A) Choose the correct alternatives from the options. 08

1) is collateral for the main purpose of contract of sale of goods.
a) Condition b) Warranty
c) Guarantee d) None of these

2) Unpaid seller has right against :
a) Goods b) Buyer
c) Goods and Buyer d) He has no rights

3) For appeal under right to information Act fee of Rs. is to be paid
a) 10 b) 20
c) 50 d) 100

4) Information Commissioners of State Information Commission are
appointed :
a) Prime Minster b) Chief Minster
c) President d) Governor

5) Breach of contract at the time of performance is called breach.
a) Actual b) Anticipatory
c) Primary d) Secondary

6) Set of promises forming consideration for each other forms
a) Contract b) Agreement
c) Performance of contract d) Enforcement of contract

7) Industrial Relation Code was passed in year

a) 1947 b) 2005
c) 2019 d) 2020
8) Set of rules governing human behavior is
a) Contract b) Agreement
c) Law d) Promise
B) Explain the following concept. 04

1) Business Law
2) Consideration
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Q.2

Q.3

Write Short Notes. (Any Two)

a) Limited liability Partnership.

b) Who is unpaid Seller? Explain his rights.
c) Procedure of getting information.

Explain function and powers of information Commission.

Q.4 Answer the following questions. (Any One)

a) Essentials for contract of sale of goods.
OR
b) Explain capacity of parties for contract.
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No. Set| P

B.Com. (Semester - V) (New) (CBCS) Examination: March/April - 2025
Business Economics Paper - Il (BCOMO0502)

Day & Date: Friday, 23-05-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Choose the correct alternatives from the options. 08
1) The process of growth in a developed country is called economic _.
a) Growth b) Development
c) Inequality d) Change
2) Who wrote the book 'Wealth of Nation'?
a) Keynes b) Ricardo
c) Adam Smith d) Arthur Lewis
3) The sector in which renewable capital resources are used is called
_______ Sector.
a) Subsistence b) Capital
c) Industrial d) Service
4) Investmentin is important for human resource development.
a) Housing b) Health
c) Education d) All of these
5) The first multidimensional Poverty Index was introduced in the year .
a) 1991 b) 2001
c) 2010 d) 2015
6) In underdeveloped countries, disguised unemployment is mainly
found in the sector.
a) Industry b) Agriculture
c) Service d) All of these
7) | is a state in which the value of money is falling and price
are rising.
a) Inflation b) Deflation
c) Value theory d) Parallel Economy

8) The concept of poverty deals with
a) Standard of living b) Basic wants
c) High standard of living d) All of these
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Q.2

Q.3
Q.4

SLR-XA-52

B) Explain the following concept.
1) Economic development.
2) Unemployment.

Write Short Notes. (Any Two)
a) Measurement of economic development.

b) Sources of human resource development.
c) Basic Component of human Development.

What is inflation? Write the measures to control it.

Attempt any one of the following questions.

a) Explain the theory of W. W. Rostow’s stage of economic growth.

OR
b) What is human resource? Explain the role of human resource in
economic development.
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No.

SLR-XA-53

Set| P

B.Com. (Semester - V) (Old) (CBCS) Examination: March/April — 2025
Business Regulatory Framework (19405502)

Day & Date: Sunday, 25-05-2025
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Max. Marks: 40

Q.1 A) Choosethe correct option and rewrite the following sentences. 08
Set of rules governing human behaviour is

1)

2)

3)

4)

5)

6)

7)

8)

a) Contract b)
c) Law d)

Agreement
Promise

Information Commissioners of State Information Commission are

appointed by :

a) Prime Minster b)  Chief Minster

c) President d) Governor
The Indian Contract Act :

a) 1872 b) 1873

c) 1874 d 1875
Industrial Relations Code was passed in year

a) 1947 b) 2005

c) 2019 d) 2020
In a contract of sale there must be goods

a) Immovable b) Movable

c) Movable and immovable d)

The right to Information Act

All of the above

a) 2001 b) 2002
c) 2005 d) 2006
For appeal under right to Information Act fee of Rs. is to be paid.
a) 10 b) 20
c) 50 d 100
limited liability partnership act
a) 2010 b) 2008
c) 2005 d) 2001
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Q.2

Q.3
Q.4

SLR-XA-53

B) Explain the following concepts. 04
i)  Business Law
i) Industrial Dispute

Write short notes. (Any Two) 06
i)  Limited Liability Partnership
i)  Essentials for contract of sale of goods
iii) Procedure of getting information

Explain the elements of valid contract. 10
Attempt the following questions. (Any One) 12
1) Who is unpaid Seller? Explain his rights.
OR

2) Explain functions and powers of Central Information Commission.
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Seat
No. Set| P

B.Com. (Semester - V) (Old) (CBCS) Examination: March/April — 2025
Business Economics (Paper — 1ll) (19405503)

Day & Date: Wednesday, 14-May-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Choose the correct alternatives from the options. 08
1) is/are types of poverty.
a) Absolute poverty b) Relative poverty
c) Rural poverty d) All of the above
2) was pioneer in making first Human Development Report.
a) Manmohan Singh b) Dadabhai Naoroji
c) Mehboob ul Haq d) None of these
3) Economic growth concept is related with countries.
a) Developed b) Developing
c) Bothaandb d) None of these
4) is found in Indian agriculture sector.
a) open unemployment b) voluntary unemployment
c) disguised unemployment d) None of these

5) In development theory of Rostow, the third development stage

IS .
a) traditional society b) take-off stage
c) Pre take-off stage d) None of these

6) Parallel economy is also called as
a) Black economy b) Developed economy
c) White economy d) None of these

7) In India causes of Economic inequalities is / are
a) poverty b) unemployment
c) inflation d) all of the above

8) The book “Poverty and Unbritish Rule in India” written by :
a) Malthus b) Dadabhai Naoroji
c) Amartya Sen d) Ricardo

B) Explain the following concepts. 04

1) Economic Development
2) Parallel Economy
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Q.2

Q.3

Q.4

SLR-XA-54

Write short note/short answer (Any Two) 06
a) Real National income

b) Unemployment

c) Economic Inequality

Long Answer 10
Explain the causes of poverty.

Attempt the following questions (Any One) 12
a) Explain the Rostow’s theory of economic growth.
OR

b) Explain the role of Human resources in Economic development.
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No. Set | P

B.Com. (Semester - V) (Old) (CBCS) Examination: March/April - 2025
Co-operative Development (19405504)

Day & Date: Friday, 16-May-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Choose the correct alternatives from the options. 08
1) A Co-operation is an organization of economically section.
a) Weaker b) Political
c) Merchant d) None of these
2) Is the principle of Co-operation.
a) Open membership b) Democratic control
c) Cash transactions d) All of these
3) This is the origin of the Co-operative movement.
a) England b) Russia
c) Japan d) None of these
4) Rafizan belongs to the country of :
a) France b) England
c) Germany d) Denmark
5) Co-operatives in Denmark are famous.
a) Dairy b) Consumer
c) Merchant d) None of these

6) NABARD was established in :

a) 1970 b) 1982
c) 1975 d) 1985
7) The National Co-operative Union was established in
a) 1941 b) 1951
c) 1961 d) None of these

8) Benefits of Co-operative education include
a) A sense of responsibility among the members.
b) A strong structure of Co-operative organization
c) Efficient governance
d) All of these
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Q.2

Q.3
Q.4

SLR-XA-55

B) Explain the following concept.
1) Write the full form of NABARD.
2) Co-operation.

Write Short Notes. (Any Two)
a) National Co-operative Development Corporation

b) Objective of Co-operation
c) Consumer Co-operative movement in England.

Explain the role of Co-operation in Economic Development.

Attempt any One of the following questions.

a) Explain the importance of Co-operative learning and training.

OR
b) Explain the Role of NABARD.
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No. Set| P

B.Com. (Semester - V) (Old) (CBCS) Examination: March/April — 2025
Modern Management Practices (19405501)

Day & Date: Monday, 19-05-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Choose the correct alternatives from the options. 08
1) In SWOT Analysis, O means :
a) Open b) Opportunities
c) Outsourcing d) None of these
2) Benchmarking concept was introduced in the year
a) 1989 b) 1988
c) 1990 d) 2000
3) is the first and important function of “Human Resource
Management.”
a) Training b) Human resource planning
c) Grievance Handling d) All of the above
4) is the management of employee dissatisfaction and
complaints, creating discipline in the organization.
a) Strategic Management b) Benchmarking
c) Grievance Handling d) All of the above

5) Lief Edvinsson is the world’s first
a) Chief production officer b) Chief marketing officer
c) Chief knowledge officer d) None of the above

6) In quality consciousness the main emphasis is focused
developments.
a) customer b) distributor
c) banks d) none of these

7) _____ may be defined as a system for controlling and using time
as efficiently as possible.
a) Time Management b) Marketing Management

c) Production Management d) None of the above

8) A sudden and unexpected event leading to major unrest amongst
the individuals is called
a) Habit b) Crises
c) Training d) None of the above
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Q.2

Q.3
Q.4

B) Explain the following concept.
1) Strategic Management
2) Human Resource Accounting

Write Short Notes/Short Answer/Short Problem (Any Two)
a) Developing Quality Consciousness

b) Quality of Work Life

c) Human Resource Manager

Explain functions of Human Resource Management.

Attempt any one of the following questions.
a) Explain SWOT Analysis.

OR
b) Explain importance of Time Management.

SLR-XA-56
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Seat

No. Set | P

B. Com. (Semester - V) (Old) (CBCS) Examination: March/April — 2025
Advanced Banking Paper-I
Law and Practice of Banking in India (19405513)

Day & Date: Wednesday, 21-05-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Choose the correct alternatives from the options. 08
1) Inthe year the first company Act was passee in India.
a) 1913 b) 1947
c) 1932 d) None of these

2) Banker’s Lienis
a) A Special type of mortage b) An implied pledge
c) A hypothecation d) A type of assignment

3) The relationship between a banker and customer is
a) That of a debtor and creditor
b) That of a creditor debtor
c) Primarily that of a debtor and creditor.
d) Both AandB

4) The best suited deposit for a trading community
a) Saving deposit b) Fixed deposit
c) Current deposit d) Recurring deposit

5) The bank account opened more than one name is called

account.
a) Joint b) Single
c) Saving d) None of these
6) is the name of first commercial Bank of India.
a) State Bank of India b) R.B.I
c) Indian Bank d) Hindustan Bank.
7) According to order bank can stop account operations.
a) Garnishi b) Kleton
c) Holly d) None of these
8) We can withdraw money many times from account.
a) Current b) Saving
c) Fixed d) Recurring
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Q.2

Q.3
Q.4

B) Explain the following concept.
1) Current deposit account
2) Promissory Note

Write Short Notes. (Any Two)

a) Bills of Exchange.

b) Significance of endorsement

c) Pledge

Explain the different types of Bank Customers.

Attempt the following questions. (Any One)

SLR-XA-57
04

06

10

12

a) What do you understand by a Crossing of a cheque? Explain the

different kinds of a cheque
OR

b) Define the term Banker and bank customer and state special

relationship between them.
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Seat
No. Set| P

B. Com. (Semester - V) (Old) (CBCS) Examination: March/April — 2025
Advanced Accountancy Paper - | (19405505)

Day & Date: Wednesday, 21-05-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Multiple choice question. 08
1) Pre-acquisition profit in subsidiary company is considered as
a) Revenue Profit b) Capital Profit
c) Goodwill d) None of the above

2) Minority interest includes :
a) Share in Share Capital b) Share in Capital Profit
c) Share in Revenue Profit d) All of the above

3) Banking companies are governed by Banking Regulation Act,

a) 1946 b) 1948
c) 1988 d) 1949
A business takes a insurance policy to cover the claims for
4) I
loss of stocks and loss of profit.
a) fire b) life
c) car d) health
5) The value of stock on the date of fire can be ascertained more
precisely by preparation of a Account.
a) Trading b) Memorandum Transaction
c) Balance Sheet d) Profit and Loss
6) Banks prepare the accounts for
a) Financial year b) Calendar year
c) Diwali year d) None of the above
7) is the main function of management accounting.
a) Decision Making
b) Planning
c) Direction
d) Providing information to management
8) _ personnel of a financial firm play a key role in management
accounting.
a) Investors b) Managers
c) Suppliers d) Customers
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B) Explain the following concepts. 04
1) State any of the four types of advances which are given by the
bank to its customers.
2) Describe short sales.

Write short note/Short answer/Short problem (Any Two) 06

a) Explain minority interest.

b) State difference between Financial Accounting and Management
Accounting.

c) Discuss indemnity period.

Long answer/Problem. 10
From the following trial balance of Prahlad Bank Limited, prepare final
accounts for the year ended 31/03/2023.

Trial Balance as on 31/03/2023

Particulars Dr. Amt. Rs. | Cr. Amt. Rs.
Savings Account Deposits -- 2,50,000
Current Account Deposits -- 2,50,000
Other Deposits -- 2,50,000
Advances 1,00,000 10,000
Furniture and Fixture 50,000 --
Cash in Hand 60,000 --
Cash with SBI 70,000 --
Cash with RBI 80,000 --
Property Loan 1,50,000 --
Vehicle Loan 2,00,000 --
Cash Credit 3,00,000 --
Bank Overdraft 2,50,000 --
Personal Loan 5,00,000 --
Printing and Stationery 20,000 -
Sundry Expenses 10,000 --
Light Bill 10,000 --
Salary 70,000 -
Provision for Doubtful Debts -- 7,000
Provision for Salary -- 50,000
Borrowings from HDFC -- 50,000
Outstanding Rent -- 5,000
Investment in Shares and 1,00,000 --
Securities
Investment in Gold 2,00,000 --
Capital -- 7,68,000
Interest on Advances -- 7,30,000
Interest on Deposits 2,00,000 --
23,70,000 23,70,000
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Q.4 Answer any one of the following (Long answer/Problem)

a) A fire occurred on 15/09/2009 in the godown of Anand Limited. From

the following figures ascertain the claim to be lodged.

Stock on 1/4/2009 Rs. 1,05,300/-
Purchases from 01/04/2009 to date of fire Rs. 3,50,400/-
Manufacturing expenses and wages Rs. 2,60,000/-
Sales from 01/04/2009 to date of fire Rs. 6,76,000/-
The rate of gross profit 30% on Cost
The stock salvaged Rs. 36,000/-

OR

b) Briefly explain calculations of minority interest.

12
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Seat
No. Set| P

B.Com. (Semester - V) (Old) (CBCS) : Examination March/April - 2025
Advanced Cost Accounting Paper—I (19405507)

Day & Date: Wednesday, 21-May-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Multiple choice question. 08
1) Basic objective of cost accounting is
a) tare compliance b) financial audit
C) cost ascertainment d) profit analysis
2) Direct expenses are also called
a) major expenses b) chargeable expenses
c) overhead expenses d) sundry expenses
3) Warehouse rent is a part of
a) prime cost b) factory cost
c) distribution cost d) production cost

The payment to direct labour from part of which of the following
heads.

a) Prime Cost

b) Works overheads

c) Office and administrative overheads

d) Selling & Distribution Overheads

4)

5) Labour turnover is measured by :
a) Replacement Method b) Flux Method
c) Separation Method d) All of the above

6) Cost of production is :
a) Factory Cost + Office OH b) Work cost + Opening WIP
c) Office OH + Selling OH d) Office OH — Closing OH

7) A Statement prepared to provide detailed cost of a cost centre or cost

unit is :
a) Cost Account b) Reconciliation Statement
c) Cost Sheet d) Profit & Loss Alc

8) Material labour and expenses or three important of cost.
a) Methods b) Elements
c) Techniques d) Process
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B) Explain the following concepts. 04
1) Cost Centre
2) Material Control

Q.2 Write short Note/Answer/Problem. (Any Two) 06
a) Explain the objective of cost Accounting.
b) Define the Difference between Bin card and store ledger.
c) What is purchase order.

Q.3 Long Answer/Problem. 10
From the following particulars prepare a cost sheet showing.
1) Cost of Materials consumed
2) Prime Cost
3) Factory Cost
4) Cost of production

5) Profit
Particular Rs.
Opening stock of raw materials 20,000
Opening stock of work in progress 10,000
Opening stock of finished goods 50,000
Raw Material purchased 5,00,000
Direct Wages 3,80,000
Sale for the year 12,00,000
Closing stock of Raw Materials 75,000
Closing stock of work in progress 15,000
Factory overhead 80,000
Direct expenses 50,000
Office & Administrative overhead 60,000
Selling or Distribution expenses 30,000
Q.4 Answer any One of the following. (Long Answer/Problem) 12
a) Explain the concept of Direct & Indirect labour cost?
OR
b) Following transaction have taken place in respect of a material during
March 2022.
Date

1 Opening Balances 500 unit @ Rs. 6 per unit
5 Purchase 100 units @ Rs. 7 per unit

7 Issued 400 units

9  Purchased 300 units @ Rs 8 per unit

19 Issued 250 Units

22  Issued 50 units

25 Purchased 300 units @ Rs 7.50 per unit

30 Issued 250 units

Prepare the store ledger assuming that the Issue one valued on LIFO
basis.
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No. Set| P

B.Com. (Semester - V) (Old) (CBCS) Examination: March/April — 2025
Industrial Management (Paper—I) (19405509)

Day & Date: Wednesday, 21-May-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Choose the correct alternatives from the options. 08
1) are recent trends in industrial management.
a) Core Competencies b) Total Quality Management
c) Both a) and b) d) None of the above
2) Industrial management is related to
a) Industrial Dispute b) Salary and Wages administration
c) Industrial Relation d) All of the above
3) is/are causes to industrial pollution.
a) Growth of Population b) Use of Pesticides
c) Both a) and b) d) None of the above
4) is called father of Scientific Industrial Management Movement.
a) Peter Drucker b) Henry Fayol
c) F.W. Taylor d) Elton Mayo
5) In the “Prevention & Control of Water Pollution Act” was passed
by central & state government
a) 1948 b) 1974
c) 1986 d) 1991
6) The situation, where the worker works in the factory is called as
a) Workload b) Work
c) Working hours d) Working conditions

7) Availability of raw material, fuel, power, transport & communication
facilities etc. are the primary factors of selecting the

a) Plant layout b) Productivity
c) Factory building d) Factory location.
8) is the first step in selection of factory location.
a) Selection region b) Selection of location
c) Selection of site d) None of these
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Q.3
Q.4

SLR-XA-60

B) Explain the following concept.
1) Explain the concept of Industrial Pollution.
2) Explain the concept of Plant layout.

Write Short Notes. (Any Two)

a) Significance of Industrial Management.
b) Importance of Factory Location

c) Importance of Work Environment

Explain the Factors affecting the work environment.

Attempt the following questions. (Any One)
a) Define Scientific Management? Explain the principles of Scientific
Management.
OR
b) Explain the Types of maintenance.

04

06

10

12
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Seat

NG Set| P

B.Com. (Semester - V) (Old) (CBCS) Examination: March/April — 2025
Advance Insurance Paper—I| (19405511)

Day & Date: Wednesday, 21-May-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Choosethe correct alternatives from the options. 08
1) is the primary purpose of insurance.
a) To generate profit
b) To provide protection against potential losses
c) To promote investments
d) to encourage borrowing

2) principle of insurance states that the insured must have a
financial interest in the subject matter of the insurance.
a) Indemnity b) Utmost good faith
c) Insurable interest d) Contribution
3) ___lifeinsurance policy provides coverage for the entire life of
the insured.
a) Term Policy b) Whole Life Policy
c) Endowment Policy d) Universal Life Policy
4) _ LIC policies provides both insurance and savings.
a) LIC Saral Jeevan Bima b) LIC New Jeevan Anand
c) LIC Adhar Shila d) LIC Jeevan Umang

5) The principle of indemnity in insurance means
a) Insurers can profit from claims
b) The insured is compensated only for the actual loss
c) Insurance can be claimed multiple times
d) Coverage is unlimited

6) primary document required to settle a life insurance claim after
the policyholder's death.
a) Medical report b) Bank statement
c) Death certificate d) Employment verification

7) LIC Jeevan Lakshya is designed to provide financial support
a) Atthe policyholder's death only
b) Only at the end of the policy term
c) At a specified future date
d) At the time of investment

8) is NOT a primary principle of life insurance.
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a) Utmost good faith b) Subrogation
c) Insurable interest d) Indemnity
B) Explain the following concepts. 04

1) Meaning of Insurance.
2) Concept of Endowment policy.

Q.2 Write short note (Any Two) 06
a) Historical background of Insurance.
b) Characteristics of Life Insurance.
c) LIC Saral Jeevan Bima Yojana

Q.3 Explain the Procedure of taking Life insurance policy. 10
Q.4 Attempt any one of the following questions. 12
1) Explain the Settlement of Life Insurance Claim after Death of Policy Holder.

OR

2) Explain the Socio-economic significance of Insurance.
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Seat

No. Set| P

B.Com. (Semester - V) (Old) (CBCS) Examination: March/April — 2025
Advanced Statistics (Paper - 1) (19405517)

Day & Date: Wednesday, 21-05-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of soundless calculators is allowed.

Q.1 A) Choosethe correct alternatives form the given alternatives. 08
1) The probability of any event is always less than
a) 0 b) 1
C) o d) None of these
2) The subset of sample space is called
a) event b) outcome
c) both (a) and (b) d) none of these
3) The conditional probability of event B given that event A has
occurred is :
a) P(B/A) =P(AnB)/P(B) b) P(B/A) =P(AnB)/P(A)
c) P(B/A) =P(ANnB) d) None of these
4) Number of terms in the expansion of (x + y)" is
a) n—1 b) n
c) n+1 d) None of these
5) Which of the following distribution mean and variance are same?
a) Bernoulli distribution b) Poisson distribution
c) Normal distribution d) Exponential distribution

6) A random variable that assumes an infinite or a uncountably infinite
number of values is called
a) Continuous random variable
b) Irregular random variable
c) Discrete random variable
d) Uncertain random variable

7) IfE(X) =8then E(2X+4) is

a) 16 b) 14

c) 20 d) None of these
8) If kis a constant then variance of k is

a) k2 b) 0

c) k d) None of these
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B)

Explain the following concepts.
1) Define Sample space.

2) Conditional probability distribution of X given Y = y.

Q.2 Write a Short Note. (Any Two)

1)
2)

3)

If P(A) = 1/4,P(B) = 1/3,P(B/A) = 1/2 find P(A/B).
Define probability mass function and cumulative distribution function

of a random variable X.

SLR-XA-62

04

06

In a Poisson distribution 3P(X = 2) = P(X = 4). Find its parameter A.

Q.3 Attempt the following.

A random variable X has the following probability distribution.

X —2 -1 0 1

2

3

PX) | 01 k 0.2 2k

0.3

3k

Find the value of K

Obtain P(X < 2) and P(X > 0).

Construct the distribution function Fx(.) of X.
E(X)

Q.4 Answer the following (Any One)

1)

2)

Consider the following sample space
S=1{1,2,3,4,5,6,7,8}
Write down the following events.

1) A: An odd number appears

i)  B: Number is greater than 4

i) AUB

iv) Both A and B occur

v) None of A and B occur

vi) AC
The joint pmf of (X,Y).
Y
N 0 1 2 3
0 k 2k 3k 4k
1 2k 4k 6k 8k
2 3k 6k 9k 12k
Find
) k

i) P(X+Y<3)

iif)  Conditional distribution of X given 'Y = 2

Iv) Conditional distribution of Y given X = 0.

10

12
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Seat
No. Set | P

B.Com. (Semester - V) (Old) (CBCS) Examination: March/April - 2025
Advanced Banking (Paper —Il)
Banks and Financial Institutions (19405514)

Day & Date: Friday, 23-05-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Choose the correct alternatives from the options. 08
1) The term ‘Indigenous Banker’ refers to type of banking entity.
a) Private Banks b) Traditional money lenders
c) Foreign Banks d) Development Banks
2) is converted into State Bank of India in 1955.
a) RRB b) Imperial Bank of India
c) Bank of India d) Indian Bank
3) The Reserve Bank of India is established in
a) 1935 b) 1934
c) 1949 d) 1940
4) Policy is implemented by central bank.
a) Monetary b) Fiscal
c) Industrial d) None of these
5) tool is NOT part of RBI’'s monetary policy.
a) Open market operations  b) Fiscal deficit
Cc) Repo rate d) Cash reserve ratio
6) SBlis India’s largest bank.
a) Public sector b) Private sector
c) Cooperative d) Foreign
7) is a major challenge faced by public sector bank in India.
a) Low deposits b) High competition
c) High NPAs d) Lack of branches
8) The Narasimhan Committee is related to sector.
a) Insurance b) Banking
c) Agriculture d) Manufacturing
B) Explain the following concept. 04

1) Open market operations
2) Regional Rural Banks
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Q.3

Q.4

SLR-XA-63

Write Short Notes. (Any Two) 06
a) Profitability of foreign banks

b) State the functions of commercial banks

c) Qualitative Measures of Monetary Policy

Broad Question. 10
Explain the monetary policy of RBI.

Broad Question. (Any One) 12
a) Explain the role of SBI in Economic Development.

OR
b) Explain the of Narsimhan committee recommendations regarding
Banking Reforms.
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Seat

No. Set | P

B.Com. (Semester - V) (Old) (CBCS) Examination: March/April - 2025
Advanced Accountancy (Paper — Il) (19405506) (Auditing)

Day & Date: Friday, 23-05-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choose the correct alternatives from the options. 08
1) Auditing really begins where ends.
a) Book Keeping b) Accountancy
c) Business d) Transaction
2) ___ isresponsible for the preparation of the financial statements.
a) Auditor b) Auditors Staff
c) Shareholders d) Management

3) When the entries are not recorded according to the fundamental
principles of accountancy, it is an error of :

a) Omission b) Principal
c) Compensating d) Commission
4) Under Section 143 of Companies Act 2013 has right to visit the
branches of the company.
a) Debenture holders b) Share holders
c) Auditor d) Customer
5) Tax Audit Report should be presented in Form No.
a) 3CA b) 4 CA
c) 4CB d 5CA
6) Which of the following audit is compulsory under Companies Act, 2013
a) Internal Audit b) Interim Audit
c) Continuous Audit d) Statutory Audit
7) Cost Audit represents true and faire view of the of any product.
a) Cost of sale b) Cost of raw material consumption
c) Cost of production d) Financial Statement
8) Balance sheet audit is also known as :
a) Continues Audit b) Annual audit
c) Internal audit d) Financial audit
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Explain the following concepts.
a) Internal Audit
b) Audit Planning

Write Short Notes/Short Answer (Any Two)
a) Appointment of Company Auditor

b) Verification of Assets

c) Tax Audit

State the points which are to be considered in the audit of a Trust?

Attempt any one of the following questions.

a) Whatis Audit? Explain the techniques of Audit?
OR

b) What is Audit? Explain the types of Audit?

04
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Seat

No. Set| P

B.Com. (Semester - V) (Old) (CBCS) : Examination March/April - 2025
Advanced Cost Accounting (Paper - 1) (19405508)

Day & Date: Friday, 23-May-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Multiple choice question. 08
1) Group of individual indirect cost item is classified as
a) Direct pool b) Cost pool
c) Indirect pool d) Item pool

2) Which of the following is not a source document used in job order
costing system?
a) Cost of production report b) Employee time sheet
c) Job cost sheet d) Material requisition form

3) Which of the following servers at a subsidiary ledger for the work
in process account?
a) Standard cost card b) Material requisition form
c) Job requisition form d) Job order cost sheet

The loss incurred on an incomplete contract is transferred to
account.

a) Costing Profit & Loss Alc

b) Profit & Loss Account

c) Trading Account

d) Deterred to next year

4)

5) Contract costing is not used in one of the following industries
a) Ship Building b)  Civil Construction
c) Automobiles d) Construction of Bridges

6) The sum of value of work certified and uncertified appearing in the
Contract Account is called
a) Work done b) Work in process
c) Work completed d) None of the above

7) The process of using the present and past conditions for analyzing
future aspects is classified as
a) Forecasting b) Term analysis
c) Expectation analysis d) All of the above

Page 1 of2



SLR-XA-65

8) Make or But Decisions are involved before and after different

a) Service b) Contract
c) Processes d) Indirect cost
B) Explain the following concepts. 04

1) Explain the concept of process costing.
2) What do you mean by operating costing?

Q.2 Write short Note/Answer/Problem. (Any TWO) 06
a) Explain the meaning of Batch costing.
b) Write the advantages of uniform costing.
c) The following was the expenditure on a contract of Rs. 1200,000.
1. Material = Rs 2,40,000 2. Plant = Rs 40,000
3. Wages = Rs 3,28,000 4. Other Expenses = 17,200
Cash Received Rs 4,80,000 being 80% of work certified material on hand
Rs 20,000 Depreciation on plant 20%
Prepare Contract Account.

Q.3 Long Answer/Problem. 10
Write the difference between Contract Costing and Process Costing.
Q.4 Answer Any One of the following. (Long Answer/Problem) 12
a) Explain the scope & features of uniform costing.
OR

b) Job No-58 passes through three departments X, Y & Z. The following
information is gives regarding this job.

Departments
Particular X Y Z
Materials issued to job Rs 8,000 Rs.1,000 Rs 500
Direct labour hours for job 1000 2000 5000
Rate of direct labour per hour Rs 1.00 Rs 1.50 Rs 2.00
Sale _of scrap materials arising Rs 1000 Rs 1.50 Rs 100
from job
Total overhead for the department Rs 10,000 Rs 15,000 Rs 25,000
Total labour hours for the 10,000 30,000 40,000
department

Required calculate the cost of job No 58 from the above figures.
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No. Set | P

B.Com. (Semester - V) (Old) (CBCS) Examination: March/April - 2025
Industrial Management (Paper — Il) (19405510)

Day & Date: Friday, 23-05-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Choose the correct alternatives from the options. 08
1) suggest that some actions are necessary and some actions
are unnecessary for accurate performance appraisal.
a) M. S. Kellog b) Adam Smith
c) Peter Drucker d) Malthus

2) The process of determining manpower requirements and the means for
meeting that requirement is called as

a) Controlling b) Manpower Planning
c) Management d) Co-ordination
3) Direct Recruitment is the source of recruitment.
a) External b) Internal
c) External/lnternal d) All of the above
4) The method in which the worker is given training where he actually
working is called as training
a) Onthe job b) Virtual
c) Apprenticeship d) None

5) Human Resource selection includes
a) Formulating interview technique
b) Motivating
c) Development of skills
d) Performance evaluation

6) Is an art of increasing the knowledge and skills of an employee
for doing a patrticular job.
a) Marketing b) Recruitment
c) Selection d) Training

7) method was used for appraisal of German soldier in 1930.
a) Grading Method
b) Management By Objective (MBO)
c) Straight Ranking Method
d) Assessment Centre Method
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Q.3

Q.4
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8) The basic purpose of human resource planning is to.
a) To identify the human resource requirement
b) To identify the human resource availability
c) Bothaandb
d) None of these

B) Explain the following concept.
1) What is training?
2) What is Human Resource Planning?

Write Short Notes. (Any Two)

a) Need for training

b) Objectives of Human Resource Development
c) Types of training

Long answer
What is ‘Performance Appraisal’? Explain the methods of ‘Performance
Appraisal.’

Answer any one of the following questions.
a) What is Human Resource Management? Explain the functions of
Human Resource Management.
OR
b) Describe the procedure of scientific selection.
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Seat
No. Set| P

B.Com. (Semester - V) (Old) (CBCS) Examination: March/April - 2025
Advance Insurance (Paper — 1) (19405512)

Day & Date: Friday, 23-05-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Choose the correct alternatives from the options. 08

1) The period for the fire insurance policy is
a) One year b) Two years
c) Three years d) Four years

2) In___ fire insurance policy, property at different locations in same
city are covered.
a) Floating policy b) Average policy
c) Time policy d) Declaration policy

3) National Agricultural Insurance Scheme (NAIS) was introduced in_.
a) 1991-92 b) 1972-73
c) 1999-2000 d) None of these

4) Comprehensive crop insurance scheme implemented in year.
a) 2015 b) 1985
c) 1995 d) 2005

5) __ insurance is compulsory in motor insurance.
a) Motor vehicle insurance b) Third party insurance
c) Personal Insurance d) None of these

6) Information of fire is the first step in the procedure of taking __ policy.
a) Fire insurance b) Accident insurance
c) Cattle insurance d) Marine insurance

7) Insurance act passed in India in the year

a) 1938 b) 1942
c) 1963 d) 1948
8) Insurance scheme was started by Govt. of India in 1985.
a) Accident b) Motor
c) Crop d) Cattle
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Q.2

Q.3
Q.4

B) Explain the following concept.
1) Explain the concept of Crop Insurance.
2) Oirigin of Fire Insurance.

Write Short Notes. (Any Two)

a) Scope of Motor Insurance.

b) Principles of Public Liability Insurance.
c) Double Insurance.

Explain the types of Fire Insurance policies.

Answer any one of the following questions.
a) Explain the principles and importance of Fire Insurance.
OR

b) Explain the claim settlement procedure of motor insurance.

SLR-XA-67
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Seat
No. Set| P

B.Com. (Semester - V) (Old) (CBCS) Examination: March/April - 2025
Advanced Statistics (Paper—Il) (19405518)

Day & Date: Friday, 23-May-2025 Max. Marks: 40
Time: 12:00 PM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of soundless calculators is allowed.
4) Graph papers will be supplied on request.

Q.1 A) Choosethe correct alternatives form the given alternatives. 08
1) L.P.P. stands for :
a) Linear Planning Programme
b) Little Practice Project
c) Linear programming Problem
d) None of these

2) The linear function of variables which is to be maximized or
minimized is called
a) Constraints b) An objective function
c) Basic requirements d) None of these

3) To solve an assignment problem the method used is
a) Hungarian b) Hamilton
c) Elurian d) None of these

4) In transportation Problems, VAM stands for
a) Value Addition Method
b) Vogel’'s Approximation Method
c) Virgenean Approximation Method
d) None of these

5) To find an I.B.F.S. to the transportation problem one can use

a) North West Corner Method
b) Row Minima Method

c) Least Cost Method

d) All of these

6) Number of basic allocations in any row or column is an Assignment
Problem can be :
a) Exactly one b) At mostone
c) Atleastone d) None of them
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7) Sequencing problems involving processing of two jobs on ‘n’
machines,
a) Can be solved graphically.
b) Cannot be solved graphically.
c) Have a condition that the processing of two jobs much be in
the same order.
d) None of these.

8) Processing time Mij's and order of processing the jobs are

a) Dependent b) Independent
c) Negligible d) None of these
B) Explain the following concepts. 04

1) Slack variable
2) Define transportation problem

Q.2 Write short Note. (Any Two) 06
a) State the standard form of L.P.P.
b) What is a sequencing problem?
c) Assumptions in sequencing problems

Q.3 Attempt the following. 10
Four professors are capable of teaching any one of four different courses.
The average weekly preparation time (in hours) for each subject by each
professor is given below.

I Il 1 v
2 10 9 7
15 4 14 8
13 14 16 11
4 15 13 9

0O w >

How to assign each professor, one and only one course so as to minimize
the total course preparation time for all four courses?

Q.4 Answer the following (Any One) 12
a) Find Solution using Voggel's Approximation method, also find optimal
solution using MODI method.

Warehouse
Wi | W2 | W3 | Ws | Supply
F1 11 13 17 14 250
Factory F’ 16 | 18 | 14 | 10 | 300
F3 21 24 13 10 400
Demand | 200 | 225 | 275 | 250

Page 2 of 3



b) Solve the following L.P.P by graphical method.

Maximize Z = 2x; + 3x,
Subject to constraints;
X1 +x, <30;
X, <12;
x, <20;
and x;,x, =0

SLR-XA-68
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Seat

No. Set | P

B.Com. (Semester - VI) (New) (CBCS) Examination: March/April - 2025
Business Regulatory Framework |l
(BCOMO0603)

Day & Date: Wednesday, 30-April-2025 Max. Marks: 40
Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choose the correct alternatives from the options. 08
1) Consumer Protection Act was passed in year
a) 1872 b) 1956
c) 1968 d) 2019
2) From decision of State Commission within __ appeal is to be filed in
National Commission.
a) 30days b) 45 days
c) 90 days d) 2years
3) In private company there may be maximum members.
a) 100 b) 200
c) 500 d) unlimited

4)  Auditors of Government Company are appointed by
a) President of India
b) Governor
c) Comptroller and Auditor General of India
d) Judge of Supreme Court

5) On board of SEBI there are members form amongst the officials of
Ministry of Central Government for finance and administration of
Companies Act.

a) Four b) Three
c) Two d) Six
6) is the function of SEBI.

a) Registration of companies

b) Registration of partnership firms
c) Registration of share brokers

d) All of these
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Q.2

Q.3

Q.4
Q.5
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7)  Vigilance Commissioners are appointed by :
a) Governor b) President of India
c) Judge of Supreme Court d) Judge of High Court

8) Central Vigilance Commission can conduct inquiry in matters of

a) Corruption b) Civil
c) Criminal d) Civil and Criminal both

Explain the following.
a) Restrictive Trade Practices under Consumer Protection Act
b) Holding Company and Subsidiary Company

Write notes on. (Any Two)

a) Procedure of registration in formation of company

b) Registration of brokers by SEBI

c) Functions and Powers of Central Vigilance Commission

What is Memorandum of Association of company? Explain its contents.

Write answer of any one of the following questions.

a) Explain jurisdiction and procedure of State Consumer Commission
upon receipt of consumer complaint.

b) Explain Functions and Powers of board of SEBI.
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No. Set | P

B.Com. (Semester - VI) (New) (CBCS) Examination: March/April - 2025
Advanced Banking (Paper — III) (BCOMO0609)

Day & Date: Sunday, 18-05-2025 Max. Marks: 40
Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Choose the correct alternative. 08
1) The Indian Banking Regulation Act was passed in year.
a) 1949 b) 1957
c) 1965 d) 1991
2) Is a principle of Banking.
a) Security b) Liquidity
c) Profitability d) All the above
3) Over draft facility is provided to account holder.
a) Saving b) Current
c) Recurring d) Fixed
4) means the collection of cheques, demand drafts, bills and
pay orders on the behalf of cousttomers.
a) Paying Banker b) Co-operative banker
c) Collecting Banker d) All the above

5) A paying banker can get protection only when he makes payment

a) InCash b) By Cheque

c) ByD.D. d) Indue course
6) The banker lien is always

a) Personal b) General

c) Legal d) Special
7) Abankeris a debtor.

a) General b) Legal

c) Special d) Priviledge

8) The mortgage of a mobile property for securing loan is called as

a) Lien b) Pledge
c) Hypothecation d) Mortgage
B) Explain following concepts. 04

1) Paying banker
2) Security Principle
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Q.3
Q.4
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Write short notes. (Any Two)

1) Secured and unsecured advances.

2 Types of mortgage.

3) Relationship between liquidity and profitability.

Explain the functions of a collecting Banker.

Answer any one of the following.
1) Explain the precautions to be taken by paying bank.

2) Explain the features of Indian Banking Regulation Act of 1949.

06
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NG Set| P

B.Com. (Semester - VI) (New) (CBCS) : Examination March/April - 2025
Advanced Accountancy (Paper-lil) (BCOMO605)

Day & Date: Sunday, 18-May-2025 Max. Marks: 40
Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of Calculator is allowed.

Q.1 A) Choosethe correct alternatives from the options. 08
1) Liquidation expenses are paid and borne by Vendor Company; it is
debited to :
a) Bank Alc b) Goodwill Alc
c) Realization A/c d) Capital Reserve Alc
2) Basic objective of cost accountingis .
a) tax compliance b) cost ascertainment
c) financial audit d) profit analysis

3) In Hire purchase system depreciation is calculated and show in the

books of :
a) Hire purchaser b) Seller
c) Employees d) Creditors
4) Hire purchase price less = Cash price
a) Profit b) Loss
c) Interest d) Depreciation

5) Liquid assets include all current assets except stock and
a) Cash and bank b) prepaid expenses
c) Debtors d) preliminary expenses

6) For the purpose of ratio analysis, the term operating profits means .
a) gross profit - operating expenses
b) sales - cost of sold goods
C) net profit
d) gross profit

7) Elements of Cost of a product are :
a) Material only b) Labour only
c) Expenses only d) Material, Labour and expenses

8) The price paid for acquiring the business is called as :
a) Commission b) Profit
c) Remuneration d) Purchase consideration
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B) Explain the following concepts:
a) External Reconstruction
b) Cost accounting

Q.2 Write short note or short problem (Any two)

a) Purchase consideration

SLR-XA-71

04

06

b) Difference between cost accounting and financial accounting

c) From the given particulars calculate following ratio.

1) Gross profit ratio
2) Net Profit ratio
3) Fixed assets turnover ratio
Particulars

Sales

Less: Cost of Sold Goods
Gross Profit

Less: Non-operating Exp.
Net Profit

Current Assets
Inventories

Fixed Assets

Total Assets
Shareholders Fund
Debt

Current Liabilities

Total Liabilities

Rs.

1500000

900000
600000
140000
460000
378000
180000
820000

1378000

950000
250000
178000

1378000

Q.3 From the following information prepare Balance Sheet of Maharashtra Ltd. 10
as on 31%tMarch 2024. Also show your workings.

Current ratio
Liquidity ratio
Working capital
Proprietary ratio

(Fixed Assets to Proprietary ratio)
Reserve and Surplus

Bank overdraft

2.5

15

Rs. 60000
0.75

Rs. 40000
Rs. 10000

There are no long term debts or fictitious assets.
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Q.4 Answer the following: (Any One) 12

A)

B)

A Ltd. and B Ltd. are two companies carrying on business in the
same line. Their Balance sheets as on 31st March 2024 are given
below.

Balance Sheet as on 31st March 2024

Liabilities A Ltd. (Rs.) | B Ltd. (Rs.)
Eq. Shares (Rs. 10 each) 300000 100000
General Reserve 200000 100000
Secured Loans 300000 50000
Current Liabilities 300000 200000

Total 1100000 450000
Assets A Ltd. (Rs.)| B Ltd. (Rs.)
Land and Building 50000
Plant and Machinery 350000 150000
Investment 50000
Stock 450000 200000
Debtors 150000 50000
Cash at Bank 50000 50000

Total 1100000 450000

The above companies have agreed to amalgamate into AB Ltd. on
the following terms
a) All the assets and liabilities of the two companies are taken over.
b) Shareholders in A Ltd. and B Ltd., are paid off by issuing to them
sufficient number of Equity Shares of Rs. 10/- each in AB Ltd., as
fully paid at par.
Give ledger accounts of A Ltd. and B Ltd.

Mr. Sudheer purchased Machinery for cash price of Rs. 111720
under hire purchase system from Mumbai Ltd., on 1-1-2022. The
terms provided that Rs. 30000 be paid on signing the agreement and
the balance amount in three equal installments of Rs. 30000 at the
end of each year. The interest at 5% p.a. on unpaid balance is
charged. The Machinery was depreciated at 20% p.a. on the
reducing balance method.

From the above transactions prepare Mumbai Ltd. A/c and Machinery
A/c in the books of Mr. Sudheer.
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Seat

No. Set| P

B.Com. (Semester - VI) (New) (CBCS) : Examination March/April - 2025
Advanced Costing (Paper-lil) (BCOMO0606)

Day & Date: Sunday, 18-May-2025 Max. Marks: 40
Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.
2) Figure to right indicate full marks.

Q.1 A) Choosethe correct alternatives from the options. 08
1) FIFO :
a) First In Front Out b)  Front In Front Out
c) FirstIn First Out d) None of these
2) incentive plan provides a proportion of the time saved as a
bonus to the worker.
a) Halsey Plan b) Rowan Plan
c) Time Rate d) Piece Rate
3) method calculates the cost per hour of machine operation
to allocate overhead costs.
a) Machine Hour Rate b) Absorption Rate
c) Allocation Rate d) Allof these
4) method assumes that the last goods purchased are the
first to be sold.
a) FIFO b) LIFO
c) Average Method d) All of these
5) LIFO___ .
a) Last In Front Out b) Least In First Out
c) Last In First Out d) None of these
6) __ term refers to the process of allocating fixed costs to
products or services.
a) Absorption b)  Allocation
c) Machine Hour Rate d) None of these
7) iIs maintained by storekeeper.
a) Store Ledger b) Pay roll
c) Bin Card d) Inventory Tag
8) overheads remains constant at all levels of activity.
a) Fixed b) Average
c) Semi-Variable d) Semi-Fixed
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B) Explain the following concepts. 04
1) Always Better Control Technique.
2) Time Rate Method.

Q.2 Solve the following. (Any Two) 06
a) Calculate wages of Mr. lyyer from the following for a week.
i)  Normal working rate per hour Rs. 6
i) Normal working hours per day 8.
iii) Overtime rate - 150% of normal rate.
iv)  Working hours for a week were;
Monday - 8, Tuesday - 10, Wednesday - 9, Thursday - 10,
Friday - 11, Saturday - 6 Hours.
Calculate total wages and also earning rate per hour.
b) Merits and Demerits of Machine Hour Rate.
c) Absorption & Apportionment of Overheads.

Q.3 Standard time allowed for a job is 50 Hours. The hourly rate wages is Rs. 10
0.40 per hour. Plus dearness allowance @ Rs. 0.25 per hours. The actual
time taken by the workers was 40 hours. Calculate wages by Time basis,
Piece Basis, Halsey Plan and Rowan Plan.

Q.4 a) The following transactions took place in respect of a material of Vikas 12
Company Ltd.

Date Particulars
01-03-2024 | Purchase 200 Kg. @ 3 Rs. Per Kg.
05-03-2024 | Purchase 400 Kg. @ 2 Rs. Per Kg.
10-03-2024 | Issues 150 Kg.

12-03-2024 | Purchase 200 Kg. @ 4 Rs. Per Kg.
15-03-2024 | Issues 200 Kg.
18-03-2024 | Purchase 300 Kg. @ 3 Rs. Per Kg.
20-03-2024 | Purchase 500 Kg. @ 2 Rs. Per Kg.
21-03-2024 | Issues 200 Kg.
22-03-2024 | Issues 400 Kg.
31-03-2024 | Issues 100 Kg.

Find out stock by FIFO Method.

OR
b) From the following information you are required to prepare store
ledger account by using LIFO.

Date Particulars Units Rate (Rs.)
03 Jan Purchased 1000 1.00
10 Jan Purchased 260 1.05
25 Jan Issued 700 -

6 Feb Purchased 400 1.15
23 Feb Purchased 300 1.25

10 March Issued 620 -
15 April Issued 240 -
30 April Purchased 500 1.10
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B.Com. (Semester - VI) (New) (CBCS) Examination: March/April - 2025

Industrial Management (Paper — IIl) (BCOMO0607)

Day & Date: Sunday, 18-05-2025 Max. Marks: 40
Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 A) Choose the correct alternative. 08
1) A.B.C Analysis is also known as

2)

3)

4)

5)

6)

7

a) A.B.C Analysis b) V. E.D. Analysis
c) Justin Time d) Pareto Analysis

Is/ are the objective of the production planning and control.

a) Timely delivery of goods and services

b) Improving customer satisfaction
c) Improve Productivity
d) All of the above

is/are the ways to improve the industrial productivity,

a) Quality raw material b) Effective management

c) Botha&b d) None of these

Industrial productivity is affected by factors.
a) Availability of capital b) Government Policy
c) Technology d) All of these

Determination of required time for completion of some work is
known as

a) Planning b) Co-coordinating

c) Scheduling d) Control

Productivity of labour is measure by formula.
a) Total Production/Net capital invested

b) Total production/Cost of land

c) Total production / Total expenditure

d) Total production/Total labours hours

Which method of pricing the issue from the store is best when the
guantity of transactions is less and prices of raw material are
stable?

a) Firstin First Out

b) Lastin First Out

c) Weighted Average Price Method

d) Average Price Method
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8) Production are important from the perspective of the
enterprise, society, employees and customers.
a) Planning b) Control
c) Bothaandb d) None of these

B) Explain the following concepts. 04
1) What is Industrial Productivity?
2) Seed Finance.

Q.2 Write short notes (any two) 06
1) Working Capital.
2 Importance of industrial productivity.
3) Productivity of Capital.

Q.3 Long answer 10
What is Financial Management? Explain Sources of financial
management.

Q.4 Answer any one of the following 12
1) What is Inventory Management? Describe the importance of inventory
management.
OR

2) What is production planning and control? Explain in detail various
techniques of production planning and control.
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No.
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B.Com. (Semester - VI) (New) (CBCS): Examination March/April - 2025

Advanced Insurance Paper-Ill (BCOMO0608)

Day & Date: Sunday, 18-May-2025 Max. Marks: 40
Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 A) Choosethe correct alternative. 08

1)

2)

3)

4)

5)

6)

7

8)

A loan against an insurance policy is commonly referred to as a

a) Document loan b) policy loan
c) property loan d) term loan

The Insurance Regulatory and Development Authority (IRDA) of India
has members.

a) 5 b) 10

c) 15 d 20

is the first step of settlement of health insurance claim.
a) Inform the insurance company
b) Inform the police
c) Inform the IRDA
d) All of these

The Life Insurance Company Act passed in year.

a) 1956 b) 1960

c) 1971 d) 1948

An indemnity bond is called as a agreement.

a) Nominal b) Special

c) Legal d) illegal

Life insurance agent receives a business license for year.
a) 5 b) 2

c) 3 d) 10

Life insurance Agent is called as a
a) Government employee b) intermediaries

c) Social worker d) Businessman

Grievance redressed of insurance is the work of institution.
a) CBI b) SBI

c) IRDA d) LIC
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B) Explain the Concepts. 04
1) Code of Conduct.
2) Medical Report.

Q.2 Write short notes (any two) 06
1) Disability Benefit
2  Surrender Value
3) Death Certificate

Q.3 Explain the Organizational Structure of Life Insurance Corporation of India. 10

Q.4 Answer any one of the following 12
1) Explain the merits and demerits of privatization of Insurance business.
OR
2) Explain the Role of Life Insurance Corporation in social and economic
development.
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NG Set| P

B.Com. (Semester - VI) (New) (CBCS) : Examination March/April - 2025
Advanced Statistics (Paper-Ill) (BCOMO0611)

Day & Date: Sunday, 18-May-2025 Max. Marks: 40
Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.
2) Figure to right indicate full marks.
3) Use of soundless calculators is allowed.

Q.1 A) Choosethe correct alternatives form the given alternatives. 08
1) Testing Hy:u =5against H;:u <5isa test.
a) One sided right tailed b) Two tailed
c) One sided left tailed d) None of these

2) The value of Net Reproduction Rate (NRR) >1 indicates of
a) Increase in population
b) Reduction in population
c) Consistency in Population
d) none of these

3) For testing goodness of fit test is used.
a) F by T
c) Z d) Chi-square

4) Any hypothesis which is opposite to null hypothesis is :
a) Composite hypothesis b) Alternative hypothesis

c) Simple hypothesis d) None of these
5) t-testis applicable in case of sample.

a) small b) large

c) for any d) none of these

6) A statement made about a population for testing purpose is

called
a) statistic b)  hypothesis
c) level of significance d) test statistic

7) Vital Statistics is a branch of biometry which deals with data and

laws of .
a) Marriages b) Births
c) Deaths d) All of these

8) For comparing proportions of two populations which of the
following test is to be used?
a) Z-test b) t-test
c) F-test d) None of these
Page 1 of2
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B) Explain the following concepts. 04
1) Null and Alternative hypothesis.
2) Chi-Square variate and state its probability density function (pdf).

Write a Short Note (Any Two). 06
a) Explain Type | and Type Il error.
b) A sample of 15 observations is found to have mean of 67.47 and
sample mean square 2.3. Can it reasonably be regarded as a sample
from a population with mean height 6772 (Critical Value t14,
0.025=2.510)
c) Explain Gross Reproduction Rate (GRR) and Net Reproduction Rate
(NRR).

Attempt the following. 10
Two machines fill milk in one point cartons. Independent random samples
from the two machines produce the following results on net fill weights.

Size Mean (days) S.D. (days)
Machine | 46 15.8 0.49
Machine Il 54 16.2 0.76

Is the difference in sample average significant?

Answer the following (Any One) 12
a) Define Vital events. Find STDR by indirect method for the population
A from the following data.

Age Group 0-5 5-15 15-50 | 50 and above
Population A 12000 | 13000 | 15000 10000
Standard Population 8000 | 10000 | 27000 5000
ASDR of standard population 50 15 10 60

Total deaths in population A are 1483.
OR
b) Explain goodness of fit test in detail.
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B.Com. (Semester - VI) (New) (CBCS) Examination: March/April - 2025

Day & Date: Tuesday, 06-05-2025

Business Economics (Paper - IlI) (BCOM0602)

Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 A) Choose the correct alternatives from the options.

1)

2)

3)

4)

5)

6)

7)

is the first country in the world, accepted planning since

1928.

a) America b) India

c) Russia d) England

Who is the current chairman of NITI Aayog?

a) Arvind Panagariya b) Dr. Rajiv Kumar
c) Nirmala Sitharaman d) Narendra Modi

By geographical extended line Foreign Capital means
a) Foreign Capita b) Indigenous
c) Inter-continental d) Inter-State

Max. Marks: 40

08

Govt. of India liberalized its policy towards foreign investment, in

the year
a) 1975 b) 1995
c) 1991 d) 2000

is the reason of 1991 economic crisis in India.
a) lIraqg - Kuwait war
b) Political instability and uncertainty
c) Botha&hb
d) None of these

The New Economic policy had a favorable effect of
a) Increase in economic crisis

b) Increase in poverty

c) Decrease in growth rate

d) Increase in employment

The headquarters of World Trade Organization is located at

a) Geneva b) America
c) Washington d) England
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8) The BRICS organization includes Russia, India, China and
South Africa.
a) Sudan b) Brazil
c) Pakistan d) Bhutan

B) Explain the following concept.
1) Globalization
2) Foreign Capital

Write Short Notes. (Any Two)

a) Importance of Foreign Capital.

b) Objectives of Indian Economic Planning.
c) Causes of Financial Crisis of 1991

Answer the following question.
What is NITI Aayog? Explain its functions?

Attempt any one of the following questions.

04

06

10

12

a) Explain the impact of New Economic Policy on the Indian Economy?

OR

b) Explain the objectives and role of the World Bank?
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B.Com. (Semester - VI) (New) (CBCS) Examination: March/April - 2025
Advanced Banking (Paper — IV) (BCOMO0616)

Day & Date: Thursday, 08-05-2025 Max. Marks: 40
Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Choose the correct alternatives from the options. 08
1) institution acts as the central bank of the United Kingdom?
a) Barclays Bank b) Lloyds Bank
c) HSBC d) Bank of England
2) Bank of England is established in the year .
a) 1964 b) 1980
c) 1694 d 1946

3) The central banking system of the United States is known as the .
a) Bank of America
b) US Treasury
c) Federal Reserve System (The Fed)
d) Federal Deposit Insurance Corporation (FDIC)

4) A bank operating branches or subsidiaries in multiple countries is

known as .

a) A Universal Bank b) An Offshore Bank

c) A Multinational Bank d) A Development Bank
5) ICICl is established in the year :

a) 1955 b) 1945

c) 1965 d) 1964
6) SFCs are established under Act.

a) The Companies Act, 1956

b) The RBI Act, 1934

c) The State Financial Corporations Act, 1951
d) The Banking Regulation Act, 1949.

7) NEFT (National Electronic Funds Transfer) system settles
transactions:
a) Instantly in real-time
b) In hourly batches during banking hours
c) Only once at the end of the day
d) Only for international payments
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8) RTGS stands for:
a) Real Time Gross Settlement
b) Real Time General System
c) Ready Transaction Gross Settlement
d) Recurring Transaction General System.

B) Explain the following concepts.
1) Explain the Concept of Universal Banking.
2) Explain the Advantages and Disadvantages of E-banking.

Write Short Notes (Any Two)

a) Euro Currency Market

b) Federal Reserve System

c) The functions of State Financial Corporations (SFCs).

Broad Question.
Explain the Main features Bank of England and its functions.

Broad Question. (Any One)
a) Explain the role of development banking in Indian Economy.
OR

b) Explain the present position and features of Commercial Banking in
USA.

04

06

10

12
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Seat
No.

Set| P

B.Com. (Semester - VI) (New) (CBCS) Examination: March/April - 2025

Advanced Accountancy (Paper - IV) (BCOMO0612)

Day & Date: Thursday, 08-May-2025 Max. Marks: 40
Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.

2) Figure to right indicate full marks.

3) Attempt any Two from Q. 2 A,Band C

4) Attempt any One from Q.A (A) and Q. 4 (B)
5) Use of calculator is allowed.

Q.1 A) Multiple choice Questions. 08
1) With effect from GST was introduced.
a) 1stJuly 2017 b) 1t January 2017
c) 1t April 2017 d) 1%t September 2017
2) GSTisa____ based tax.
a) Non Consumption b) Consumption
c) Both (a) & (b) d) Agricultural

3) Deductions U/S 24 (b) for Interest on Loan from Net Annual Value
for Let out or deemed let out Property is
a) uptoRs. 1,50,000 b) uptoRs. 2,00,000
c) 30% of Net Annual Value d) Fully Allowed

4) Residential Status of an assessee can be
a) Different for different assessment years
b) Different for same assessment year
c) Always Residential
d) Always Non-Resident

In case profession tax is paid by employer on behalf of employee,

) the amount paid shall be included in gross salary as a
a) Allowances b) Perquisite
c) Standard Deduction d) Exemption
6) Deductions from gross total income U/S 80U are available to
a) Individual b) Individual and HUF
c) Company d) Firm

7) Winning from Crosswords and Puzzles are taxable under the
head income from
a) Salary b)  Business or Profession
c) House Property d) Other Sources
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8) Income-tax rates are determined by the following
a) Income Tax Act, 1961
b) Annual Finance Bill
c) Ordinance of the President
d) Reserve Bank of India

B) Explain the following Concepts.
1) Goods and Services Tax (GST)
2) Assessee

Write Short Note/Short Answer/Short Problem. (Any Two)

A) Mr. Kalicharan has a house property whose Municipal Value is Rs.
25,00,000 p.a. The house Property was self-occupied during the
previous year. He paid Municipal Taxes of Rs. 1,00,000 during the
previous year. He paid Interest on borrowed capital for construction
of property was Rs. 2,10,000 in the previous year.

Computer income from house property of Mr. Kalicharan for A.Y.
2024-25 under optional tax regime.

B) Mr. Thakur owns two house properties whose details are as under.

House 1 House 2
Particulars (Self- Occupied) (Let Out)
Rs. Rs.
Annual Value 20,00,000 30,00,000
Interest on borrowed capital
for construction of house 1,50,000 3,00,000
(paid in previous year)

Compute his income from house property for Assessment Year
2024-25 under optional tax regime.

C) Income from Other Sources.

Long Answer / Long problem.
Mr. Patil working in a private company. Following are the particulars of
Income for the previous year 2023-24.
1) Basic Salary Rs. 40,000 per month
2) Dearness Allowance at 60% of salary (all part of retirement benefit)
3) Transport Allowance Rs. 1,500 per month
4) House Rent Allowance at Rs. 12,000 per month and he pays rent of
Rs.12,500 per month
5) City Compensatory allowance at Rs. 2,500 per month
6) Employers’ contribution to Recognized Provident Fund at 20% of
Basic Salary
7) Facility of free domestic servant Rs. 3,000 per month
8) Professional Tax paid by employer Rs. 2,500
Compute the income from salaries for the assessment year 2024-25
assuming that Assessee has opted optional tax regime (i.e. the normal
provisions of the act)

04

06

10
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Q.4 Long Answer / Long Problem. (Any One) 12
A) Mr. Abhijeet Desai is a Chartered Accountant in practice. He
maintains his accounts on cash basis. His income and expenditure
account for the year ended 315 March 2024 is as follows.
Expenditure Rs. Income Rs.
Salary to Staff 2,00,000 | Fees Earned:
Salary to Audit Assistant 2,50,000 - Bank Audit 9,50,000
Incentive to Audit 25,000 - Tax Audit 10,00,000
Assistant
Office Rent 3,60,000 - Consultancy Fees 5,50,000
Printing and Stationery 1,25,000
Meeting, Conference and 50,000 | Dividend received from 20,000
Seminar Indian Company (Gross)
Purchase of Car (for 5,00,000 | Income from UTI 10,000
official use)
Repairs, maintenance and 75,000 | Honorarium for valuation 50,000
petrol expenses of car of answer papers
Travelling expense 1,20,000 | Rent Received from Let 1,20,000
(official purpose) Out house Property
Municipal Taxes paid for 10,000
Let Out House Property
Surplus (i.e. Income over 9,85,000
Expenditures)
27,00,000 27,00,000

Additional Information:
1) Allowable rate of depreciation on motor car is 15%.
2) Salary to Audit Assistant includes Rs. 30,000 paid in cash for

assisting Mr. Abhijeet Desai in Professional work.
Computer income from Profession of Mr. Abijeet Desai for A.Y.
2024-25 as per default tax regime u/s 115BAC.

OR
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B) Mr. Sunil is carrying on a business, submits his Profit and Loss

SLR-XA-78

Account for the year ending 315t March, 2024.

Particulars Rs. Particulars Rs.

To Opening stock 1,50,000 | By Sales 10,60,000

To Purchases 5,00,000 | By Closing Stock 1,49,000

To Wages 1,00,000 | By Gift from father 10,000

To Rent 60,000 | By Income tax refund 40,000

To Repairs of car 30,000 | By Interest on Income 1,000
Tax refund

To Wealth tax paid 10,000 | By Interest on Fixed 25,000
deposits

To Medical expenses 30,000 | By Dividend from 15,000
domestic company

To Interest on Capital 25,000

To Provision for Bad 5,000

debts

To Salaries 80,000

To Drawings 10,000

To General expenses 11,000

To Depreciation 15,000

To Profit for the year 2,74,000

13,00,000 13,00,000

Following further information is given:

1) Medical expenses were incurred for treatment of his wife

2) Half of the car is used for Personal reasons.
3) Depreciation as per income tax rule is Rs. 20,000
4) Wages include Rs. 5,000 on account of wages paid to driver on

Family trip

Compute his Income from business for the A.Y. 2024-25 as per
default tax regime u/s 115BAC.
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No.
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B.Com. (Semester - VI) (New) (CBCS) Examination: March/April - 2025

Advanced Costing (Paper - IV) (BCOM0613)

Day & Date: Thursday, 08-May-2025 Max. Marks: 40
Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.

2) Figure to right indicate full marks.

Q.1 A) Choose the correct alternatives form the options. 08
1) type of budget is prepared for a specific period and
typically uses historical data.
a) Flexible Budget b) Fixed Budget
c) Cash Budget d) All of these
2) cost method distinguishes between fixed and variable costs.
a) Absorption b) Marginal
c) Cash d) Standard
3) term refers to the ratio of contribution to sales.
a) Contribution Margin b)  Profit Volume Ratio
c) Ratio d) Standard
4) _ factor affects the margin of safety.
a) Break-even point b) Variable Cost
c) Fixed Cost d) Semi Variable Cost
5) of the following is a key element to calculate the break-
even point.
a) Standard Cost b) Fixed Cost
c) Variable Cost d) Contribution per unit
6) __ term refers to the direct cost of materials used in production.
a) Direct Material Cost b) Indirect Material Cost
c) Transportation Cost d) None of these
7) is a primary objective of a cost audit.
a) Profit Verification b)  Loss Verification
c) Cost Verification d) None of these
8) _ audit type focuses on financial statements and their

accuracy.
a) Cost Audit b)  Financial Audit
c) Audit d)  Auditor
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B) Explain the following concepts. 04
1) Standard Costing
2) Auditor
Q.2 Solve the following. (Any Two) 06

a) Types of Budgets
b)  Profit Volume Ratio
c) Calculate labour variances from the following information:

Actual Hours = 5800
Actual Direct Wages = Rs.1800
Standard rate per hour = Re. 0.35
Standard hours = 6,000
Q.3 Difference between Cost Audit and Financial Audit. 10

Q.4 a) The following are the budget estimates of plant servicing department 12
in a manufacturing company:

Planned at 6,000 Planned at 9,000
ltems of Cost service hours service hours
(Rs.) (Rs.)
Salaries 28000 28000
Indirect Materials 42000 63000
Miscellaneous Cost 16000 20500

Required: Prepare a flexible budget for the department for 7,000,
8,000 and 9,500 service hours.
OR
b) Difference between Fixed Budget and Flexible Budget.
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Seat
No. Set| P

B.Com. (Semester - VI) (New) (CBCS) Examination: March/April - 2025
Industrial Management (Paper—IV) (BCOMO0614)

Day & Date: Thursday, 08-05-2025 Max. Marks: 40
Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Choosethe correct alternatives from the options. 08
1) Piece rate is based on
a) Attendance b) Hours worked
c) Output d) Experience
2) s the method of worker’s participation in management.
a) Interview b) Recruitment
c) Training d) Worker's suggestions

3) Feeding facilities medical facility, housing facility and educational

facilities are included in practices in India.
a) Labour welfare b) Employee Moral
c) Industrial relation d) Wages and salary
2) Under method labour remuneration is calculated on the basis
of work done by a worker.
a) Time rate b) Piece rate
c) Incentives d) All of these
5) Financial and non-financial forms advantages other than wages
given to the workers are known as
a) Fringe benefits b) Extrawages
c) Total wages d) Dividend
6) Industrial Fatigue leads to
a) High performance b) Absenteeism
c) Motivation d) Team spirit

7) To look positively towards work, working groups and higher authorities
are the examples of

a) High morale b) Low morale
c) Zero morale d) All of these
8) Under plan 50% of time saved wages is paid as a bonus to
the workers.
a) Halsey plan b) Rowan plan
c) Taylors plan d) Motivation plan
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B) Explain the following concepts. 04
1) Explain the concept Remuneration.
2) Explain the concept of Employee Welfare.

Write short note. (Any Two) 06
a) Objectives of Industrial Relations.
b) Objectives of industrial psychology.
c) Importance of Morale.

Explain the Factors affecting the Employee Moral. 10
Attempt any one of the following. 12
A) Explain the objectives and scope of Industrial Psychology.

OR

B) What is Piece rate system? Explain the Advantages and Disadvantages
of the Piece rate system.
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NO. Set| P

B.Com. (Semester - VI) (New) (CBCS) Examination: March/April - 2025
Advanced Insurance (Paper — 1V) (BCOMO0615)

Day & Date: Thursday, 08-05-2025 Max. Marks: 40
Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Choosethe correct alternatives from the options. 08
1) General Insurance Corporation of India established in
a) 1991 b) 1971
c) 1972 d) 1990
2) insurance policy is related to assets.
a) Fire b) Term
c) Burglary d) Marine
3) Marine Insurance Act was passed in year.
a) 1965 b) 1963
c) 1936 d) 1938
4) insurance policy covers physical loss to an individual.
a) Personal accident b) Crop
c) Burglary d) Cattle
5) In the History of Insurance Is the oldest Insurance.
a) Fire b) Marine
c) Life d) Accidental

6) Insurance covers
a) Protect assets
b) Prevents loss
¢) Reduces the impact of loss
d) Makes loss

7) Marine insurance is for one year or for a specified

a) Voyage b) Year
c) Loss d) Days
8) The concept of insurance is
a) Income b) Profit
c) Risk d) Wealth
B) Explain the concepts. 04

1) Concept of Burglary Insurance
2) Sickness Insurance
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Write Short Notes. (Any Two)

a) Warehouse to Warehouse Clause
b) Valuation Clause

c) Third party Liability Insurance

Explain the Types of Marine Insurance Policies.

Attempt any one of the following questions.
a) Explain the Procedure of taking Marine Insurance Policy.
OR
b) Explain the role of General Insurance Corporation of India in
development of Indian economy.

06

10

12

Page 4 of 4



SLR-XA-82

Seat
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B.Com. (Semester - VI) (New) (CBCS) Examination: March/April — 2025
Advanced Statistics (Paper-IV) (BCOMO0618)

Day & Date: Thursday, 08-May-2025 Max. Marks: 40
Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.
2) Figure to right indicate full marks.
3) Use of soundless calculators is allowed.
4) Graph papers will be supplied on request.

Q.1 A) Choose the correct alternatives form the given alternatives. 08
1) In critical path analysis, the word CPM mean
a) Crash project Management
b) Critical Project Management
c) Critical Path management
d) Critical Path Method

2) is NOT typically a part of a simulation model.
a) Assumptions b) Deterministic factors
c) random variables d) Physical tests
3) A type of decision-making environment is
a) certainty b) uncertainty
c) risk d) all of these
4) Which of the following criterion is not used for decision making
under uncertainty?
a) maximin b) Maximax
C) minimize expected loss d)  minimax
5) If the players select the same strategy each time, then it is
referredas
a) Pure strategy b) Mixed strategy
c) Bothaandb d) None of these
6) In a Monto Carlo simulation primary technigue used to
generate outcomes.
a) Random Sampling b) Deterministic sampling
c) Systematic Sampling d) Predictive analysis
7) The slack for an activity in network is equal to
a) EF-ES b) LF-LS
c) LS-ES d) All of these
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8) What happens when maximin and minimax values of the game

are same?
a) No solution exits b)  Solution is mixed
c) Saddle point exists d) none of these
B) Explain the following concepts. 04

i)  Define Player and strategy.
i) State any two uses of simulation.

Q.2 Write a Short Note (Any Two). 06
a) Two-person zero sum games.
b)  Explain minimax regret criteria.
c) Draw the network diagram of the following.

Activity 1-2 [2-3 24|14 |45 |56 |36 |26

Time (inhours) |17 |15 |10 |16 |13 |14 |18 |10

Q.3 Attempt the following. 10
Solve the following game graphically
Player B
B, B, Bj
Aj-3 2 3
PlayerAA2 [ 7 5 1
Q.4 Answer the following. (Any One) 12
a) Draw the network and calculate Earliest Start time (ES), Earliest
Finishing time (EF), Latest Start time (LS) and Latest Finish time of
each activity and determine the project and duration to complete the

project.

Activity A/B|C| D |E|F G H
Immediate Predecessors -|-1-1A|B|C|D,E ';
Time (in days) 2413|1165 7 2

OR
b) Explain what is simulation and write the applications of simulation.
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B.Com. (Semester - VI) (New) (CBCS) Examination: March/April - 2025
Co-operative Development (BCOMO0604)

Day & Date: Saturday, 10-05-2025 Max. Marks: 40
Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Choose the correct alternatives from the options. 08
1) iIs a major problem for Co-Operative Sugar factories.
a) Problem of by Product b) Problem of Transport
c) Problem of Labour d) All of these
2) Co-Operative Marketing Societies provide loans on the security
of :
a) Agricultural Produce b) Animals/Cattles
c) Home d) None of these
3) Operation flood is related with ___ revolution in India.
a) Industrial b) Fisheries
c) Milk d) Agriculture
4) is the problem of State Co-Operative Banks.

a) Limited Capital

b) Rising Over due’s

c) Defective Loaning Procedure
d) All of these

5) The Second Comprehensive law on Co-Operation in India was

passed in :
a) 1904 b) 1912
c) 1918 d 1925
6) According to Expanding Economic transactions beyond the

country political means Globalization
a) Shri. Shravan Kumar Singh b) Prof. C.T. Kurien

c) Robert Owen d) Shri. Deepak Nayyar
7) Co-Operative Processing Societies where started in India in
a) 1917 b) 1925
c) 1940 d 1947
8) The Structure of Co-Operative credit Institutions in India is
a) Single tier b) Two tiered
c) Three tiered d) None of these
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B) Explain the following concepts. 04
1) Primary Agricultural Co-Operative Credit Societies.
2) Consumers Co-Operative Societies.

Q.2 Write short answers. (any Two) 06
a) Progress of Co-Operative Processing Societies.
b) Development of the Co-Operative movement in Maharashtra.
c) Globalization and Challenges before Co-Operation.

Q.3 Explain the problems of Dairy Co-Operative Societies in Maharashtra. 10
Q.4 Attempt any One of the following questions. 12
a) Explain the Progress and Problems of District Central Co-Operative
Banks.

b) Explain the Progress and Problems of Co-Operative Marketing
Societies in India.
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B.Com. (Semester - VI) (New) (CBCS) Examination: March/April - 2025
Modern Management Practices (BCOMO0601)

Day & Date: Tuesday, 13-05-2025 Max. Marks: 40
Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Choose the correct alternatives from the options. 08
1) There are steps in implementing Six Sigma.
a) Five b) Six
c) Seven d) Eight
2) is the technique of waste reduction.
a) Sustain b) Jidoka
c) Motion d) Gemba
3) are the characteristics of event.
a) Labour intensive b) Tradition
c) Fixed Timetable d) All of these

Is a methodology for the prevention of identified errors and

4) ————
their causes.
a) Six sigma b) Kaizen
c) Poka-Yoke d) None of the above
5) is example of natural disaster.
a) Riot b) War
c) Earthquake d) All of above
6) Continuous improvement is the basic philosophy of
a) Poka-Yoke b) Kaizen
c) Six Sigma d 58S

7) The long form of ISO is .
a) Internal Standard Organization
b) Indian Standard Organization
c) International Standard Organization
d) None of above

8) are Micro- Level Techniques of 5 S.
a) Sort b) Standardize
c) Botha &b d) None of the above
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B) Explain the concepts. 04
1) Event Management
2) Six Sigma
Q.2 Write Short Notes. (Any Two) 06

a) Importance of Crises Management
b) Zero Defect Program
c) 5 S System

Q.3 Explain the steps in mitigation of disaster. 10
Q.4 Attempt any one of the following questions. 12
a) Explain the steps in Time Management.
OR

b) Explain 20 Elements of International Organization for Standardization.
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Seat
No.

Set| P

B.Com. (Semester - VI) (New/OIld) (CBCS) Examination: March/April - 2025

Business Regulatory Framework (19405602)

Day & Date: Wednesday, 30-04-2025
Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 A) Choose the correct alternatives from the options.

1)

2)

3)

4)

5)

6)

7)

8)

B) Explain the following concept.
1) Consumer Complaint
2) Share Capital

Max. Marks: 40

08

A company is a person created by law.

a) legal b) artificial

c) natural d) none of these
Central Vigilance commission Act passed on

a) 2005 b) 2000

c) 2003 d) 2007

The new consumer Protection Act was passed in
a) 1999 b) 2019

c) 2005 d) 1988

The Head office of the National commission is situated at
a) Delhi b) Mumbai

c) Kolhapour d) Kanpur
Listing securities is the functionof

a) SBI b) RBI

c) SEBI d) BPCL
_________canissue prospectus.

a) Public Company b) Private Company
c) Botha&hb d) None of these
The Central Vigilance Commissioner appointment.
a) President b) Governor

c) Prime minster d) Chief minister
Corporate Social Responsibilities clause.

a) 135-5 b) 149-5

c) 120-5 d) 190-5

04
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Q.2

Q.3

Write Short Notes. (Any Two)

a) Company Management and Administration
b) Broker and sub broker

c) Unfair Trade Practices

Explain the Central Vigilance Commission and its function.

Q.4 Attempt any one of the following questions.

a) Explain concept and various types of Companies.
OR
b) Explain Consumer dispute redressal agencies.

SLR-XA-85
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Seat
No. Set| P
B.Com. (Semester - VI) (New) (Old) (CBCS) Examination:
March/April - 2025
Advanced Banking (Paper — Ill) (19405613)
Day & Date: Sunday, 18-May-2025 Max. Marks: 40
Time: 03:00 PM To 05:00 PM
Instructions: 1) All guestions are compulsory.
2) Figures to the right indicate full marks.
Q.1 A) Choosethe correct alternatives from the options. 08
1) The First regulation act was passed in
a) 1940 b) 1948
c) 1949 d) 1950
2) Abankisa___ debtor.
a) General b) Special
c) Legal d) Personal
3) __ is bank principal officer.
a) General Manager b) Regional Manager
c) Branch Manger d) None of these
4) A paying banker can get protection only when he collects
a) acrossed cheque b) by order cheque
c) abearer cheque d) mutilated cheque
5) A collecting banker is given protection only when he collects .
a) acrossed cheque b) by order cheque
c) abearer cheque d) mutilated cheque
6) The ability of an asset to convert into cash is called
a) Liquidity b)  Profitability
c) Loan d) Pledge
7) Tohonourthe  cheque is always risky for paying bank.
a) Anti dated b) Post dated
c) Crossed cheque d) Open cheque
8) Honouring achequeisa _ obligation of commercial bank.
a) Contracted b) Statutory
c) General d) Banking
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B) Explain the following concepts. 04
1) Granishi Order
2) Collecting bank

Q.2 Write short notes (Any Two) 06
a) Hypothecation
b) Liquidity
c) Lien
Q.3 Discuss in detail the statutory protection granted to a collection banker in 10
Indian
Q.4 Attempt any one of the following questions. 12

a) Explain the duties and responsibilities of paying bank.
OR
b) State the basic features of India banking regulation act of 1949.
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Seat
No. Set| P
B.Com. (Semester - VI) (New) (Old) (CBCS): Examination
March/April - 2025
Advanced Accountancy (Paper-lll) (19405605)
Day & Date: Sunday, 18-May-2025 Max. Marks: 40

Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Attempt any Two from Q. 3A,Band C
4) Attempt any One from Q. 5 (A) and Q. 5 (B).

Q.1 Multiple Choice Questions. 08
1) If expenses of liquidation of the vendor company are paid by the
purchasing company then, in purchasing company’s book, the
account debited is
a) Liquidation Expense Account
b) Realisation Account
c) Vendor Company Account
d) Goodwill Account

2) The main objectives of cost accounting are
a) Ascertainment of cost
b) Control and reduction of cost
c) Determination of selling price
d) all of the above

3) Ownership in the goods does not pass over to the hire purchaser till

the instalment is paid.
a) first b) second
c) middle d) last

4) Total interest on hire purchased goods is the difference between
a) Hire Purchase Price and Down Payment
b) Hire Purchase Price and Cash Price
c) Cash Price and First Instalment
d) Cash Price and Depreciation

5) According to AS-14, for the purpose of accounting, the amalgamation
of companies is divided into categories.
a) Amalgamation in the Nature of Merger
b) Amalgamation in the Nature of Purchase
c) Both (a) and (b) above
d) Amalgamation in the Nature of Holding
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6) Working capital ratio is also called ratio.
a) Debt equity b) Pay-out
c) Operating d) Current
7) Generally accepted Liquid ratio is :
a) 2:1 b) 3:1
c) 1:2 d 1:1

8) The amount paid at the time of entering the hire purchase transaction
for the goods purchased is known as :
a) Cash Price b) First Instalment
c) Down Payment d) Total Interest

B) Explain the following concepts. 04
a) Transferor Company
b) Hire Purchase Price

Q.2 Write Short Note/Short Answer/Short Problem. (Any Two) 06
a) Difference between Cost Accounting and Financial Accounting.
b) Advantages of Ratios Analysis.
c) Amalgamation as per AS-14.

Q.3 Mr. Anand purchased machinery from M/s Amit Traders. on hire purchase 10
system on 15t April, 2018, paying Rs. 1,00,000 on signing the contract and
agreed to pay
The remaining balance in three instalments of Rs. 2, 00,000 each payable
annually on 31st March. Cash Price of the machinery at Rs. 6, 00,000. M/s
Amit Traders charged Interest at 10% p.a. Mr. Anand charged depreciation
on machinery at 10% p.a. on Written down Value Method.

Prepare M/s Amit Traders, Machinery Account, for three years in the
books of Mr. Anand.
Q.4 a) Following is the Balance Sheet of A Ltd and B Ltd. as on 315 March 12
2021.
Liabilities A Ltd. B Ltd. Assets A Ltd. B Ltd.
Rs. Rs. Rs. Rs.
Land and 3,00,000 | 2,00,000
Share Capital: Building
- Equity Shares of 6,00,000 | 3,00,000 Plant and
Rs. 10 each Machinery 2,00,000 50,000
General Reserve 50,000 50,000 | Inventory 1,00,000 50,000
Trade Payables 50,000 | 25,000 | [rade 60,000 | 40,000
Receivables
Cash and Bank 40,000 35,000
7,00,000 | 3,75,000 7,00,000 | 3,75,000
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A Ltd. And B Ltd. Are amalgamated and AB Ltd. Was formed on the

following terms.

i)  Allthe Assets and Liabilities of A Ltd are taken by AB Ltd. at Rs.
9, 00,000 and that of B Ltd. for Rs. 5, 00,000.
i)  Purchase Consideration was paid as under.
a) For A Ltd. - 7,000 equity shares of Rs. 100 each in AB Ltd.
and Balance in cash
b) For B Ltd. - 4,000 equity shares of Rs. 100 each in AB Ltd.
and Balance in cash
iii) Expenses of liquidation amounted to Rs. 10,000 for A Ltd. and

Rs. 5,000 for B Ltd.

Prepare in the books of A Ltd.
1) Realisation Account

2) Shareholders Account

3) Cash & Bank Account

OR
Following is the Balance sheet of ABC Ltd. as on 31-03-2021.
Liabilities Rs. Assets Rs.

Equity Share Capital | 10,00,000 | Goodwill 50,000
Reserve and Surplus | 3,00,000 | Buildings 5,00,000
9% Debentures 1,00,000 | Plant and Machinery | 6,25,000
Sundry Creditors 50,000 | Stock 1,25,000
Bank Overdraft 25,000 | Debtors 1,00,000
Cash in Hand 25,000
Cash at Bank 50,000
14,75,000 14,75,000

Compute the following accounting Ratios

1) Current Ratio
2) Liquid Ratio and

3) Total Debt to Proprietors Fund Ratio
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Seat
No.

Set| P

B.Com. (Semester - VI) (New/Old) (CBCS) Examination:

March/April — 2025
Advanced Costing (Paper - 1l1) (19405607)

Day & Date: Sunday, 18-05-2025 Max. Marks: 40
Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 A) Multiple choice questions. 08

1)

2)

3)

4)

5)

6)

Which of the following is true for inventory control?
a) Economic order quantity has minimum total cost per order
b) Inventory carrying costs increases with quantity per order
c) Ordering cost decreases with to size
d) All of the above

The basis for ABC analysis of :
a) Interest of material management
b) Interest of the top management
c) Pareto’s 80-20 rule
d) None of these

The rent for the store where material are stored falls under
a) Inventory carrying cost b) Ordering cost
c) Procurement cost d) Stocking cost

An example of production overheads would be
a) Material b) Rent
c) Labour Cost d) Supervisory Cost

To control cost, it is essential to kept control on
a) Prime cost
b) Overheads
c) Indirect material & tools cost
d) All of the above

The process of distribution of overheads allotted to a particular
department or cost center over the units produced is called

a) Allocation b) Apportionment

c) Absorption d) Departmentalization
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7) The over-head cost for a particular job

a) man hour rate x man hours spent on that job
b) man hour rate / man hours spent on that job
c) man hour rate + man hours spent on that job
d) man hour rate - man hours spent on that job

cost?
a) Cost of direct labour b) Cost of direct material
c) Direct expenses d) Indirect expenses

B) 1) Whatis machine hour rate?

2) Explain the concept of ABC analysis.

Write short note\problem.

Explain the advantage of machine hour rate.

b) Explain the concept of overhead in details.
c) A worker under the Halsey method of remuneration has a day rate of

12 per week of 48 hours, plus a cost-of-living bonus of 10 p.a. per

hour worked. He is given 8-hour task to perform, which he performs

in 6 hour he is allowed 30% of the time saved as premium bonus.
What would be his earning under Halsey plan?

Q.3 Compute the machine hour rate from the following data.

Rs.

Cost of Machine 1,00,000
Installation charges 10,000
Estimated scrap value after the expiry of life

(15years) 5,000
Rent & Rates for the shop per month 200
General lighting for the shop per month 300
Insurance charges for the machine per annum 960
Repair and Maintenance expenses per month 1,000
Power consumption 10 units per hour estimated

working hours per annum 2,200
(This includes setting up time of 200 hours)

Rate of power per 100 units 20
Shop supervisor’'s salary per month 600

The machine occupies 1/4 of the total area of the shop. The
supervisor is expected to devote 1/5 of the total time for the
supervision of the machine.

8) Which of the following cost is also known as overheads cost or on

02
02

06

10
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Q.4 Answer any one (Long answer / problem). 12
a) Explain the different incentive plans in details.
b) The factory overhead costs of four production departments of a
company engaged in executing job order for on accounting year are

as follows.
Depts Rs.
A 19,300
B 4,200
C 4,000
D 2,000

Overhead has been applied as under.

Dept A Rs 1.50 per machine hour for 14000 hours
Dept B Rs 1.30 per direct labour hours for 3000 hours
Dept C 80% of direct labour cost of Rs 6000

Dept D Rs. 2 per piece for 950 pieces

Find the amount of department wise under or over absorbed factory
overheads.
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Seat

No. Set| P
B.Com. (Semester - VI) (New/Old) (CBCS) Examination:
March/April — 2025
Industrial Management (Paper — IIl) (19405609)

Day & Date: Sunday, 18-05-2025 Max. Marks: 40

Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw neat labelled diagrams wherever necessary.
4) Use of log table and calculators is allowed.

Q.1 A) Choosethe correct alternatives. 08
1) Delivery challan is also called as
a) Bill of entry b) Cash memo
c) Dispatch memo d) Lorry receipt
2) Control over material lying with stores is called as
a) Purchase control b) Sales control
c) Inventory control d) Raw material control
3) is a first step in routing procedure.
a) Product study b) Time study

c) Study of production cost d) All of these

comprises the planning, routing, scheduling and dispatching
functions.
a) Purchases
b) Inventory control
c) Production planning and control
d) None of these

4)

5) is the last important function of production control.
a) Planning
b) Controlling
c) Production planning & controlling
d) Follow up / Expediting

6) Determination of required time for completion of some work is known

as :
a) Planning b) Co-ordinating
c) Scheduling d) Control

7) The Head Office of National productivity council is in city of
India.
a) Mumbai b) Chennai
c) Pune d) New Delhi
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8) ABC analysis stands for :
a) Always Before Control b) Always Better Control
c) Anytime Best Control d) All Big Control

B) Explain the following concepts.
1) Explain the concept of Production Planning and Control.
2) Explain the concept of Productivity.

Q.2 Write Short Notes (Any Two)

Q.3

a) Objectives of production function.
b) Significance of inventory Management.
c) Firstin First Out (FIFO)

Explain the factors affecting industrial productivity.

Q.4 Answer any one of the following.

a) Explain different techniques of Inventory control.

b) What is financial management? Explain the importance of financial.

04

06

10

12
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Seat
No. Set| P

B.Com. (Semester - VI) (New/OIld) (CBCS) Examination: March/April - 2025
Advanced Insurance Paper - 11l (19405611)

Day & Date: Sunday, 18-05-2025 Max. Marks: 40
Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw neat labelled diagrams wherever necessary.
4) Use of log table and calculators is allowed.

Q.1 A) Choosethe correct alternatives from the options. 08
1) The license of insurance agent be renewal after years.
a) One b) Two
c) Three d) Four
2) The life insurance business in India was nationalized in year.
a) 1947 b) 1950
c) 1956 d) 1990

3) The head office of insurance regulation and development
authority is Situated at

a) Mumbai b) Delhi
c) Hyderabad d) Pune
4) institute regulate the insurance sector in India.
a) RBI b) IMF
c) IRDA d) SEBI
5) Aninsurance agentis work as the :
a) Middleman b) Friend
c) Worker d) Leader
6) Protecting policyholders' interests is the main object of
a) RBI b) IRDAI
c) WTO d) SBI
7) The Insurance Act :
a) 1956 b) 1991
c) 1938 d) 1948
8) Insurance company accepts as proof of age.
a) Debit card b) Creditcard
c) Birth certificate d) none of these
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B) Explain the following concepts. 04
1) Proof of age.
2) Disability Benefit.

Q.2 Write short notes. (any two) 06

a) Surrender Value.
b) Organisational structure of Life Insurance Corporation.
c) Code of Conduct for LIC Agent.

Q.3 Explain the Role of Life Insurance Corporation in social and economic 10
development.
Q.4 Attempt any one of the following questions. 12

a) Explain the duties and functions Insurance Regulatory and
Development Authority of India.
OR

b) Explain the policy conditions of Life Insurance.
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Seat
No.

Day & Date: Sunday, 18-05-2025

B.Com. (Semester - VI) (New/Old) (CBCS) Examination:
March/April — 2025
Advanced Statistics (Paper —11l) (19405617)

Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.
3) Use of soundless calculators is allowed.

Q.1 A) Choose the correct alternative form the given alternative.

1) Vital statistics mainly concerned with :
a) Births b) Deaths
c) Marriages d) All the above

Set| P

Max. Marks: 40

08

2) The value of Net Reproductive Rate (NPR)<1 will result into

a) increase in population

b) reduction in population

c) population remains constant
d) none of these

3) Any hypothesis which is complementary to null hypothesis is
a) composite hypothesis b) alternative hypothesis
c) simple hypothesis d) none of these

4) Area of critical region depends on
a) number of observations  b) size of type-Il error

c) size of type-I error d) value of statistic
5) Equality of two population variances can be tested by

a) Z —test b) x? — test

C) t— test d) F —test

6) If the null hypothesis of test statistic Z is N(0,1) then for testing
against a two sided alternative at « = 0.05, reject H,, if
a) |Z]|>196 b) |Z|< 1.64
C) |Z]<1.96 d) None of these

7) The degrees of freedom of Chi-square test statistic for testing

independence of attributes in 2 X 2 contingency table is/are :

a) 1 b) 2
) 3 d) 4
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8) Test of hypothesis H, : u = 50 against H, : u > 50 leads to :

a) Two tailed test b) Left tailed test
c) Right tailed test d) Difficult to tell
B) Explain the following concepts. 04

1) Crude Birth Rate (CBR).
2) Alternative Hypothesis (H,).

Q.2 Write a Short Notes. (Any Two). 06
a) Interpret
1) NRR=1
2) NRR<1
3) NRR>1

b) Explain the term Total Fertility Rate (TFR).
c) Applications of F- distribution.

Q.3 Attempt the following. 10
Intelligence test on the groups of boys and girls gave the following:
Mean S.D. Sample size
Girls 61 2 64
Boys 60 4 100

Is there significant difference in the mean scores obtained by boys and
girls? Test at 5% L.O.S.

Q.4 Answer the following. (Any One) 12
a) Compute GFR, ASFR, TFR, GRR and NRR for the following data.

Age group | Female population | No. of births | Survival factor
15-19 8800 175 0.92
20-24 9000 1025 0.91
25-29 8900 1050 0.9
30-34 7700 700 0.89
35-39 8600 450 0.89
40-44 8000 175 0.86

Consider proportion of female births = 0.48. Interpret NRR.
b) Define F variate. State its p.d.f. and various applications of F
distribution. Also explain one of these in detail.
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Advanced Banking (Paper-IV) (19405614)

IR, faHle : THAR, 0¢-04-3034 HHTS TOT: %0
de. GURI 03:00 1 04:00

AT : ?) Fd U Ifard e,
R) SodIdbEle 3 qoi o1 TIfdra.

UL J) Weild fRotel 79 94 fAagT Moo ST R, 0¢

{) AR e g ATOT Yaau[e HeTHSwoE WITa- —— AT
CRIREISI
) ’uy 9) R
B) e’y S) 2288

) b 3t STeisd ISEFHROT ——— IT guI DHRUATT 3Te.
31) 23y q) ¥
®) R¥% SRS

3) RGP W 341 {991 HeTHSRME I —— AT g9
HRUGT 3Tedl.
31) 203¥ d9) 20:0
®) )XY S) 2233

¥) 34T 7 g WO —— B,
31) scXHc §) Soldld
$) SoIdSiD ) A@l ARl

) Hevd Rer@ Red & womell —— a1 <emeh Hefda one.
31) WRd 9) o
®) IHRDT ) S

§) ——— B YRANA Uf2ell fdbr 9 3ire.
31) 3. Uh. I M. q) M. Al M. AL I
P) M. Sl 41 3. ) g I m.

Page1of4



SLR-XA-93

v) ——— B A dHIT a1 BIIaT e,
31) YHIUT=AT el §) T fafaefiaxor
®) AEAET GGW qOR ) dRId 9d

¢) IR 3R, €L Sfl. TH. &1 HOllell —— A1 adi =re], sret.

) RRuw 9) 200%
P) 0% €) 03X

§) Wil HHeTT WL FII. 0¥
) TEIKH 4P
R) fdora db

3 odieqd feur forsl (PvrrEl qF) 0%
?) I T IR,
) IARBIT ARl dobrel Ferferd
3) 3. Sl 9L 3. = B,

W3 YRAR SaReld fJerd dhidl YHdT T B, 20
W¥ Qo] HIVRATE! THT FeTa SR foral, R
J) STosHdTT AURI Sl IRl T B,
fbar

§) S—dfPBTH BRI WE BN

Page 2 of 4



SLR-XA-93

Seat
No.

Day & Date: Thursday, 08-May-2025

B.Com. (Semester - VI) (New) (Old) (CBCS) Examination:
March/April - 2025
Advanced Banking (Paper—IV) (19405614)

Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 A) Choose the correct alternatives from the options.
1) The Industrial credit and Investment corporation of India (ICICI)

Set | P

Max. Marks: 40

08

established in year.
a) 1955 b) 1977
c) 1985 d) 1999
2) Bank of England is nationalized in year.
a) 1935 b) 1946
c) 1949 d) 1955
3) In America Federal Deposit Insurance Corporation established in
year.
a) 2024 b) 2020
c) 1947 d) 1933
4) In E-Banking, E stands for :
a) Internet b) Electric
c) Electronic d) None of these

5) Federal Reserve System is associated with

a) India b) Japan
c) America d) England
6) is the First Development Bank in India.
a) IFCI b) ICICI
c) IDBI d) UTI
7) is the advantage of Universal Banking.
a) Economic of Scale b) Profitable diversification
c) Optimum resource utilization d) All the above
8) In India RTGS system started from the year.
a) 1977 b) 2004
c) 2014 d) 2022
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Q.2

Q.3
Q.4

B) Explain the following concept.
1) Multinational Bank
2) Development Bank

Write Short Notes. (Any Two)

a) Euro Currency Market.

b) Present position of commercial Banking in USA.
c) Functions of IDBI.

Explain the role of development banking in Indian economy.

Attempt any One of the following questions.

a) Explain the features of commercial banking in England.

OR
b) Explain the advantage of E-Banking.

SLR-XA-93

04

06

10

12
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Seat
No. Set| P
B.Com. (Semester - VI) (New) (Old) (CBCS) Examination:
March/April - 2025
Advanced Accountancy (Paper—IV) (19405606)

Day & Date: Thursday, 08-May-2025 Max. Marks: 40
Time: 03:00 PM To 05:00 PM
Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Attempt any Two from Q. 3 A, B and C.

4) Attempt any One from Q. 5 (A) and Q. 5 (B).
Q.1 Multiple Choice Questions. 08

1) Deduction U/S 80G is 100% of the amount contributed in case of

a) National Defense Fund b) PM National Relief Fund
c) National Children’s Fund d) All of the above

2) Employers Contribution to Recognized Provident Fund is exempt to

the extent :
a) 9.5% b) 10%
c) 12% d 15%
3) Is taxable under the head income from other sources.
a) Pension b) Family Pension
c) Gratuity d) Rentfrom Let out House

4)  Annual Value is the amount after deducting the Municipal Taxes paid
by the owner in P.Y. from the

a) Net Annual Value b) Municipal Value

c) Fair Rent Value d) Gross Annual Value
5) Goods and Services Tax (GST) is type of :

a) Direct Tax b) Indirect Tax

c) Notional tax d) All of the above

6) The Control and Management of the affairs is situated wholly Outside
India, the Firm would become a
a) Resident
b) Resident and Ordinary resident
c) Resident but not Ordinary Resident
d) Non Resident
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7)  Flat Deduction U/S 80U in case of a person with severe disability is .

a) Rs. 75,000 b) Rs. 1,25,000
c) Rs.1,50,000 d) Rs.2,00,000
8) Out of payment of is to be allowed for deduction from business
income.
a) Income Tax b) Gift Tax
c) Wealth Tax d) Goods and Services Tax
Q.2 Explain the following concepts. 04

a) Assessment year
b) Assessee

Q.3 Write Short Note/Short Answer/Short Problem. (Any Two) 06
a) Gross Total Income
b) Person [Section 2 (31)]
c) Income from other sources

Q.4 Mr. X owns a house property. From the particulars given below, compute 10
his Income from House property for the A.Y. 2023-24.

Particulars

Municipal valuation p.a. Rs. 1,00,000
Fair rent p.a. Rs. 1,26,000
Standard rent p.a. Rs. 1,20,000
Actual Rent Received per month Rs. 11,500
Municipal taxes paid by Mr. X during the year | 15% of Municipal Value
Expenses on repairs Rs. 10,000
Insurance Premium Rs. 2,500
Interest on loan for construction of house Rs. 50,000
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Q.5 A) Shri Ashok is a Chartered Accountant and maintain his books on cash 12

basis. The summary of His Cash book as given below.
Receipts Rs. Payments Rs.
To Balance b/d 30,000 | By Office salary 1,80,000
To Audit fees 4,50,000 | By Other expenses 45,000
To Dividend 2,000 | By Membership fees 10,000
To Rent from Let out house 1,20,000 | By Personal drawing 1,50,000
property
To Interest on tax free Govt. 18,000 | By Life insurance premium 25,000
securities
By Motor car Repairs Expenses | 1,00,000
By Wealth Tax 25,000
By Municipal Tax on Let Out 15,000
House Property
By Balance c/d 70,000
6,20,000 6,20,000

Additional Information:

1)

2)
3)
4)

B) Mr.
the

Other expenses include a sum of Rs. 5,000 paid for Journals and
books relating to profession.

Half of the motor car is used for profession.

Depreciation on Journals and books relating to profession @ 100%.
Depreciation on motor car Rs. 30,000 and furniture is Rs. 10,000.
Compute his income from profession for the A.Y. 2023-24

OR
Satish is employee of Limited Company at Pune. Furnishes you 12
following information for the year ended on 31.03.2023.

Particulars

Basic Salary Rs. 40,000 p.m.
Dearness Allowances Rs. 20,000 p.m. (100% retirement benefits)
House Rent Allowances Rs. 8,000 p.m. (rent paid by Mr. Satish
Rs.10,000 p.m.)
Employers Contribution to RPF @ 14% of Salary.
Interest credited to RPF @ 9.5 %
Transport allowance Rs. 2,500 p.m.
Interim Allowance Rs.1,000 p.m.
Motor car provided by company with driver for office and personal
use. Capacity 1,600 CC.
Free domestic servant: a) Cook Rs. 3,000 p.m.

b) Maid Rs. 1,500 p.m.
Professional tax paid by Rs. 2,500 out of which Rs. 2,000 were
paid by employer.
Entertainment Allowances Rs. 1,200 p.m.
Children education allowances for 3 children Rs. 1,000 p.m.
Hostel expenditure allowances for 2 children Rs. 1,250 p.m.

Compute the Income from Salary in the hands of Mr. Satish for the

AY

. 2023-24 as per old regime of tax.
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Seat
No.

Day & Date: Thursday, 08-May-2025

B.Com. (Semester - VI) (New) (Old) (CBCS) Examination:

March/April - 2025
Advanced Costing (Paper - 1V) (19405608)

Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 A) Multiple choice question.

1)

2)

3)

4)

5)

6)

7

Summary budget may be regarded as

a) Functional budgets b) Performance budgets
c) Master budgets d) Sale budgets
The budgets are classified on the basis of

a) Capacity b) Time

c) Function d) All of the above

Sale budget is a

a) Functional budget b) Financial budget

c) Master budget d) None of the above

Which of the term given below will help on organization in
decision-making?

a) Total cost b) Fixed cost

c) Opportunity cost d) Marginal cost
What is another name for fixed cost in the marginal costing?
a) Period cost b) Total cost

c) Product cost d) All of the above

The variable cost is made of
a) The salary of all employees
b) The electricity bills
c) Cost of all the raw material
d) All of the above

The P/V ratio will be equal to :
a) The profit by sale ratio
b) The profit by the contribution ratio
c) The profit by the sale ratio
d) The contribution by the sale ratio

Set| P

Max. Marks: 40

08
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8) Contribution is the difference between

a) Sale & variable cost

b) Fixed cost & variable cost
c) Total cost & fixed cost

d) None of the above

B) Explain the concepts.
1) Budget
2) Marginal costing

Q.2 Write a Short Note/problem. (Any Two)

a) Explain the objective of budget & budgetary control.

b) What is mean by Cost Audit.

c) From the following information find out P/V ratio and sale at BEP

Variable cost per unit - Rs15
Sale per unit = Rs. 20
Fixed expenses = Rs. 54000

Q.3 What is mean by standard costing? Explain the advantage &

disadvantages.

Q.4 Answer any one.

a) For making 10 kg of yarn, the standard material requirement is:

Material Quantity (Kg)

Rate per kg (Rs)

White 8

6.00

Black 4

4.00

In March 1000 kg of yarn was produced. The actual consumption of

material is as under.

Material Quantity (Kg)

Rate per kg (Rs)

White 750

7.00

Black 500

5.00

Calculate

1) Material cost variances

i) Material price variances
iif) Material usages variances

04

06

10

12

b) What is mean by Break-even point? Explain the objective of marginal

costing.
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Seat
No.

Set| P

B.Com. (Semester - VI) (New/OIld) (CBCS) Examination: March/April - 2025

Industrial Management (Paper — V) (19405610)

Day & Date: Thursday, 08-05-2025 Max. Marks: 40
Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 A) Choose the correct alternatives from the options. 08

1)

2)

3)

4)

5)

6)

7

8)

Minimum Wages Act passed in :
a) 1948 b) 1949
c) 1958 d) 1978

under this system, the worker is paid by the hour, day, week,
or month.

a) Appraisal system b) Time Rate System

c) Fixed rate system d) All of the above

The plan focuses on time saved.

a) F.W. Tailer b) Halsey

c) Rowan d) Peter Drucker

Workers participation in management is highlighted in Article.
a) 43A b) 48 A

c) 49A d 40A

is describes the staff’s feelings, enthusiasm, and loyalty toward

their duties or jobs.

a) Personality b) Value

c) Honesty d) Employee morale
is types of employee’s welfare.

a) Canteen facility b) Hospital facility

c) Insurance facility d) All of the above

There are types to give wage payment.

a) 6 b) 4

c) 3 d 1

Labour Welfare provisioned is under Act.

a) Industrial dispute b) Factories

c) Banking d) Cooperative
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Q.3
Q.4

SLR-XA-96

B) Explain the following concept.
1) High morale
2) Concept of incentive

Write Short Notes. (Any Two)

a) Explain Rowan plan.

b) Types of Employees welfare facilities.
c) Objectives of Industrial Relations.

What are the factors affecting wage and salary administration?

Attempt any one of the following questions.
a) What is morale? Explain the factors affecting employee morale.
OR
b) What is Industrial Relation? Explain the importance of industrial
Relation.

04

06

10

12

Page 4 of 4



SLR-XA-97

Seat
No.

Set| P

M. (@3 — VI) (@ /) (CBCS) TE: 9d /Tie - 0%
Advanced Insurance (Paper-IV) (19405612)
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Seat
No. Set| P

B.Com. (Semester - VI) (New) (Old) (CBCS) Examination:

March/April - 2025
Advanced Insurance (Paper-IV) (19405612)
Day & Date: Thursday, 08-May-2025 Max. Marks: 40
Time: 03:00 PM To 05:00 PM
Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 A) Choose the correct alternatives from the options. 08

1) Insurance covers

a) Protect assets b) Prevents loss

c) Reduces the impact of loss d) Insurances immortality

2) The loss due to jettison is compensated under a insurance.
a) Fire b) Marine
c) Life d) Accidental

3) The insurance industry till august 2000 had only two nationalized
companies, LIC and

a) NIC b) GIC
c) IRDA d) none of these
4) is Objective of IRDA.

a) Policy holder protection
b) Healthy growth of the insurance market
c) bothaandb

d) onlya
5) The first insurance contract was entered into by European nations in
1347 and they accepted insurance as a practice.
a) Life b) vehicle
C) marine d) fire

6) Which of the following types of insurances is mandatory?
a) Motor Own Damage
b) Motor Third Party Legal Liability
c) Personal Accident Insurance
d) Product Liability

7) Marine Insurance Act was passed in year.
a) 1965 b) 1963
c) 1936 d) 1938
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8) In the History of Insurance is the oldest Insurance
a) Fire b) Marine
c) Life d) Accidental
B) Explain the concepts. 04

1) Marine Insurance
2) Burglary Insurance

Q.2 Write Short Notes. (Any Two) 06
a) Write any Six Clauses of Marine Insurance.
b) Third party Liability Insurance
c) Sickness Insurance

Q.3 Explain the types of Marine Perils. 10

Q.4 Attempt any One of the following questions. 12
a) Explain the role of General Insurance Corporation in the development
of Indian economy.
OR
b) Explain the Procedure of taking Marine Insurance Policy.
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Seat
No.

Day & Date: Thursday, 08-May-2025

B.Com. (Semester - VI) (New) (Old) (CBCS) Examination:
March/April - 2025
Advanced Statistics (Paper—IV) (19405618)

Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.
3) Use of soundless calculators is allowed.

Q.1 A) Choosethe correct alternatives from the given alternatives.

1) Games which involve more than two players are called

Set| P

Max. Marks: 40

08

a) conflicting games b) negotiable games
c) N-person games d) all of these
2) What happens when maximin and minimax values of the game
are same?
a) no solution exists b) solution is mixed
c) saddle point exists d) none of these
3) If the value of the game is zero, then the game is known as
a) Fair strategy b) Pure strategy
c) Pure game d) Mixed strategy

4) Decision theory is concerned with
a) methods of arriving at an optimal decision
b) selecting optimal decision in a sequential manner
c) analysis of information that is available
d) all of these

5) The minimum expected opportunity loss (EOL) is
a) equal to EVPI b) minimum regret
c) equal to EMV d) both (a) and (b)

6) The full form of CPM is :
a) Critical Path Method
b) Control Path Method
c) Critical Plan Management
d) Control Path Management

7) In Network the critical path has the
a) shortest length b) medium length
c) longest length d) none of these
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8) The purpose of using simulation technique is to
a) simulate a real world situation
b) understand properties and operating characteristics of
complex real-life problems
c) reduce the cost of experiment on a model of real situation
d) all of above

B) Explain the following concepts. 04
1) Mixed Strategy.
2) Explain minimax principle.

Q.2 Write a Short Note. (Any Two) 06
a) What are the assumptions of the game theory?
b) Draw the logic network for the following:
Activities C and D both follow A, activity E follows C, activity F follows
D, activity E and F precedes B.
c) Find Solution of game theory problem using saddle point.

Player B
8 3 2
PlayerA |4 2 1]

6 7 5

Q.3 Attempt the following. 10
a) Explain the rule of dominance in game theory. Solve the following
game graphically.
-3 2 3
7 5 1

Q.4 Answer the following. (Any One) 12
a) Draw the network and calculate the earliest start time, earliest finish
time, latest start time and latest finish time of each activity and
determine the Critical path of the project and duration to complete

the project.
Activity A B C D E F G H
Immediate ) ) ) A B C D.E|F G
Predecessors
_Time 2l 4| 3| 1|6 |5 7 2
(in days)

b) Explain the Monte-Carlo technique and its limitations.
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Seat
No.

Day & Date: Saturday, 10-05-2025

B.Com. (Semester - VI) (New) (Old) (CBCS) Examination:
March/April - 2025
Co-operative Development (19405604)

Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 A) Choose the correct alternatives from the options.
1) Co. operative movement started in India due to the Co-operative

Act of :
a) 1904 b) 1908
c) 1910 d) None of these
2) New Economic Policy was adopted in India in
a) 1980 b) 1991
c) 2000 d) 2010
3) The Government has set up a fund.

a) Stabilization of national Agricultural Credit

b) National agricultural credit Assistance and Guarantee
c) National Warehouse Development

d) All of the above

Set | P

Max. Marks: 40

08

4) Primary Agricultural Co-operative Credit Societies operate in the

sector.
a) Urban b) Rural
c) Hilly d) None of these
5) The structure of Co-operative bank in India is
a) Primary b) Second
c) Three tiered d) four tiered
6) The National Co-operative Consumer Union was established
a) 1965 b) 1970
c) 1980 d) 1990
7) In Méharashtra the First Co. Operative Sugar Factory in
the co. operative sector was started here.
a) Solapur b) Pravara nagar
c) Nagpur d) None of these
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Q.2

Q.3

Q.4

SLR-XA-99

8) A Co. Operative marketing society is an association of
a) Merchant b) Money lender
c) Farmer d) of the people

B) Explain the following concept.
1) Globalization
2) Consumer Co. Operatives

Write Short Notes. (Any Two)

a) Function of consumer Co. Operative Society in India.
b) Problem of Urban Co. Operative Bank.

c) Problem of District Central Co-operative Bank.

Explain the Role of Government in the Development of Co. Operative
movement in India.

Attempt any One of the following questions.
a) Explain the problems of State Co. Operative Bank.
OR
b) Explain the requirement of cooperative processing organization in
India.

04

06

10

12

Page 4 of 4



SLR-XA-100

Seat
No. Set| P

oM. (7 — Vi) (@9 /1) (CBCS) UQ&T: 919 /T — 034
Modern Management Practices (19405601)

IR, f&ie : HTBdR, 23-04-303Y HHIA TT: ¥0
de. UNI 03:00 T 04:00

AT : ?) T U IfaR] e,
R) SodIdbEle 3 qoi o1 TRIfdra.

He 3) @ed el A9 1@ AT Tdeiedr ST R, 0¢
) ——— B Ha a3
i) W 9 P
®) & S) A el A8l
R) P & el HIYH ——— WTell arIRuATd ATedl.
31) ’eY 9 e
®B) 2] 8) R’y
3) ———— B GEARYE! dRrey ared.
31) YT q) INWRT
%) fed dem=Es ¥) W Upr Hd
¥) ———— B WAl bl Il DR YfTEferd BRI Teb
HIIUEEAT B,
31) %W%THT 9) B
CORRIEY: S) TP TRl
) ——— B (U ERTIT Geadie He<ard ARy 3.
31) 3refdes ST d) Yuides ISR
@) IO RASTTR ) W@ AR
§) IR FaReITI & ——— HfhaT e,
) drEdIe™ q) 3raBIeA
®) GBI 37 AT g S) WIAUd! AR

Page1of4



SLR-XA-100

v) ——— TBUTSl UfhATel QY GR el UTeehiedl Ufard
ARTCAAR 9% g AdT YRAURI Uead 813,
&) Ryaq Ry 9) BrRISH
@) WH—ATD S) WIAUDT AR
¢) PRI I, dared TIRgoR], ARSI JATQRTET JATER &
———— QAT A&l B,
) wRA® q) AHRI®
9) Glellel HheT T ORI, 0¥
9) T Smosiy

R) B Rl ey

¥} 8™ feur forer. (@orE |F) 0%
7)) Ry Ry wg<w
R) BT FGErd HishAT of|
3) Blcd FIRAIATI HE<d

U3 IRY FARATYT TN HII7 FARY FIRATIATI HE<d W . 20
Uy Al HIUATEl T U SR forel. R
J) IOl AR 3fa=eT / TW I P,
foar

§)  AroT FREOTRATST UGS W .

Page 2 of 4



SLR-XA-100

Seat
No.

Day & Date: Tuesday, 13-May-2025

B.Com. (Semester - VI) (New/Old) (CBCS) Examination:
March/April - 2025
Modern Management Practices (19405601)

Time: 03:00 PM To 05:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 A) Choose the correct alternatives from the options.

1) is a manmade disaster.
a) Flood b) Earthquake
c) War d) None of me above
2) The concept of Kaizen came into use in year.
a) 1991 b) 1986
c) 1951 d) 1958
3) are the characteristics of event.
a) Labour Intensive b) Tradition
c) Fixed Time Table d) All of these
4) is methodology for the prevention of identified errors and
their causes.
a) Six Sigma b) Kaizen
c) Poko - Yoke d) None of these
5) is the important features of Japanese Management.
a) Part time employment b) Full time employment
c) Life time employment d) None of these
6) Disaster Managementis a process.
a) Longterm b) Short term
c) Bothaandb d) None of these
7) are practices that help you eliminate defects and always
deliver products and services that meet customer specification.
a) Six Sigma b) Kaizen
c) Poka - Yoke d) None of these
8) Errors in work, increasing absenteeism and disobey of orders of
seniors are the symptoms of stress.
a) Physical b) Psychological
c) Behavioural d) None of me above

Set| P

Max. Marks: 40

08
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Q.2

Q.3

Q.4

B) Explain the following concept.
1) Natural Disasters
2) Features of Kaizen Method

Write Short Notes. (Any Two)

a) Importance of Six Sigma

b) Benefits of Business process outsourcing
c) Importance of Hotel Management

What is Event Management? Explain the importance of Event
Management.

Attempt any one of the following questions.
a) Explain the steps in mitigation of disaster.
OR
b) Explain remedial measures to cope with stress.

SLR-XA-100

04

06

10

12

Page 4 of 4



